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Python 3.4.0 (default, Jun 19 2015, 14:20:21)

[GCC 4.8.2] on linux

Type "help", "copyright", "credits" or "license" ......
>>>

gooooobbobbbbbobbbodoooooboboobobooooooooboon
gogobobobibbbooooodooooobbobboooooooobbon
O0O00ooob PythonOOOOOODODOODODOOS.4.00000000000O00
Python3 O OO ODOOOODODOODOOOOODOOOODOOOO 2000000
OOooboobOobobd Python2O0 OOO

guobbooboggo>»>»>y gubudgubobooobbuoooboobon
00000 promptl 000000 OO0O0ODOOOODO11O0000O000O0DOO
gbobobooggbbb2000000

>>> 1 + 1
2

Oo00obO0bobooooobobobdg pythomODO0OO0O0OOOOO0OOOLOODO
gobobooooobobboooobbboooan

1.3 O0O0Ooooobn

000000000 0DOO00O00DOO0OO0b0OOOg “Hello World”’O O O
Oo00b0bobobooooobobobouoboboobOobOon “Hello World”OD O O
OO00oooooobDOdb0DPythonOOODOODOOOOOO

print( ’Hello World!’)

0000000000000 0D000Oprint 00 print statementd 0 0 0 00O
OU00U0print 00000000 00ooooooooobbbn

Hello World!

gbogobobbobodbuogbooboboboboobuooboobonobo
OO00000Dprint00000O00ODOODOOOO??.000000000000O
Python2O0DOOUODOOODOOOODOODODOODODOODODOODOOODOODO

print ’Hello World!’

gooobobobbbbbbbbbdoooooobboobboagoooouoaad
goo
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1.4 0O00OO0OO

“Hello, World"O O OODOUOOOOODOOOOOOPythenODOOOOOOODO
UoperatorsU U DO OUOO0OO0O0OODOOOO0OOOOOOO0OODOOOOO
ggboodgo

goo+0-gddxjgoooobbbuobuoooogoooo

>>> 40 + 2
42
>>> 43 - 1
42
>>> 6 % 7
42

ooo/0000b0oogn

>>> 84 / 2
42.0

gboodb42000 42.o0000b0bbo0buoobobobouoboobon
gboboboOd=x=xDobouogogbboboogobbobuogooobooo

>>> 6*x*%x2 + 6
42

gboboooboooooboobo-~bobobobooboobouobOobUgoPython
godgddgggxoerbbbbbbtboddooooooooooooobbbn
gogboboboooobbboooooboboboon

>>> 6 T 2
4

O000D0ODO0O00000000C00DOO00000D0D nttp://wiki.python.
org/moin/BitwiseOperators. DO OO OOOO

1.5 OO0

O0valueDOOODOOO0OOODOOODOOODOOOOODOODOODOODOD
O000bo0obO0d2042.0000 ’Hello World!'O QOO
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OO000b00b0oogbOtypesiD 00000 OO0ODO 20000 integerd O
OO0042.000000000floating pointd 0 0 00 Hello world!’ OO OO
O0Oo0obOo0obOoobOoboOstringD0On0g

gbobobooooobbboooobbbooooobbbooon

>>> type(2)

<class ’int’>

>>> type(42.0)

<class ’float’>

>>> type(’Hello, World!’)
<class ’str’>

OO0000D0O0 “class’"0000000O00OOOODOOODOOODOOOOODOO
goooooboobobobbbbbbbbobbbbbbbbiododudugy int
gbbobo00dstr00b0oooobbbibdd fleatgogn

goobor2rfr42.0000bogoboboboogooboboobbobogd
gobobooooogooo

>>> type(’27)
<class ’str’>
>>> type(’42.0°)
<class ’str’>

U000 strdgbboooouooogobon
goooboobbbbbbt,co0,ooobluuouoooooononon
OO00oOoDoooo PythonOOOOOOOODOODODODOODODO

>>> 1,000,000
(1, 0, 0)

OO0OobOoobooobooobobodPpython0DOOooOOoooooooOoobDOoOO
gooooobobobbbbbobbobbobbbbbbbbobbooooooobooboo
goo

1.6 0O0OOOOOOOO

O0000Onatural language0 0D 000000000 0O0O0O0OOODOOO0O
goooooboobbbboooobbtiddddodooooooob Lo
O00b0o0o0o0obbob0ooooobobooobbbooooobbogoo
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O0000Oformal languageDl 0D 000000000 O0O0ODOOODOOODOOO
gbodbdoobooobobboobuodbooboboboboobuoobooo
oL bbb UoUooUo
goobooooobobboooon

gboboboogobbbbooooobbbooooboboboooobon

gobobboooobbobooooobboooonbos+3=6000n000
000000000000 oO0o0o0ooOo3+=3%$60000000H,0000
Oo0o0boooboobooboobg szz0000000
OO00D0O00O0000b0bOO0o0bO00DObOUtokenst OO OO sturuc-
turel 000000000 0O0O0OO0ODOOOOOOO0OOO0OOOODOO3+=3
$60000000000DOOSD0ODOOOO00O0OODODOOOOOOOOOOO
oZz00000 0DDO0obbOobobOooboobooo
gooooobbobbbbbbbbbobbbobbobbbbobbbobobbbn
gododd3s+=300000 +0 =0000000000O0OOOOOOOOU
gbbuogbbobobuooooooboogbbooobboobboobboon
goobooogn

This is @ well-structured Engli$h sentence with invalid t*kens in it.
This sentence all valid tokens has, but invalid structure with.

goodggoooobobobbbbbbbbbdoooooooobboooooo
ggbobobbooooobobobuoooobobobodod
gooobobobbbbbbbbbbtbddoddoooooooooooon
gogboboboboboboboboboobboobobbbddooooooooobobbbbbbon
O00MoboobobooboboobodbDparsing 0000
gooooobbobbbbbbobobbbbboooooobbobbboobooboa
gogbobobooon

O000Oambiguity(l OOODOOO0ODOOOO0ODOOOODOOOOOODOOOODO
gbgobobouogboobboboobuodboobooboobogon
gboboodgboboogubbuogobbuoobbuoobbuoobboobboo
goo

O00O0Oredundancy DO 0O0O0O0O0OO0ODOO0ODOOODOOODOOODOOO
gboboodboboobooobobbuoobobooboboooboogoboo
gbobobooooobbbooooobbobooogooo
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O00OOliteralness[ 000000000000 0O0OOODODODOOOOOOO
“The penny dropped’0 000000000 ODODOOOOODOO “penny”O
“dropping’0 000000000 O0DOOOOODOODOO® DODOODOOOO”
O00D00D0M0ObO000000D000D00oo0ooDooO0ob0obooOo0oon
oood

goooobobbbbtbdodoododoooboobobbooooooououada
gbobobobooooobbobooooobbboobbbogo

U0poetryll UUUUOOUO0OO00O0O0O0OO0OO0OO0OD0OODODODOOOOOOOOO
gboboboooooboboobbooooobobbuoooobobbboooon

UO00Opreoselll DO UOOO0OOODOOOOODODOOOOOOOO0OOLDODOO
gboboboooobbbuoogbobooobbobuoooobbbogg

bOb0bO0O0program] DOOO0D0ODODODOOOOOO0O0O0O0O0O0O0O0O0ODOO
gobobobooouogoobbboooooboboboooon

goboodbogbboobboobboobboobboobboobboon
gogoobobibobbbbbobbouooooobboooobbbbbbbo
gooobobobbioododddoooooboboooobobobobbooouooa
gooobobobbbbbbbbodobbooobobobbbodoooooogo
goooobbbooooouoouoobbboooooooooooooouogad
gogoobobibobbbbbobbouooooobbbbooouoooobobon
gooon

1.7 OOooon

O000000000DO00ODOOO00OOO0o0bObO0ooooooDoOOoOooO
O0O0000000OObugsDOOODOOOODOODDOODDOODDOODOOO
00O 0O debugging OO 00O

O0o0ooboboooboobooooboobooooboooooobooo
0000000000000 0ObO00O0DbOO00o0bOo0o0oOobOOooOoOoooDobOon
O0Oo0ob0o0oboobooogoo

000000000 bO0000O0O0O0bO0o0bOO0o0obDoOooObODOoOooDbOooo
O0o0oooboooboooooboooboooooooboooooooDbo
0000000000000 000bO000b0bO00obOOoDOoOobOooOoooOoDOo
O0o0ooobobooboboooboooobooooooboooobon
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0000000000 Reeves and Nass, “The Media Equation: How People Treat
Computers, Television, and New Media Like Real People and Plays” (1] O O 0O O
O000000oo0o0ooooooooooooooooooooooooooo
000000000000 00DO0D0D0D000DODO0000O0OoDOoODOoDO
O000do00oooooDdooDOooOooooooooooog

0000000000000 000000DO00D00D0DO0DOO0DOOD0O00n
0000000000 0o0DOOooo0oooooooooooooooooooon
0000000000000 00O00DO00DO00DbOODOOobOOoDOooDoOOoOn
oo0oodooooooogo

0000000000000 000000O0000bO0DOO0ODOOoDODOOoDOn
00000000 DO0DoDOooooOooooooooo0oooooooooooa
0000000000000 000D0D00O0DO00O0D0bO0oDoDOooDoOoDOooDg
ooooo

1.8 OO

OO00000Oproblem solvinglll 00O OOOOOOOOOOOOOOOO
gbooobog

000 O O high-level Languagelll Python O O OO0 OO0 O0O0O0OOOOOOO
OO00D0DO0DO00ooooooooooan

0000 0Olow-level Language] 0000000000 0O0OODODOOOO0OO
OO00ob0obOobooooomoobooooboooooooobooooobooo

O00Oportability[ DOOOOO0OOOOOOOOOOODODOO

gobbbUO0Opromptll DOUOO0OODOOO0ODOOOO0OOO0OOOO0OOOO
gbooboogoboboboooooon

dbbObDUOprogram] DO DOOOO0O0OOODOOO0OOOODOOOOOO.

print U 0 print statementI] Python 0 0 0D 00000000 0OODOOOO0O
ooooboooog

UO0ODoperatorsll] DUUOOUOOODODOOOODOOOODOOODDOOOODOOO
gooobod

O0valvel ODO0OO0O0O0OD0OO0ODOO0ODOO0ODOO0ODOO0ODOODOODOO
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OO0typeslt DD OUO0OO0OODOOOO0DOOO0OO0O0OOOiInt0MOOO0OOO
Ofloat 00000000 (str00000O0

O00Ointeger DO O0ODOOODOODODO

O00000Ofoating point(] OO0 D ODODOODDOOODOOODOOO
O00OOstring OOOOOOOODOOO

O0000Onatural language[] OO0 0000000000 OOOOODOOO

OO0000formal languagell DO OO00O0O0O0OOO0OOOO0OODOOOOO
gobodgbbooobboobbuoobbuoooooboooboboooono
gbobobooogooo

OODOtokens] DO DOO0O0OODOODOOOOODOOOODOOOODOODO
goobooo

U0ODOsyntax[l] DO OOO0O0OOO
O00O0Oparsingll OO0 0O0O0O0O0O0ODOO0ODOOODOOODOOOO
O00Obugs DODOOO0ODOOODOOODOODO

O00000Odebuggingll] DOOUO0OOODODOOOOOODOOOOOODOO
gooo

1.9 0O0O0O0O

gbobobilad0d0bobobouoooboobbbooooboboobboooobon
gboboboooobobbbooooobobboooan
OO0O000DO0O0O000DOOOoDbOOo0oboDboOoOoooOon “Hello World!”
o0b0b00dU00printdddbooooonoobooobbboooonon
gbobobouooobbbOlprintddbooooooobobogn
goooboobbbbbbobbbooboooooduoooooooooooo
gooooobobobobbbbbbboooooubbbbbbbbbbobbbo
gooooobobobobobboobboboboboboboobobbbbobbbboouad
gboboboooobbbboooobobbboooobobon

lL.print000O0O0O0O0O0DOOOO0OOODODOOOO0OODODOO
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010 0Ooogobbbod

gobobobooooobobobbooooobbobboooooon

20000000000 bobobbouooobb-o0oobobobobooo

g+bbugggobbbuoooobtua++2000000000

OOobooobb0iboobooboboobobooboobooonboodPythond
gooboogn

Logodogobbobooooobobbooooobbobo

o000 12Python 00000000 0OOOOOOOOOODODO

1.

2.

3.

420 42000000

woooooooooobomooooD1o0bO 1e6lkmdnD O

oobobobuobo420 420000000000 00000bO00DO0
gboodboobogbodboboobbobbobbuoobbuoobbuoon
gooo
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20 Ooobduh

OO00Db0O0O0O000bO0bo0oobObDUdOvariabled DO OOOOOOODO
gboobooooobbbooooobobod

2.1 0O0OO

0000 assignment statementU J 00 000000000000 0O0O0OO
Oooond

>>> message=’And now for something completely different’
>>> a=17
>>> pi=3.141592653597932

gbogoboboobodgbuogboobobboboobuogboobobbo
message U O U UODOUOOODO 1700DO0O00 a00O0OD0OO0ODLODOO0O » OO
gbobgdpibbuogbbooobooobboodbbooobbuoobboanbn
gbogoboboobogbuogboobobbobooboobuoobonobo
OO0bO0o0b0ooo0ooboooobooobbooboooDood state diagram
gboobdg210b0b00gooobogan

message —= 'And now for something completely different’
n— 17
pi —= 3.1415926535897932

0 21000

2.2 0O0OO

gooobbobbbbbbbobooooobbobbbuooooooobn
gboobooogooo
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Ooobobooboobooooboobooboboobobobobonoo
bobobooboboboboobuobobobobobuoobOoboboboobOong
gbogbgouooboobooo

Oooooooooo’’oooooobooooboooooon
my_name [J airspeed_of_unladen_swallow U U OUOO00O0O000O00O000O0O
oooooad

OobOoboboboooooooobooobooboo

>>> T76trombones = ’big parade’
SyntaxError: invalid syntax

>>> more@ = 1000000

SyntaxError: invalid syntax

>>> class = ’Advanced Theoretical Zymurgy’

SyntaxError: invalid syntax

76trombones U U UOUOUOOOOOOOOOOOOOOODOOOmoreed OO O
J0000bD000000000O0class00000class O Python U0 OO
OkeywordsO O OO OOOOODODODO0OOOOODODOOOOOOODOOOOOO
Ood0oooooboooooooooooooon
Python3O OO DODOOOOOOODOOO

False class finally is return
None continue  for lambda try
True def from nonlocal while
and del global not with
as elif if or yield
assert else import pass

break except in raise

goddggooobobobbbbboooooooooooobobbbbbbn
gogbbobboooobbooooobobooooobobboooooobooo

23 0O0OOO

OO000O0OOexpression 0000000000 0OO0OO0O0OOOOOOOOO
goddgoooooboobobbbbobobooooobbooobobobbbbbbo
ERERN
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>>> 42

42

>>>n

17

>>>n + 25
42

OO000oOooo>»>»>00b0ddb0dbb00bb0o0oooooooooonn eval-
vatesl] , U0 000000 DO0O0O0O0O0O0O00n0O0O 17000 0n+2500 420
goo

O000Ostatement D 0000000000 0O0O0O0OOOOO0OO Python
gbobbobouooogbbbbooooobbboooan

>>> n = 17
>>> print(n)

000 n00000D0000DbO0000bbu00 nddbbodbiDd print

gobooo
OhoobobobobobobobobobOobbevaluates , 000000000

gbboboooobbbuooobbobogo

24 O000OO0OOOoOooOn

OOooboooobooo PythonOOO0OD0OO0OO0ODOOOODOOOOOOOOO in-
teractive model 0000 0OOO0O0OOODOOOOOO0OOLOODOOOOOOO
ooobobooooboboboboobobooboooooboooobooDg
OO000O0bOO0o0O00obO0ob0obO0ooOobDOobDOobDOooDoooDoboboobOooo
ooooo

DO00bO0bOobooooobOdseript0 000000 obooboooonbg
OO000oooobOobOoboon PythonODOOOOODOODOOOscript modeld
Oo0ooboooboboOPythonOOOOOOODOUOODOO..pyUOOOOOOO

ooobobooooobobobooooooooooobooboobobOoDo
000000000000 0b00b00DOob0Ooboonod PythonAnywhere O OO
OOoOo0obooobOoobooboooboobuooDbd PythonODOOODOODO
http://tinyurl.com/thinkpython2e U U OO OO OO

PythonOODDODODODODODOODODOOODOOOOOOODOOODOOODOODOOOO
ooo00o0obOo0ooobO0ooooobOoboOobOOooboooobooDobobooo
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ggbobooobooobbuooobuoobobuooobuooooobooooboo
ggoooo
OoOooboOob PythonODOOOOOOOOoOoooOO

>>> miles = 26.2
>>> miles * 1.61
42.182

UobbbD0Omilesd00dooooooboboogoobbbooooooon
gogdgobooboobobbbbbboobtbooguoooooooooooououagd
oo Lkmb000000000O00O0O

gbgobbobooboobobbooboobooobboobooboobon
gbooboooobbodbboobboobboobobboooboobbboo
goddgooooobobboobbobbobbbbbbbbbbbbbbbbo
gogoboood

miles = 26.2
print miles * 1.61

ggbobobooooobbobooooon
goooboobbbbbbobobbobbbboboooooaooobobbbbn
ggbobobbouooogoobooo
goobooooooo

print (1)
x =2

print(x)
OO00oooooooooog

1
2

ggbbooooobboboooobon
gbobooooooboooobobob pythonOOOooooooooonO
ggbbobooooobooo

goobbbbbbobobobboobobbobbbbbbbbobboobobbbbbbbo
gobbobboodubtbdt eprint0D000oonoboooonoobogn
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25 Oooood

OO00bO0boOo0obo0oboboooboobuobboobOooobobOobodOUrule
of precedencel 000 OO 0OOOOOOOOOOOOPythonOODOODOODOO
OOPEMDASOOOOOOOOOODOOOODODO

e JOU0OODOODLDOODLDLODLOUOODLOODLOOODLOUOODLOOO
gboboodgbbooobboobbuoobbuoguoooboooboogooboo
OO0oobodb2 x 3-HLU040000@+D)*x(6-2) 0 8000 0ODOODOO
OO00ooboo0o0ooobooo0o0o0obo0o00bOO (minute * 100)
/6000000000 b0OO0bOoOobOoon

e DO DLODODLODODLDDLODDODOOOOOUOUUDDDDO2%xx1+10 300
004000000003 1x+30 300002700000

e UU0ODLODLODOOOLODLOUODLOLODLODLOODLOODLODLDOODLOODLO
OO0O000Db0o0obOodb2x3-10s5000040000000006+4/2
gsgdodsdonoon

e O U0OODOODLDOODLDOODLOUODLDDOUODLDDLOODLDOODLDO
OO00O0O0O degree /2 * pil 00O 0O0OOO0OOOOO0OpidOOOOOO
2r000000000000DO000O000O00OOdegree/2/pi000O0

gooooobobobbobbbbbbooddoooobobooobbboooooooa
gbobobooogbobbbuoobbbouoooobbboooobon

2.6 O0OOOO

goooboobbbbbbbbbtbodoooobbbbuooooooooon
gbobobouoogbobbuoooobbobboooogboo

227001 ’eggs’/’easy’ ’third’*’a charm’

gobo+dooobbbbodgdbooobobbuoooobobboooooooo
OO00OD0O00O00OOconcatenationD D00 O0OO00OOOOOOOOOOOO
gobobboooogbooogo

>>> first = ’throat’
>>> second = ’warbler’
>>> first + second

throatwarbler
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UdobObO0Udd throatwarbler U0 OO

UbooOx00odobogooobboooboooogobn-spam’ *x 30
SpamSpamSpan U U 0 OO UOOODOUOOODOOOO0OOO0OOO0OOO0DOOO0OO
00000o0obo0ob0oooobobooo+O«gooboboooooooobo
000000000000 0000004x30 4+4+40000000000O *Spam’
* 30 ’Spam’+’Spam’+’Spam’ U U U OO DOOOOMO

oooooboooboooboboobboobobooboooobboooo
gbobooooobboooboooboooboobooobooboooo
gooobooobooonog

2,7 O0Ooono

goooboobbobbbobbbbbbbooooououuuooooonn
gooboboboboboboboboboobobobobbbbbbbboboboboooooon
ggbbobooodgbobboobuoooon

goooboobobobbbbbbbbodgogouoobobobbooooooon
gbbuogbbuoobbooodbbuodibil comments 0000000 #0
gooo

#compute the percentage of the hour that are elapsed
percentage = (minute * 100) / 60

gooobobbbuoooodooouooouoobobbbbuoooa
percentage = (minute * 100) / 60 # percentage of an hour

go#bobuogoobbbbooooobobooobbbuooooobobogo
gooooobobobbbbbbbbbodooooooboobooouoooodad
goodgggoooobbbobbuodooooobbobbouoooooon
ggobobbooogoboobodgo
gbobobooooobbobooooon

v =5 #assign 5 to v
gooooooboooboboboboooooooooooboobobo
v = 5 #velocity in meters/second.

gooobbobbbbbbbobbooooooobbobobboobobbbbbbo
gogbbobooooobobuooobboooobbobboooon
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28 0UO0O0OOOO

goooboobbobbbbbbobbbboboboobbobobbbbbboooo
gooboobobobbbbbobbbbobobbbbbbboooooooooad
goboboogooboood

O0b0DbO00d00syntaxd 00 gdoogooooooooobobooooon

gooooubbbbbbddogubbobodudduouuoooon
OO00000 (+2) 000000008 0000000 syntax errord O
godad

gooooobbobbbbbbbbbbbbbuoddodddPython 00
gobogdbbogoboboobboobbobbooboboobbooboba
gbogbboobbuoobbuoobbuoobobooboboooboogoo
gbobogobbooobooobooboobobobobooobooboon
gbobbobouooobooooobboboooooboooo

gooboboooobbobooooobobboogobobbuoooobobobooo

goobodbboobboobboouooobbooobboouobboobo
J0o00o0boooobooobooobooboooboooboooboo
O000OexceptionsD OO0 O O0OOOOO

gobodgbboobboobbuoobbuogboboboooboboooonoo
gbooobog

OO0O00bO0b0o0oobO0obobooobUobOdsemantic errorl00 00000

gboboogdgbodbbobobuoobbuoobuoobboobboobboo
goboogbboggbboobboobbobboobooobooboba
gboboodgbbooggbboogbboobbogbuoobuoobbuoobod
gobobbooogooobooooobooboo

gboobogdgboogbboodgbboobbodobboobbuoobboon
goboboboodbboobbobbuoobbuooboobobbooboobod
gboboogdgboboogbbogbboobboobbooboobboobg
godbboobobuogbobuoobobuoooboooboooboooboo
gbboboooobboboooobbbogn

29 0O

O00Ovariablet OO0 O0OO00O0OOO0OOOOOO
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000 O assignment statementl] D0 000000000000 0O0O0O0O

O000Ostate diagram[] 00000000000 O0OO0O0O0OO0OO0OOOOO
gboooooboobogg.

O00Okeywordsll DO OOO0OO0OO0OOOODOOODOOODOOOOODOO
gobobooooobboobbbbdooubh if0deft 000 whilel
gboboboogoobobooooboboboog.

O000OOoperands OO OOOOOOOO

O0Oexpression[] OO0 000000 O0OOOOODOOOO0OOOOOOOO
gooboooooboood

O0Oevaluatel DO O0O0OOO0O0O0OOOO0OODOOOODOOOODODOOO
gooo

U0Ostatement ] DO U0UO0O0O0OD0OOO0O0O00O0OOO0O0O0O00 OOOOOO
gobobooooubiberintddnon

UO0Oexecutell U0 DO0OODUOOO0O0OOOOOOO0OOODOOOOOOOOO

000000000000 interactive mode] DO OOO0DOOOOOOOO
gbobobooooobbPpythenDDOUOOOOOODOOO

O00000D00OO0Oscript mode DOOOOODODOOOOOODOOOOOO
gobobood pythonUdgddoooogg

O0000Oscriptl DO0OO0OO0ODOOOOOOOO0ODOODOODODOOO
gboboboooobobid

O0O00OOrule of precedencel ] 000000 0O0OOOOOOOOOOOOO
0000000000 0o0o0ooooooooooood

U000 concatenation] 0OOO0UO0OO0OO0OOOOOOOOO

00O 0Ocomments(I] DUOOOUOOOOOOOOOOOO0O0OOOOOO0OO
gboboodbobooobboobbuoobbbobooboboooboogoo
goo

Udbb0OD0Osyntax errorl] O OOOOOOOOOOOOOOOODODODOO
gbobbooogbbbbooooobbobooon



2.10. O0OOO 33

OO0Oexceptions[l 000000000 0O0OOOOOOOO
OO0O0OOsemantics[J DO O OOQOQOQOO

O00O000OOsemantic errorl] DO O00O0OODO0OODOOO0ODODOOOODOO
gbooboogod

2,10 0O0OOO

gboob 21 Doggdgbobobooodbooooobbooooobbbod
gooobbbooooooobbobbbbbboobobbbbbbobobbobon
gbobobooogogobo

e UUUn=42000000000000000000 42 =n00000
goo

e x =y =100

gobobooooobooob,gogobbboooooboobobobooa
gbbobouooodlb pythenDOODOOOOMO

gbboboooobobo.gubibbPpythenODDOOO4UOOO

gbobodbibdez0y0000 22000000000 PythonOQJ OO
gobooo

gobob 220 python U UOOOO0ODOOOO0OO0ODOOOOOOODODOO

1. 00 rDDDDDD%m’:sDDD s500000000000000000b392.7
goobooo

2. 0000000 24.90500000000 40%00000000O00O0ODOOO
gobobo3gggdboooogdgssbbobodggdeobogoonoon
goobooogn

3. 0000e6:2am oo oogoooosb sbboouoggg
Oooooobooooo((ro12000b00H)0300oboobooooonog
goboboboo1gdgooboobooooobbbooooboboboan
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030 Ui

OO000boobDoboboboobb0Ubfunctionl D0 0O0OO0O0OOOODOODO
gbooobobooboduooboobobboboobobooboboobn
gboboboboobodbuooooboobobboobooboboobonn
gooobod

3.1 UOO0Oooon
0000000000000000000 function cal0 000000000

>>> type(42)
<type ’int’>

O0000000+twyypeODOOODODDOOODOOODDODOODOODOOargumentd 0O
O000d0ooooooo0obobo00o00o00ooOooooobobooooa
0000d0000d00oood0oO0oooooooonooooooooOoooon
O return valuel O O OO
Python OO OOODDOODOOODODOODODODODODDODDODODOOiIntOO
0000000000 00000b000000000O0b0000O0O0ooDoOon
Odododooooooon

>>> int(’327)

32

>>> int(’Hello’)

ValueError: invalid literal for int() with base 10: ’Hello’

U00int0 00000000 DOO0O0OO0bLObObOo0bbuoobbuoonon
gobooobooodn

>>> int(3.99999)
3

>>> int(-2.3)

-2
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float OO UOOOO0OODOOOOOOOODOOOO0

>>> float(32)

32.0

>>> float(’3.141597)
3.1415899999999999

ggboboboddstrbbooooobboboggn

>>> str(32)

)32)

>>> str(3.14159)
’3.14159°

3.2 0O0OOO

Python OO DOOODOO0OOOODOODUOODOOmodulel O00OOOOO
ggbboooobobbbuoooobboboooobbboooon

O0O000b000ob0o00obobOd0bUimport statement] O 0000
ggbbobooogobooo

>>> import math

O000OmathOOO0OOO0OOOOO0COOO00ODODODOOCO module objectD 0O
godgdboobobooggoobobooobbbbbboooobbobobbbboo
ERERE

>>> math
<module ’math’ (built-in)>

000000 bOO000o00oooooOoOoOoOo0oo0o0o0000000oOoooon
Jdddddd0o0oododdddddoooooooooooooooooon
0000o0000000000000o0ooooo0o0ooooooooooao
00000000 O00dot notationd O 0O OO

>>> ratio = signal_power / noise_power
>>> decibels = 10 * math.loglO(ratio)

>>> radians = 0.7
>>> height = math.sin(radians)
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gobobodddilegiobbboooobbbooooobbboooonoon
U Osignal_powerlnoise power U U U U UUOUOOOOMOODODODOOOOONO
UlogODOOOOOOeODODOOUOOOOOODOH

ODboooboboobobdsind00OO00D0OO0O0O0DLOO0O0OL0ODbOO0ObLO0On
00 sinO000000DOcos, tan, etcOO00OOOOOOOOODODODODOO
gboboboboooobbbouogobbobooodgseobbbob2zgddbbbog
RN

>>> degrees = 45

>>> radians = degrees / 360.0 * 2% math.pi
>>> math.sin(radians)

0.70710678118654746

U00Omath.pi0U 000 math OO0 0O0O0O0O0O0OD0O0ODODOODO pidO0oogyg
gbooodbb -0 1000000000000 0O0000O0OO0OOLObOO0OnO
gbobob20000020000000000000

>>> math.sqrt(2)/2.0
0.70710678118654757

3.3 0LUboQ

gooobobobooudgggooooobobbbboobobbbbibn
gobobooooobboooooo

OOobo0o0booooobooooooboobboobooOdnn compositiond
gooobobobbobbboooobobobbbbbbbbboooooooooboo
gooo

>>> x = math.sin(degrees / 360 * 2 * math.pi)
goodoobobobbooogo
>>> x = math.exp(math.log(x + 1))

gooobobobbobbooooodooooooboboobobbbobbbobobobon
gbogbobogobogoboooboogbooobboobboobboon
gooooobobbbbbbboogooooboobbbbbboboboboobobn
gmogn

>>> minutes = hours * 60 #0100
>>> hours * 60 = minutes #U O O
SyntaxError: can’t assign to operator
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34 UO0O0OOOOO

OOb0O0O0d PythenODOOOODOOOOOOODOOODOOODOOOOOOOOD
00000000000 0O0DO function definition0 0000000000 OO
ggbbboooobbbooooobbboooobobbbuoooobon

gooobod

def print_lyrics():
print("I’m a lumberjack, and I’m okay.")
print ("I sleep all night and I work all day.")
#0ooooooooooobobooboooooogoo

defUU0ODDOOOOOO0OOOO0OOODO0ODLDDODDUOODN print_lyricsU0
goobobboboboboboobbobbbodoooooboboobobobobbbbboo
goodoggoogooobbobbbbbbbbbbbbbbuooooooon
ggobobboogogd

OO0O000b0o0bo0o0bob0dCOheader D00 0O0OO0OOOOODOObodyl
gogoddoobbootoouoooooboooooooooboooooogd
guobbbbbbdoooooooooooooobooobbbobobboboboo
goboodgd

print 0000000000000 000O0O0000OOOO0O0O0O0O000
gogodgoooooobobobbbboboboboobobbbbbbooooooouad
gbbogbbuoobboboobboobbobobuoobbuoobboabo

gooooobobobbbobobbobbbbboboooooobooboobooobon
go0ooodooooooooooooo (. ooooooo

>>> def print_lyrics():
. print("I’m a lumberjack, and I’m okay.")
... print("I sleep all night and I work all day.")

gooooobbobbbbbbbbbotbddogdoooooooooooa
o0booomuoboooboobooobooboboOo btobboOobDbOoOo function
objectU 00D 0D0OOOOODOOODOOUODOODOOO functionOOOOO

>>> print(print_lyrics)

<function print_lyrics at 0xb7e99e9c>
>>> type(print_lyrics)

<class ’function’>
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O
gbboboooobbboooobbbogab

>>> print_lyrics()
I’m a lumberjack, and I’m okay.
I sleep all night and I work all day.

gooobobbbbbboobbobbbbbbbbbbbuouoooooon
UO00DbO0oo0obbbu0ddnbl repeat_lyrics 00O O OMO

>>> def repeat_lyricsQ):
. print_lyrics()
. print_lyricsQ)..

UOO0D0O repeat_lyrics OO OOOOOO

>>> repeat_lyrics()

I’'m a lumberjack, and I’m okay.

I sleep all night and I work all day.
I’'m a lumberjack, and I’m okay.

I sleep all night and I work all day.

goboboogobobobooooooo

3.5 UOoooooonon

gooooobbobbbbbbbbbddoooooboooobbboooo
ERERERENE

def print_lyrics():
print "I’m a lumberjack, and I’m okay."
print "I sleep all night and I work all day."

def repeat_lyricsQ:
print_lyrics()

print_lyrics()

repeat_lyrics()
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gbobobuoboodbodbdbUprintlyricsU repeat_lyricsU U U000
gobooobooobobooooboobooobobooobobooobobooobboooooon
gboobooboooboobobobbooboboobooboooobobobon
ooboobobooboooooooobogoon

Ooobooobooobooobbooboobbooobooobooooooon
bodobooboooooobooboooboboboboboooboobooboban
ooooog

boobobooooobobooooboobooooooobobobobOobog
obooboobobooboboobooobooobooboobobobobobooboonoo
oooood

U000000U repeat_lyrics U print_lyrics U0 U UOO0O0OOOOODOO
gbooobouoboboboboooooon

3.6 UOO0OOO

goooboobbbbbbbbbboogoooobbbbbooooooon
0000000000000 00D00b00O0DbO00D0O0 flow of executiond O
ggbobobooooon
gbgobobooboobooboboobobboboobuoobonobo
ggboodo
goooboobobbbbbbbobibodooooooooooboobooboboboboon
ggbobobooooobobobooooon
gooooobobobobobbbbbbbdodooooobbooobobobbon
goodgoooobobobbobbooooobbbbbuouoooooooo
gobbobuooooboo
gbbogdbobodgbboobbuoobbuooboboooboooboogobo
goooogbobooboooooboodooooobbobbooooooon
ggbboooobbbbooooobbbooooboboboooobon
0000 PythonOOOOOOOOOOOOOOOODOOOOOOOODODOO
godgdogooooobbbobbbuuooooobbbobbooooon
ggboboboooobbobooooobbboooooooon
gooobbobbbbbboboobobobbbbobooooobobbbbbbn
gogbobobboooooboboooooobooo
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3.7 UO0uoooond

goooobobbbbbbbbbbdoooogobbbbooooooooo
UOl0math.sin0 0000000000000 O0O00DOOOODOOOOOOO0OO
bOb0DbD0O00Owmath.pow DO UOOOOO0OODOOO0OOOOOOO

gbogbobobbbobibodbdldparameters 000000 OOO0OOOO0O
gboboboooobbbbouoooobbboooooboo

def print_twice(bruce):
print (bruce)

print (bruce)

gboboodbibdbperucel D000 OO0OODDOODDOODOOODOOOODOOO
gobobooooobboboddl printd 0
gbbobobouooobbbDeprint0O0OUOO0O0OODODOOOOODO

>>> print_twice(’Spam’)
Spam

Spam

>>> print_twice(42)

42

42

>>> print_twice(math.pi)
3.14159265359
3.14159265359

gooobbobbbbbbbobooooobbobbbuooooooobn
UO00D0D0O0O0printtwiceUUOUOOOOOUOOO0OOODOOOOODOO

>>> print_twice(’Spam’ * 4)
SpamSpamSpamSpam

SpamSpamSpamSpam

>>> print_twice(math.cos(math.pi))
-1.0

-1.0

guogouobbbbiooooouooobbobbbbobibdoood’Spam’ * 4 [
math.cos(math.pi) U0 UO0OOO0OOO0OOO0ODOOO
gbboooogbobobooooon
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>>> michael = ’Eric, the half a bee.’
>>> print_twice(michael)

Eric, the half a bee.

Eric, the half a bee.

gboogbuooobiodbiodlbOmichael UDOOD0DOO0DOO bruced
goobooobooboooboboooboboooboobboooboobboooo
ooouobbbbtdddUdprint_twice U D OMO bruced g

3.8 U0OOOOOOOOOOOOnO

OO00O0oobO0bOobobooboboonpoboooobuoboobodOlecalldn
gogbbobooooboobooobon

def cat_twice(partl, part2):
cat = partl + part2
print_twice(cat)

gddddddoooooobobobbobooodddtd printddgnoonono0O
ggoo

>>> linel = ’Bing tiddle °’

>>> line?2 ’tiddle bang. ’

>>> cat_twice(linel, line2)

Bing tiddle tiddle bang.

Bing tiddle tiddle bang.
#lgoobooboboooobobooooobbogo

U0 cattwiceUUODDUUOOOO catDOUOUOOOOODOOOOMO printU
ggbobobooogoogoo

>>> print(cat)
NameError: name ’cat’ is not defined

gobobooooobbboobbobudl printtwiced U U OO brucel
ggbobobooooon
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3.9 OUoOgn

OOooboooobooobooobooobooobooboOod fig.stackd O
gootobobobbbbboddddodooooooooooboobbbbbn
gbobobooooobboboogo

OO0000D0000frameJ 00000000000 0OOOODOOODOOOOO
goooboobbobbbbbobobbbobbbbbbboboooboboooood
gobob3100000

gooobbobbbbbbbotbooooobbobbbuooooooobon
gooooobbobbbbbbbibO0O00UdUdprint_twiced cat_twice U U
gbbbo00000cattwiceUODUDUOUOOOODODUOOO _main__ 000000
gobobboobobobbuoooobbbibdoduodil _main__O00OOOOO
gbobogudgbboobbuobbuoobbuoooboobibdUpart1i linel

linel — 'Bing tiddle’
<module> i )
line2 — 'tiddle bang.’

partl —= 'Bing tiddle’
cat_twice | part2 —= 'tiddle bang.’
cat —= 'Bing tiddle tiddle bang.’

print_twice | bruce —= 'Bing tiddle tiddle bang.’

031 00040d.

gboboodbboodbbddline2iddb0OOObrucell cat O OOOOOO
goooo

OOobo0ooboooooooboboobodPpython0oooooboonoOonQ
gboboboboooboogoobbibt_mmain__ 000000 O0OOO0OO0O0OOOO
0000000 print_twicel U cat DU O UOUOUOOOOOUNameError
gooo

Traceback (innermost last):
File "test.py", line 13, in __main__
cat_twice(linel, line2)
File "test.py", line 5, in cat_twice
print_twice(cat)
File "test.py", line 9, in print_twice
print(cat)
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NameError: name ’cat’ is not defined

O000000000bb00bodbdtracebackD D0 0000O0O0OO0OOODOO
goboo0oboooobooooboobooooobooooboooboooo
0000000000 b0o0o0ooooObo0oobOooooDbooobOoooo
go0booboooboboooboooboooboobooobooboooo
00000O00bOo0obOooboooag

O0O0:.00b00b0o0b0o0ob0o0ob0oobOooDbOooboobbboooo
U test.pyl]

01 def print_twice(bruce):

02 print (bruce)

03 print (bruce)

04 print(cat) #0O [

05

06 def cat_twice(linel, line2):
07 cat = linel + line2

08 print_twice(cat)

09

10 #main

11 cat_twice(’bono’, ’niko’)

goobooooboboobooooboooooooboboboboooobOooD
O test.pyd 110000 00Omoduled I cat_twice(’bono’, ’niko’) OO0
OO000080000 cat_twiced D print_twice(cat) OO DOOOOO 400
O0D0 print_twiceD O print cat 000000 DOOOOOOODOODOODOO

3.10 OOOoOoOoooooooo

0000000 0O000000000D00D0OOOODOOOO00000000
0000000000 0000000 fruitful functionDO D ODO0O0O0O0OO0OOO
print twice 00000000 DOO0ODDOOODOOODOOOOODODOOODO
O0void functionO0 OO OO OOO0O

000000000000 O0000O0O0ODODOODOOOOO00000000n
00000000000 0000oooOo000ooDooooooDoooon

x = math.cos(radians)
golden = (math.sqrt(5)+1)/2
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OoooboobooboboobuoobdPythonDOoboonQ

>>> math.sqrt(5)
2.2360679774997898

goooobbbbooobbobbbbbbbbbbbbboboooouagd
gobooobooogn

math.sqrt (5)

gobobboogdgobobboooobbobbuoobbuooooobboooonoo

gobooboooodn
gooooobbobbbbbobobbbbbbbobbobbboboooouuoaa

gbobbobooooobbboddvNenelDOOOOOooOOO

>>> result = print_twice(’Bing’)
Bing

Bing

>>> print(result)

None

U NoneUUODOO’Nene’ UL DUOOODDODUOODDUOODDOOODOOOOOO

>>> type (None)
<class ’NoneType’>

gooooobobobbbbbbbbodooobbooooobbobbbbbon
gboobobooooogoboo

3.11 0O0O0OOno

gooobbobbbbbbbbboooooooobbboooooooobon
gobobobooogobbobuooooobooo

e OO DLOODLOODLOOLDLDOUUOLUUUOUDLDLOLDLDDLDOOOOLUUUOUOD
gbobobooooobbboooobobbobod

e 00D UOOODLDODOOUOOOODLDODLDDLDDLDOOUOOOODLDLDOOOOO
gobooboobobuoobobuoobobuooobooobooobooooboo
goo
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e OO 0OOUOUUOULOUOUOOOOODLDDbODODOOOOUOODLbDDbDDOOn
gbobobooooobbbooooobbobod

e DO OODLDOODLDOODLDOODLDLDODLDOOLDODLDOOD
gobobboogooobooooobooboo

3.12 000000

O0oo0ooooooooooooooooooooooooooooonooo
godddoooooooooooogooooooogooooooooon
Oo00ooooooooooooooooooooonon

odoooooodoooouoouoooooooooouoooooooon
ooo0ooooboooooooooooooooooooooooooooon
godododoootooooooooooooooooooooouoooon
O0doooooooooooooooooooooooooboooooonoon
oodoooodoodoooooooooogooodooooooooood
Oo00doooooooooooooooooonoooooooonoooom o
gooooddoooooodooooooooooooogooooooon
Oo0doooooooooooooooooooooooo@moooooogn
0o0o0dord

O0o0o00oooooooooooooooooooooooouoooonooon
goododdoooooooooooooooodoooogoooooon
goo0oooooooooooooooooooooooooooooooon
goodooddoooooooogoooooooooogoooooooon
go00ooooooooooooooooooooooooon

O000LinuxOOOO0OOOO0O0O0OOO0O0O00O00000000000000
O00000000000000Linus Torvalds O O O Intel 80386 0 00O 0O O O
0000000000000 00000O0O0000DOODOLarry Greenfield O O
O0@LnuxO0O000O0O0DO0O0O00O0OODODO print AAAA OO print BBBBO O
000000000 000000000000 LinuxO0O0O0OO0OO00 The Linux
Users ' Guide Beta Version 10

3.13 OO

O0Ofunctionll 0000000000 DOOOOOOOOOOOOOOODOOO
goboboooooboobobobboooooboboa
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000 00O function definition 00000000000 DOOOO0OOODOO
gobobooooobboboooon

OO000D00D0OOfunction object(l DO OOOOOOOOOOODOOOODO
gobobbooooobobobooooobbobood

O00O0OOheader DOODOOOODOODOOO &
OOOOObody DOODODOODODOOODOODOOOMI
UO0Oparameters] U0 00O O0O0O0O0O0OOO0OO0O0OOOOOO0O

OO000D00OOfunction callll 00 O000OODOO0OO0OO0ODOODOOOOODO
gobooon

UO00Dargumentl] U0 0OUO0O00OUOO0O0ODOO0O0OOO0O0OOO0O0OOO0OOO
gbobobbooooobbobooooobobobood

O0OO000OOlecal D ODDODOOO0ODODOODODOOOOODDOODODOO
gobobooogooo

OO0OOreturn valuelDl OO0 00000000 ODOOOOOOODOOOOODO
gbobobooooobboboooooobooo

00000000 fruitful functionD OO0 000000
O00000wvoid function OO0 O00O0OOO0OO
O00O0O0Omodule DOOOD0OODO0OO0OOO0OOOOOOODODOOOOOO

O00000Oimport statement[] D00 O0O00O00OO0OOO0OOOOO0OO
gboobooogbbobod

OO00000000000Omodule objectl DO DO OODOOOOODOOODO
gobobooooobbboddimpert DOUOOOODODO

O00O00O0Odot notationt] DO DOOOO0OOO0OOOOOOOOOODOOO
gbooodgbodbbodgbboobboobbuooboooboogog
goobooood

O00composition] DOOOO00OO0O0O0OO0OOOO0OO0OOOOOODOOOO
gobobooooogooo
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O000O00Oflow of execution 000000 U0OOO0O0OOOOUOOOOOO
goooo .

O0000Ofigstackll OO0 DOO0O0O0OO0OOOOODOOOODOOOODOOO
goboodboogbooobboobboobboobbuoobboon
gbooobog

O0000frame DOOODOODOOOOOOOOOOODOODO

OO0O00OO00O0OO¢traceback DOOOOOOOOOODOOOODOOODOOODO
goooogd

3.14 0OO0O0O0O

gobonb 3.10 PythonODOOOOOOODODOOOODDOOO 1lenO OO 1en(’allen’)
gsguouggobooood

gbobgdbboobbuogobuogoobodbibdd right_justifyd U
ggoooo

>>> right_justify(’monty’)
monty

gobo3d2tbogooooboogoboooobbuooobboooboobobo
dotwiceUUDUOOOODOUOOOLOOODLDODLDOOODOODLOOODLODOODLDO
ERERN

def do_twice(f):
0O
O

O00OdotwiceDODOOODO printspam D0 0000000 OOOOODOO
def print_spam():
print(’spam’)
do_twice(print_spam)
go0ooOooboboOoooooboboooo

l. gggbbbbdoooobbboooooboooan
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2.000000000D0 detwiceUUUOOOOOOOOOOODOOOOn
gobobobbouoooobbbooooobobod

3. print_spam U U U000 O0O0 print_twiceUUUUDODOOUOOOOMO
obooboobuoboboboboobon

4. 00000 dofour oo boobbodbuobboonooon
gbooobooooboooboooboooboooboobbodgbod
gobodbbooobodobboobboobooboboobbooboba
gbobooobouogooboobogo

OO0 0O0Ohttp://thinpython. com/code/do_four.py
0000 3300000000000 b0obO0obO0b0obD0obDOooDooooDooboO

gooobog
gboobooooobbbooooobobobod

UO00O0Oprint DU 0OO0DOO0OO0DOOOODOOOODOOODOOOO0ODLOOO0OLOO
U000 print 000000

print(’+’,’-7)

O000C0print 00000000000 N\nOO0O0O0OO0DOOOOOOODOOO
goboboboooobobooooobobboooooboboo

print(’+’, end=’ ’)

print(’-’)
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goobob’+ 20000
print JU 00000000000 O0O00O0O00O00O0O0O0000

2.00000000000D00DO0DO0ODODOO
000 Ohttp://thinpython. com/code/grid.pyl
0000000000 Ouallined ”Practical Programming. Third Edition ( O’'Relly
Media, 1997)’0 0000000000000
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40 OO0 otdotdun

OoobobooooooobobobobooboooobooooooobooDo
OOoooogo

O0 turtle0 000000000 ODODODOOODOOOO0ODODO turtled 0 OO0
O00D00O00000D00+turtled 00000000 PythonODOOODOODOO
O0000000000000O0OOPythonAnywhere D0 00O Python OO O OO
OO00000D turtle000000OO0OOODOODO

Python OO OO0 OOOOCOOOODOODOODOOODOOODOOOODOO
0000000000000 0D00000Db0DO00ObO0ODODOOO0O0O0D nttp:
//tinyurl.com/thinkpython2e. DO OO OO OO

OO00000D00D0000O http://thinkpython2.com/code/polygon.py U 0
OO

4.1 turtlel 00O 0O

turtle 000000000000 0D0O0ODO0ODOOOOOOO0O PythonO OO
gobobbooooobobobboooonbo

>>> import turtle
>>> bob = turtle.Turtle()

000000000000000000000000000000000000
000000000
0000000000000000000000 mypolygon.py 000000
000000000000

import turtle

bob = turtle.Turtle()
print (bob)
turtle.mainloop()
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turtle U0 0O0O00t000000 TurtleUOOOOOO0DOOOO Turtled TO
Ubbubd Tertle 00000000 OO0O0DDOO0O0OO0OD0OOO bobO OO
gobboboddveepbbogoonobobbooooobbbooon

<turtle.Turtle object at Oxb7bfbfic>

0000 bobU turtleJUOODOUOOOOOOD0OO TurtleOgoooog
ggbobobboooogoobooo

mainloop U window U U U O DODODOUOOOOOODDODOOOOOODOOOOOO
goddddgbtbdodooooooooooobobbbbobooooooon
ggoooo

U0 TurtleOD0OOUOOO00O0O0OO0OOO00OO0O0O0O00O00OebOOOOOOO
J00bdbod0dUOmethodDODOODOOOOOOOOOODOOOODODOODOO
gobobobooooobbbobbuoooobbboaoaon

bob.£d(100)

Uboddi fd0 TurtleJOOOOUOOO0OO bobU D OODOOODOOOOODOO
gogbogobbooobooobbobbotbeepddbogboonon
ggoooo
fdd0odgooboooogoobobobuoogobobobuoooonoobobogoo
goon
TurtleUO0OUO0OO0O0OO0O0OO0OO0OO0O0ODOO0ODOOOOO0O0O»kUOOODO 1t
gobbobUrtgdobbbud1td rcegdbbobbooooobboooan
00 Turtled 000000 DO0OOO0OODOOOODODOODODDOOOOLODOOO
UobdbU0Turtled 000000 ooboobo0oubonn pull pd 000
gogbbobonoboogoobbboooon
gbbogdbbodgbbuogbuodbuoobboobbooobboobid bob
U00000OOmainloop U0 00O L

bob.£d(100)
bob .1t (90)
bob.£d(100)

gbobogbobogbobodbepbbggbbogobooobooobbooonbo
googggbboboooobbbouooon

goooboobbbbbbbooooodooooobboooboobobbbobon
godg
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4.2 O0OO0OOOO
000000000000000000000000

bob.£d (100)
bob.1t(90)

bob.£fd(100)
bob.1t(90)

bob.£d (100)
bob.1t(90)

bob.£fd(100)

b for00doboonooubbdodibitilild mypolygon.py U
ooooooooobooon

for i in range(4):
print(*hello!’)

goobooogoobobod

hello!
hello!
hello!
hello!

gbobobod for00ugoobbbbbbuooobbbuooobuooon
gobobod forddbboboogubbbboodb ooooboo
gboboobooogd foroyg

for i in range(4):
bob.£d(100)
bob.1t(90)

O
forU0ODOO0OODOOODDOODDODODLDDUOUODDObDOObLDOOObLOOn
gboboodbobbuodgobooobuoobbuoobbuoobbdodiferbbbog
OOloopl D0 0O0OO0ODOODOODODOOOOOOOOODOODOODODODLO
goboboboogoobobboooo4bbobogan
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U0 fordgpononoobobobbbibbdogoonobbbooooooon
ggbboboogbbbuooobbbddveepbbogoobbbooon

U0 fordbooggobbbuoooobbbbooobbbuoooon
goddddogooobooooooooooobobobboooooooon
gddddddoooooooooodoooobobbobbbooooooon
gogbobooogooboooooboo

4.3 0OOOO

U000 TurtleWorldD DU UOUOOODODODUOOOOOODODOODDOOOOOOOO
goooobbooboboooboouodddoddoddoooooooooo
gogbobobuooogn

gooooobbobbbbbbobbbbbbbbooooooooooooa
gogbobobuooogn

l.square U DU UOO0O0O00DO0OO0O0O00OD0O turtle D0 t000O0O0O
turtleJ 0000000000000 0O0O0O0O0O0OObbepOOODODOO
gobobouoooobboboooon

2. length 00000 0ODO0ODOOOOOODOOOOOOOOODOO lengthO DO
gobodgbboobboobobobuoooboooboooboooonoo
gbbobouodd lengthO0OO0O0O0ODOOOO0OO

.00 r0000onoooobesobbbungn1t(bob, 45) 00000
gobobooooobbobibid squared 0000000 polygon O
gboogdboboodboodb ndgbbobbdnbgoboooboon
gobooobooodan

OO00On0000000O00ODO0ODOODO 360/n0000
4. circleJO00O0OD0D0O0OO0OODOOO polygon UODOOOOOOODOODODO
Uturtled 0000 t0000 rd0d0oboooooboboooooon

goobbobobbbbbbndddddddddUudUl= 1ength * n
Ubb0DbDo0o0dbi lengthO0OD0ODOUOOO0OO0ODOOOO

gobobboogboodbobbboooobbibUbob,delay = 0.0100
gobooo
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o. HObDUbDULUarcbbUODUObDULDUDOODUODODODODN angle
OO00000D0O0 angleDODOOO0OOOOOOODOODOODO angle = 360
gooboooooboobood

4.4 0O0O0O0OO

goooboobobbbbbobbbuooooooobboobbbobobbn
OO0 TuwrtleOOODDODOOOOOOOOOOOOOOOOOOOO

def square(t):
for i in range(4):
t.£d(100)
t.1t(90)

square (bob)

g fdd1tdooooodododoooooooooooboon
O00O00 forDO0D0OD0DODODOOODODOD square(bob) OO OODOO
gbobobooodbbbud fordbbboooobbbboooobbbod
OO000000+t0000 turtled OO bob DO OOOOODODODO1t() O
lt(bo) DO OO ODOOOOOODODOODOOOObepbODOOOOOODOODOO
U0 squareJ 0 tO0OO0O turtleJ00U0OO0OO00O0O0OO0DOO0O turtle OO
gbobobouooogbbobooooobbbodanobooo

alice = turtle.Turtle()
square(alice)

OO000b0booboobooboboobouobOobbencapsulationd 0 dOoonO
gboboodbboggbboobboubbuoobbuoobobobbooboboon
godbdgbgbobobuobooooooobobobobobobuobuoboooo

4.5 0O0OUO
00000000 square000000 lengthOOO0O000OOOOO00OO

def square(t, length):
for i in range(4):
t.fd(length)
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£.1t(90)

square (bob, 100)

O000b000boobuoobOobUdgeneralizationd DO OO OO0OOdOog
gobbobuooooboo

gooobobobobbbboobobbbobobobbbbbbbobobobbbbbbobo
gogbobobooobobobboooon

def polygon(t, n, length):
angle = 360 / n
for i in range(n):
t.fd(length)
t.1lt(angle)

polygon(bob, 7, 70)

rOOodgoobobodggrroobbbuoogon
Python2 00000 ODOOO0OO0OOODOODOOODOODOOOODOOOOOO
000000 000bobobO0O0n0D angle = 360.0/ nUODOOOOOOO
gogbbbuoooobobbbuoooobbboooooboo
goooboobbobbbdoddddoddooouoooooobbbboboon
gogbboooobbbbuoooobbbooogboboo

polygon(bob, n=7, length=70)

00000000 0Okeyword argument0 00 0000000 O0OOOOOO
gooobogoobooon

4.6 U0OOOOOOOO

gobobobooobbobr0bbbogoobbboogobbooooobboo
gogbsobbobuooooobbobuooogobobon

def circle(t, r):
circumferance = 2 * math.pi * r
n=50
lenght = circumferance / n
polygon(t, lenght, n)
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gbobobbooooobbboodubr-sbb0oooobbuoooobbbbooon
mathUOOODO0ODO0ODO0OO0O0O0O00O0000000000000 importd gy
gobooobooogo

nO000000obooooboobbudb cgobooobooobon
gobooobooogno

gooobbobbbbDanbObbOOOOObOObObOO0ODDDODbODbObObODbODbOOO
gooooobobobbbbbbdoooooooboooboobobobbbbon
gboboogdbbodbbuoobbudbngobboobboobobuoooboo
goboboboogooobbooooobooboo

OO000O00D00O0ODOiIntefacel 00000000 0OO0ODOODODOMODO
goboboogoobboogoobobobuooonooboooobooboboooon
gboboodgbobogbobuogoboobooobooobboomuoobboon
gobobooooobbbouomoboooooboobooooboo

gbboodbrgdbbodbbodbbodgbboobooboobboon
gbogboboobbodboboobbbotdnbboobboooboonoboo
gooobbbbbboboggooooobbobbbbbbobooooooog
gboobooogoboboooooboboboooad

def circle(t, r):
circumference = 2 * math.pi * r
n = int(circumference / 3) + 3
length = circumference / n
polygon(t, n, length)

O0000000 circumferance/30 0000000000 300000000
gbobgdbobogbbuogbbuoubbuodgbboobbuoobbuoobboo
goobooooobbboooobobobooouobobobboooon

4.7 OQOooggg

Ob0bDo00ddpoelygcon OO oboooonooboog
gbooodbbboodoobbuobibudobibd polygonl circle 0O OO0

00000000 polygonDOOODODOODOODOOOOOODODODODNO arc
gbbobbouoooobbuoooobbobooodan

def arc(t, r, angle):
arc_length = 2 * math.pi * r * angle / 360
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n = int(arc_length / 3) + 1
step_length = arc_length / n
step_angle = angle / n

for i in range(n):
t.fd(step_length)
t.1lt(step_angle)

0000 polygon U DO UOOOOODODOOOpolygon U UOOODOOOOOMN
UdbbODOpolygon DO DOOOOODODODDOODODODOOOOOOOOO0OOO0O0OO

HEN

def

polyline 0O 0O

polyline(t, n, length, angle):
for i in range(n):
t.fd(length)
t.1lt(angle)

Udoboooddibibod polygon D OUOUOUOHarc OO UOUOOpolygon U
goooooonog

def

HEN

def

polygon(t, n, length):
angle = 360.0 / n
polyline(t, n, length, angle)

arc0 0000000 DOOO0O0O00ODOO angleDDOOOOOOOMmM

arc(t, r, angle):

arc_length = 2 * math.pi * r * angle / 360
n = int(arc_length / 3) + 1

step_length = arc_length / n

step_angle = float(angle) / n

polyline(t, n, step_length, step_angle)

gbbobouoooobbbioddl circle U0 arc0000onooog

def

circle(t, r):
arc(t, r, 360)

gooobbobbbooooooooooboobooboooboobobobobobobobobbobon

ud

Ob00O00dO000OOrefactoringd D0 0000000000 arcODOO
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polygon U OO DOUOOODOOOOODOOODDOOOOD polylineJO OO OO
goboooodg

OO00bO0bO0oboo0obooooboobbod ttpolylined OO OOobOonoonOgd
gogobbbbobbobotbogooooooooobbbboooooooboobon
gboobodbbogoboobboobbuoobboobobooboboooboon
gogobobobibobbbbbobbdouooooobbbooouoooobobon
goo

4.8 0OO0OOO

OO00O0OOdevelopment plan0 0000000000000 0O0O0O0O0O0O0O
OO00b0obooooooboboomooboobobooooobuobooobooo
O0000O00Db0O00DbOOn

. Jguooooobobobuooooobbbooaoa

2.000000obobobooooobobobobbboooobbobbooOon
goboooodg

. 0buoogogobobouooobobobod
4. 003000000 00D0O00DO0O0bO0DbO0

o. bugobooobooobooobboobboobobooboobon
gobodbbogoboboobbooboobbuoobbobbooboba
gboooboogon

gogobobobibobbbbooobbobbobbbbbboboooooooobbo
gboboodbbooobbodbbodboooboboobboob™ooboon
gbobbobouooogbbbbooooobbboooan

4.9 0O0OO0O0OO0OOOO

O0000000OOdoestring0 D0 00D0DOO0OODOOO0DOOODODOOODOO
0000000000000 C0O00O0O0Ooon “doeec”’d “documentation”d O 0O I
ooooQ
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def polyline(t, n, lenght, angle):
mgO0ob0b00lenghtd00oooooon
OO0D0anglelD 00000 n000O00O0O0OOO
t0 turtledd oo™

for i in range(n):
t.fd(length)
t.1lt(angle)

goodoggogoooobbbobbuodgouououououguuoooooooon
gogbooboogoobooo
gooobobbbbobbbobobduooogobobobboooooooon
gddddddoooooooooodoooobobbobbbooooooon
gogbbobooobbbooooboboooobobboooobobooo
goooboobobobbbbbobbbdodoooooobooooooooon
gbuogboboobobboboobobobboboobuodgboobogobo
gbodbdooobobodobuogboobobbobuoboboboobooaon
ggbobobooooobbobooooon

4.10 UOO0O0OO0O0

gooobboboobbbbbbbouogooooobbbooobabbbon
godddoooooobbbobbodgbbobobobooooooooooon
goon

000000 0Opolyline O DDOUOUOOOOODOOOLH turtleDn U
UobbudbbibO0OlengthO00000O0O0O0O0O0OO0OOOOangle 0000
gogoboboobodgd

OO00O000D0O0DOO0Opreconditionl D0 O0O0O0OOO0OOOOOOOOO
gododdgooooobbobbbodobbobbbodoooooooooon
O0O000ODOpostconditiond DO ODODOO0OODOOO0OOOOOODOOOOO
goboobogobbodbmoobuoouobboodbibdUturtlediod
ggbbobooogoboobooboboo

gooooobbobbbbbbbbbddguduoddoooououoooo
gogbbobuooogbobobooobbobuoooobobbbooon
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4.11 OO

OO000OD0Omethod DOODOOOOOO0ODOOOOODOOODOOOOODLO
gooo

O00OOlecop OO DOODODODODOODODDODODODODO

O00O0O0OOencapsulation[l] D0 0000000 0OO0OOO0OOOOOOOOO
gobooooooon.

O 000Ogeneralization[] 000000000000 0OO0OOOOODOOOODO
gboboboooobbobuooobobobboooon

O00000Okeyword argument[] D0 DO O0OO00O0OOO0OOO0OOOOO
ood

ODO0O00OD00ODOintefacel DO O0OOO0D0OOO0OOOOOODOOODOOODOOO
gooboooan

OO0O00ODOOrefactoring DOO0O0O0OO0OD0O0OOO0OO0ODOODOODOOOOOO
gobobooooobobboooogbobon

OO0000Odevelopment plan[ll OO0 O000O0O0O0O0O0OO0O

OO00000D00OO0Odoestringll DODOO0OOO ODOODOOOOOOODODOO
gooobod

O0000Oprecondition] DO OO0DOOODOOOOOOOOOOOO

O00O0Oprecondition] DO OOODOO0OOOODOOODOOOOOOOOOO
goo

4.12 0000

0000 4.10 http://thinkpython2. com/code/polygon.py DU DO OO OO O
ooooooooo

1. 00O circle(bob, radius) DO ODOOOODOODOODOOOOOODODOO
gobobDoodiubprintddoooooon
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2,470 000 arccUgbgobbooobbooobogbobuooboon
gbobbouoooobboboooobbbbiodd wurtleg oo
goboodbboobboobbuobuooobooobooobobooooboo
gbooogdgboobbodbboobboobbuoooboobobodobobo
goboboooooboboboooooooboon

0410000000

OodDb4.200410000000000000000O000DOO0ODOO0OODO
00 OChttp://thinkpython2. com/code/flower.pyd U [ http://thinkpython2.
com/code/polygon.py. 0O OO OOMO

00004300 4200000000000000000DO0DODODOOOO
OO0 0O0Ohttp://thinkpython2.com/code/pie.py.

042 0000000

000044000000000000000DO00DDOO0ODODOODOODOOO
gobo0oO00boo0oo00obo0oOo0o0ooDUoOoboODOoOoboOoDoUoDboOoDo
00000000O000oO00oOoDO0oo0ooooOoooooo
O00000000DO000000DbO00000b0drav_alddrav b0 00000
00000000000 etters.py00000000DODOO0O0ODODOOOOOODODO
00000000 “turtle typewriter”0 00000000 http://thinkpython2.
com/code/typewriter.py 0000000000
00 0OOhttp://thinkpython2.com/code/letters.py O O http://thinkpython2.
com/code/polygon.py. 00 DO OO0
O0004.500000000hnttp://en.wikipedia.org/wiki/Spiral 000
00000 http://ja.wikipedia.org/wiki/O 0000000000 000O00O0
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0000000000000 000O00OoO00ooooooooo
OO0 0O0Ohttp://thinkpython?2. com/code/spiral.py.”
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st Uoodtd

gooobbobbbbbbbbboooooooobbbbuooooooobobon
ifdoobogoboobooooobbbodgouooobooboboobbooa
goboooog

5.1 ODUOODOOOUOOOUOOOOO

OO0O00O00DOFloor divisionD D OOOO//0000000000000O00
gogooobbobbbbbobboodoooobboooobbobobbbbon
goglsuouooggoooobobobbbbbbobobooobbbbbbibo
gobobbooouoooobobboooooobobooooon

>>> minutes = 105
>>> minutes / 60
1.75

goooboobbobbbbbbbdouguuuduooooooooooobooboon
goobooooooo

>>> minutes = 105

>>> hours = minutes // 60
>>> hours

1

gbobobbooooobbboooobobbbooogbbobo

>>> remainder = minutes - hours * 60
>>> remainder
45

00000000 D0DDODOOmodulus operator0 0000 O0O0O0O0O0OOOO0O
oooooboooooooooodooooooobobooooooooooo
OOoo0Oo0O0OPythenODOODOOOOO%O00000O0C0O0DOO0O0O0ODOOO
gooo
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>>> remainder = minutes % 60
>>> remainder
45

gogobobobobobboboboboboobobbbodooooobooobobboboobbood
goboooboobooobboobooooooobox YyobooboOxbyOO
gogboobooooobooo

goobobooboobbbbbobobbbdouooogbobbboooooooo
O00x » 1o0000000x000000O00O00Ox % 1000000000
ggoooo

Python2 OO DOUOOOODOOOODOOOOOOODODOOOODOOOOOO
oo/00b00b0boobooobooboooooooobooboooobooooDO
gobbobuoogobobbboooubbnfleatggnd

5.2 OOOOOOO

O000000O0OOboolean expression] O O 0O truell 0 0 0O falsed 00 00O
000000000000 0==00000000000000000000O000
0000000000ooDOooon

>>> b == 5§
True
>>> b == 6
False

Truel FalseU bool UUUDODOUOUOOOODOOOODODOOOOOOO

>>> type(True)
<class ’bool’>
>>> type(False)
<class ’bool’>

O
O00O==000000dU0Orelational operatorsU D 00D D OO0O0OOOOO
oogd

x =y #xU yUQoooog
X >y #xUOyOOououoog
x <y #x0U yUOQooono
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x>y #0y000O000O0OCO
x <=y #x0y000O0000O00O

OOobooobooooobooboooboooboobooooooOPythonboono
gobobooooobobboobboooobbboooobbbb==00000
gbobobobo=000000000b0bbbb=000000000000==00
Joodooboboobibo=0=<g0oo

5.3 U000

000000000 logical operatorsl] DandJord not DD OO0 OOOOMO
00000000000 00D00000x >0and x < 100x0 0000000
O0i1o0000000000D0000x % 2==0o0r x43==00000000
0000000000 DO00bO00DbO0O0bO0O0bO 2030000DbO00DOOO
O00nt0000000D000DO0OO0OOOnot (x>y)0O0Ox>yOd000O0O
O00000x0yOODODDOODOOODDOOODOO

0000000000000 0000D0000000000000d PythonO O
OO00000000oooooooooobooooooooog

>>> 42 and True
True

goooboobbbbbbbobbbbbbbbbbbbbuoooooooooo
gobobboooobooooobobooooobooood

5.4 UO0O0OO

0000000000000 ooooUoooOoo™
O00O0000O00O00O00O00O00O000O0OOO conditional statement™d O
O0o0ooUooooooooifouoooooog

if x > 0:

print(’x is positive’)

if0000000000000O0condition0 0000000000 OOODOOO

0000000000000 oO0obO0o0obOoobDOoooDon
O00do0ob0ooooboobooboboooobobooooooboooo

O00000000000000000ODO compound statementst 0 0 00O
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gogobobobbobbobobobobobotbodgddddodddououoouugda
gogogggbobobobobobbooooooouououuooooooooon
gobobbboooubbobioduooobbbuoooonbbpassbogg
ggoo

if x < 0:
pass #0 0 000000gno

5.5 OO OOO

if0000000000O000O0000 alternative executionD O OO OO
O00d00Oo000d0o00o0odo0oooooooooooooouooooooo

if x%2 == 0:

print(’x is even’)
else:

print(’x is odd’)

gobogobogobooobooobuoobobooobooobboobobo
O0000oooobobOobuodobodbUdbranches DOOOOODO

5.6 UUOOOOO

gbobogdbogobooobboobboooooboooobooobnoon
O00bo0o0bobo0oobboOooboboo0obbOoObnd chained conditionalll [
gobooobood

if x < y:

print(’x is less than y’)
elif x > y:

print(’x is greater than y’)
else:

print(°x and y are equal’)

elif 00O “elseit’D 000000 0OOO0O0OOOOOOOOOO0ODOOODOeLif
gobbbiboogdibbbelseddgboboboooooboboobbbobogd
goobooo
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if choice == ’a’:
draw_a()

elif choice == ’b’:
draw_b()

elif choice == ’c¢’:

draw_c()

gogobobobibobbbbooobbobbobbbbbbbbbobbbbbbbo
gboboodbodgbboobboobbooobooobooobboonooboo
gbobobobouoooobbbbooooobboboooooboboboo

5.7 UUUOOLOOUOOUO
00000000000000000000000000000

if x==y:
print(°’x and y are equal’)
else:
if x < y:
print(’x is less than y’)
else:
print(°x is greater than y’)

gbogboboboobodbuoobouobobboboobuooboobonn
OOoo0OobOobOobD tobooboooob f0obooboboboobooooboon
gogoboobbobbbbbbbddoodoooouooooooooobobo
O00000b000b00b0o0b00ob0obUniOdnnested conditionals
gboboboooobbbbouooobboooobbbouoon
gboboodbbodbboobbuoobobooobooobooobboobo
gbooodboogbboobboobbuoobbuoobbuoobboobooo

if 0 < x:
if x < 10:
print(’x00000O0OO0O?)

printJ0OO0O000O0O000O0O000OO00O0OO0O0O0O00O0O000000 and
goobooogoobobod

if 0 < x and x > 10:
print(’x000000OOO0O?)
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5.8 0O

goooboobbbbbbbbbbboogooobooooooooboobn
gogobobobooboooboobobobbbboooooobobobbboooooooooa
ggbbbooooobbobuoooobbobbuoooobbobbuoooon

gobobboooooboboooooboboboan

def countdown(n):
if n ==
print(’Blastoff!’)
else:
print n
countdown(n-1)

nJo000O00O0BlastofflOOODOO’0 print 000000000 n00O0OOO
U0n-100000 countdown DU OUOODOODOOOO
mainJ0OUO000000000000000O0O0000000000

>>> countdown(3)

O0 countdown 0 n=3000000n000000000000n0O0O0 30 print
gooobooooon

OO0 countdown 0 n=20000000Cn000000000OO00C0On
0020 print 0000000000

O0 countdown O n=10000000n000000O0O00O0O
O00On0O0 10 print 00 000O00OOOO0O

OO0 countdown 0 n=00000000n000 00O
000000 Blastoff!” O print 0 0 00 O O return
0on

n=10 countdown O OO return 0 0 O 0O O

n=20 countdown 0 0 0O return 0 0 0 O O

n=30 countdown OO0 return 00 00O 0O
O00Omain0O 0 __main__ O0O0O00OOO0OOOOOOOOOOOOO

3
2
1
Blastoff!
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<module>

countdown n— 3

countdown n—s 2

countdown n—1

countdown n—0

0 s51: 00000

OO00bO0bobooooobobboobooobobOobUddrecursionl OO0
gobobooooobobbooooobbboooogo

def print_n(s, n):
if n <= 0:
return
print(s)
print_n(s, n-1)

U0n<=00000000000 retcurn0000O0O0OO0OO0OOOODOOOO
gooobobbbouddddudddd countdown OO OODOOnO 00
OO00000D0 sOprint00000 (-1 U0 print0 0000000000
OO00000b0000 sOprint0 1 + (n-1), 000 n00 print0 00000

oobobobodbd ford0dbugboobobib0obuitn fordd
gboboboboobodgboobobbbooboobuoobooboboobn
gooboooooboood

5.9 U0OOOOOUOOOO

otbugobouobobuooobooobbooboboobbooboann
gbobobooooobbbooooobbobooogooo

OO0ooobOoooD ppythonODOO0OOOOOODOOODOOODOOOOOOOOD
goooboobobbbbbbobbboogboooouoouoooboboooooo
gbobobobouooogboboooogbobon

U510n=300000 countdown U UOOOOO0OOOOOOOOODOONO
Uo0bb0Udbl _main__ 00000000000 D0O0O0DO00 _main__ 0000
gobobbooooobboboobbbibddibd countdown OO OOOO
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n 0000000000000 DO0OO0=000000000000OO base casel]
godddddgoodooooooooooobbbbbbbooooooon
goooo

UO0000000printn000 s = ’Hello’Un=2000000000000
gogodooooobbbobbbbbbbbobbbodduududnoogd
gdbbbU0donggoooooooobbbbddnggnobooon

5.10 UOOUOOO

gogooboobobobbbbbbbbtbddodubobdooooooooon
O00000000000D000D0000 infinite recursion0 000000000
gogboboboooooboboboooooboooobobobboooooboboboon

def recures():
recures ()

godddddgoooooooooooooobbbobbuooooooon
gbobooodbOPbPythondODOOOO0OOOODOOODOO0OODLDODODLDODO
ggoo

File "<stdin>", line 2, in recurse
File "<stdin>", line 2, in recurse

File "<stdin>", line 2, in recurse

File "<stdin>", line 2, in recurse

RuntimeError: Maximum recursion depth exceeded

gbuodgbuooubogbudboobobbobooboboobuogbogo
goboD 100000 recures0 0 UOOOOOONO

5.11 0OOOO0OOO

goooboobbobbbbbbobbbbbbbduudgooooobbbooo
gogbbobooogoooogo

Python OO ODOOODOOOOOOOUODOO input0d000O0OoOoooonDOO
O000OPython200 raw_input 00000 0OO0OOOO0OOO0OOOOOOOOO
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O0o0odbbodbbodgdbdReturnU00 Enter 0000 gonooog
gbboodbboddbinputddoogobooooboobboobuogobooaod
god

>>> text = input()
What are you waiting for?
>>> text

’What are you waiting for?’

gogoobobobbbbobobbobobbbbbbbbbooooooobbn
0000 input 000000000 DOO0OODOOOOOOOODOO0O0O0OO0O0d

>>> name = input(’What...is your name?\n’)
What...is your name?

Arthur, King of the Britons!

>>> name

’Arthur, King of the Britons!’

OO00bO0bobooooobobobobwmUObDOOnew lineOOOO0OQO
gboboboboooobbbduooobbbooooobbbooooobobooo

goooboobbbbbbbbobooooobobbobbbooooooooo
gobooo

>>> prompt = ’What...is the airspeed velocity of an unladen swallow?\n’
>>> speed = input (prompt)

What...is the airspeed velocity of an unladen swallow?

42

>>> int (speed)

42

gboboboooobbbuoooobobuoooobobobboooonooba

>>> speed = input (prompt)

What...is the airspeed velocity of an unladen swallow?
What do you mean, an African or a European swallow?
>>> int (speed)

ValueError: invalid literal for int() with base 10

gobobboogooobooooobooboo
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5.12 0O0OOOOO

OOobo0oobooooooobod python O OODOOOODOOODOODOO
gogodgbbboooooooobobobbbbbbobobboooooouooad
ggbobobooobbboooon

e NOUOOODLODODO

e U OOOO

goodoooooooobbbobbbudoooooooooooooooggd
gogbobobboogoobbboooobouoooobobobooooboo

>>> x =5

>>> y =6
File "<stdin>", line 1

y =6

IndentationError: unexpected indent

goo000ooooooboooooooobooooooooboooooooboon
gooooobbtoyuouobobbbbbbbooooooooo
Oo00ooooooooooogooooooobooooooogooooon
oo boobooboboboobooboobooooo
Oo0oooooooooooooooooooooooooooooooon
ooooouooo
SNRg, = 1010g,o(Psignat/ Proise)
00000000 PythonOODOOOOOODODOOOOODOOO

import math

signal_power = 9

noise_power = 10

ratio = signal_power // noise_power
decibels = 10 * math.loglO(ratio)
print (decibels)

gogbboboogoobobobooounobog

Traceback (most recent call last):
File "snr.py", line 5, in 7
decibels = 10 * math.loglO(ratio)
ValueError: math domain error
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gbobogdbouodbboobboobbuoobboobobooboboooboon
U0 ratioU print U0 OO OUOOOUOOOOOO0O0O0O0O0OOOOO0O0O0OO
gododoo4ddddoooouoooooobobobbbbbboboobobobn
gooobbbbodouduoooooooooobboobbobobbbbbbbo
gooobod
gooooobbobbbbbboduoooooobbbbooooooooo
gboogdbbodbbodbboobbodoboodmboooobbonoon
gboboodbboodbbodddibibddomain error OO0 DOOOOOO0O
gobobbooooobbbooooobobboooomma

5.13 0O

OO0O0O0000OFloor division[l 0O O0O0OO0OOOOOOOOOOOODOOO
O0000o0ooooo(oos//3 -> 10-5//3->-2000

O0000000Omodulus operatorl] 0000000 DOOOOOOOOOOO
oo0oboooooboboboooooboboomyooooooog.

O0000O0O0OOboolean expressionl] U000 OO I0 TruedOO O I Falsel
ooooooooo.

0000 0O0Orelational operators(I] 00000000 0DO0OOMMOOOOO0O
O0000000==0'=0>0<0>=,000 <=0000.

O0000O0Ological operators[I] DD 0000 OD0O0OO0ODOD0OOOOOOOO
and,JorJ 00O not i,

00 0O conditional statement(l] OO0 00000000 OOOOCOOOOOO
ogoo

O00Oconditiont] DO0O0O0OO0OOO0OOOOOO0ODOOOOOOODOODLOODOO
gboobooogn

0000 compound statements[[] 000000000000 OOO0OOOOO
ooobobooooooo: 00000000 oooboooboboo
gooood

OOO0OODObranches[l DO OO00O0O0O0OO0OOODOODODOOOOO
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O0OO0OO0OO0O0O0Ochained conditional Il OO0 OO0OOOD0O0O e1ifO0000O0O0O
og0Oooo

OO0O0O0O0O0O0O0O0Onested conditionalstD OO0 OOOOOOOOOOOOO
oQg

OO00O0OOrecursion DOOOO0ODOOODOOODOOODOOODOO
O00O0O0OObase case[l] DO OO0OOOODOOOOOOOOOOOOOOOOO

O000000Oinfinite recursion] 0000000000 0OOOOOOOOO
00000000 Oo00oOo0oooo0ooooouooouooooo

5.14 0O0OOO

goddsltimeJ0000OOOODODD timeJ 0000000 DODOOOO0O
gogbobobbooobbbbooooobbboooobbboooobobobuNIxd
googogi197od101go0go

>>> import time
>>> time.time()
1437746094 .5735958

oo boooooobbbobobboboboo
ggobobboooooboobooooon

gboogds200db0boobooboooboboboboboboooboon ab,ed
gogbobobodood

a + 0" =c"

U
gdbnbO200000000000000

1. 00000 a,b,c,nO0O0OO0O check_fermat DO OOOO0OOOOOO nO
200000000
a + 0" =c"
0o oooooooouooooooooooooooooono
Odooooouoooooooooooon
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2. 0000000000 a,b,e,ndgdobbbooobobobooooooon
U0 check fermat U U OO OOUOOOOODOOO0OOODOOOOOOOO
gobobooogooboobod

goboobs3duubobbbooouobbbooooobobboooobobn 12
gooobobobboooodgl1obobbbbbooouoboddgoooooog
gooooobobbbbbbbbtbdddddddoddooooouuugda
gobobobouooogobooood

goooboobbbbbbobbobooooobobobobbbuooooooooon
gboboogbodgbbodgbboobuoobbuoobbuoobbuoobboaabn
goobooogooo

1. 00bbodbbodbDbistriangleJ0U0O0OO0OOOOOOOOO0O
UO00bO0boboooobobOOtyes"D print 000000 "no"O
print U O[O

2.000000000D0O0ObO0ObDbDObOO istriangled 0000000
gbooobooon

gbobbs4000000000O0ODOUOOO0OODODODOOODLODOOO0O0O0
gooboooooboobood

def recurse(n, s):
if n ==
print(s)
else:

recurse(n-1, n+s)

recurse(3, 0)

1. 00000 recurse(-1, )0 OO00OO0OOOOOODOO

2.000000b0bbbduooobobboooobboobbbbuooob
gooobod

Uobobooooo400 turtled0oogoogag
gboodgssbugbugobooogboogbbodbbooobooabn
goboboooobobobooob4bbboooobod
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def draw(t, length, n):

if n ==

return
angle = 50
t.fd(length*n)
t.1t(angle)
draw(t, length, n-1)
t.rt(2*angle)
draw(t, length, n-1)
t.1t(angle)
t.bk(length*n)

g s2.00000.

gboboogsebgbbodos20buooobooooboooboibbe«0000
gogbobobboooobbobboooooboboooaon

1. z/3000000000000
2.600000
3. x/30000000000ODODO
4.1200000
5. /3000000000000
6. 600000
7.x/3000000000000

b0 300000000000 c000000DOO0OO0OO

1. turtleJ 00000000000 kechDOUOOOOOODOOOODDOOO
gobobobooogoobooon
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2. 00 snowflake OO O OOO00DO0O0ODOOODOOOODOOODOODOOODOO
OoOooooo
OO0 0O0Ohttp://thinkpython2. com/code/koch. py.

3. J0000O0o0O0obOOoboDOobDOoDbOobOobo
http://en.wikipedia.org/wiki/Koch_snowflake DO OO OO OODOO
000000000000 00oooooo
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el ULOUOUOOOO

OO0o00oooooobooooooog pythonODO00O0O0OO0OOODOODOO
gboboobooobogoboooobooobboogbvidb oo
0000 print0UturtleJ0000O0OO0O0O0OO0OOOOOO0O0OO0O0OOO

gobobooooobbobooooobboboooon

6.1 00O

goooooboobobobbbobbbuodooooobboobobobbobobbn
goo

e = math.exp(1.0)

height = radius * math.sin(radians)

gboobodbboobbodbbodbvviddbogbooobooooboon
gbbobougddNeneldgooonoooog

bOoodbbaareal000000oooooooboooobooooooon
gboobooon

def area(radius):
a = math.pi * radius**2

return a

returnU 0000000000000 00000000return 00000 gn
gogobbbbmoooobobbbbbidooooooooooooon
goobobooobbobooodoboboooooboobbooooon

def area(radius):

return math.pi * radius**2

O00O0Oa000000O0O0OOtemporary variablesd 000000000000
OO0o0ooooooood

O00000000return 00000000000 ODODODOOOOOODOODO
OO000D0DO0D0DO00oOoooooooood



82 gell ODUOOodoOoOO

def absolute_value(x):
if x < 0:
return -x
else:

return x

U000 return 000000000 0return 0000000000000
U000 return 0000000000000 OO0OODOO0OOOOOO0OOO
gbbodgbbbuodidibreturnogdooooboooobboobbd
Oboo0bdoobuoobduobddbiddead codeU D OOOOO
gbobbooooobbbuoooobbbooooobbbuoodd return
gogbbobooooboboboooooo

def abusolute_value(x):
if x < 0:
return X
if x > 0:

return x

gobbobbouogobxgbbbbododbbbO0oU0bbl return 00U
gbobogboobbuogbobuoooboditb recurngdoogooogoog
U00db0U0ONone D OOOoOOonoonog

>>>print (absolute_value(0))
None

Python OO DOODOODOODOODOOOOOOOD absOO0OO0OODOODOODO
gboboobbogbbuoobbooobbuoobbdxdybbooooob x >
yOoOoOoodod1i0x=yQOOOuooUx < yUOOOUO-1O4oooooooo

6.2 U0O0OO0OOO

gbgboboboobogbbboobobobboboobooboobobo
J00boboo0obo0ob0boboo0ob0bO0obUUbUdincremental devel-
opmentUU 0000000000 OO0OOO0O0OOOOOOO0OOOO0O0ODOO
gobbboooooboboboooobboooobbobbooooobobooboa

gbobbbouooouooobbbo o bbuooooobbbuooogoooo
goboobooogn

distance = \/(1'2 —21)2 4 (y2 — y1)?
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O0O0000D0000O00distanced PythonODO O OO OOOOOOOOOOOO

gboboboooobbboooobboboooobobooobobobbog
gooooobbobbbbodoooooooooobboboboboboobooobobo

gbboboooobbbbouoooobbbod
gbobobobooooobobooooon

def distance(xl, y1, x2, y2):
return 0.0

goooobobbobbobobbbbbbbbbbobobbobobbbobbdouougd
gooobobobboboboobbbobbbbbbbooodooooouooooa
gobooobooodan

gobobooogoobobodan

>>>distance(1l, 2, 4, 6)
0.0

gboboodbbg3pobboobbu40bboobboobbouonooboo
gogobobobiobbsbbboogooooboobbbbbbbbobbbbn
goobooo

gbobddbOdistance U0 0OOO0OOOO0OOOO0OOOO0OO0OODOO
gbobobboooobbobibooooobboooobbboooonobo=x2-x10
gbbob0O0dy2-y1dggogooobuooogono

def distance(x1l, y1, x2, y2):
dx = x2 - x1
dy = y2 - y1
print(’dx is’,dx)

print(’dy is’,dy)
return 0.0

OO0Oo0bOOobobOobDbObDYdxis3"0dyis4’000000O0O0O0O0O
gbobbbudgdaxUdaynoobooooobbobogn

def distance(xl, y1, x2, y2):
dx = x2 - x1
dy = y2 - y1
dsquared = dx**2 + dy**2
print(’dsquared is: ’,dquared)

return 0.0
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gboogbdoobobboobuodboobbobobobbdbddid math.sqgrt
gogbobbobdd return g

def distance(xl, y1, x2, y2):
dx = x2 - x1
dy = y2 - y1
dsquared = dx**2 + dy**2
result = math.sqrt(dsquared)
return result

gogbbobooogobbbuooodbbbuoooooobbbodil result
Ureturn 000000 0OO0O0OO0OO

gooobobobbobibbbbbbbbOb0print000O0OODOODODODOOO
gobobbboogoobbbidderintd0bo0ogooobboboooon
O00Oscaffoldingl D000 000000000000 print000000OOO
gogbbobbooooobobobodgbobobbooooboboooooobooo

gooobobobbbbbbbbbbooogooobbbbbooooooon
gogodobooboobbbbbodoooooooobobbbobobobbooooo
gogdgoogooobbobbbbbbbdooodoooooooooon
goon

gbobboooobbbbouoooobbbooogoboo

l. ogobbobbooooobobooooboooobobooooboboo
goobooooobbbooooboboboooooobooaon

2. 00g0booobobodbbodboobbuoobbuoobbooboboo
gobooo

. 0ugoboogoboooboooboobboooooboooboon
gobodbbodbboouoobobuooobooobooobooooboo
gobooo

gogodooooooobobbbbbbbtbdddoooooooouuuoua
UbbodbbO0dhypotenuse U UL DOUOODDODODOOOOOOOOOOO0O
ggobooobodd

6.3 UOOOO

gooboboobobbbbbbobbbooooooobbbboooooooon
O0o0booobbooobuoobdoubUddbUdcomposition 0000
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gooobobobbbbdoddoooooboobobbobbooooooooobon
gbboboooobbboooobbbodaoo

U0 xcOycOUOOODODOOOODOOODOOOOxpUxpUOOOOO0OOOOO
gbobbooooboboobbbouoobobbbuooobibibdradiustl
goboboboooobobbbOdd distanceJO OO

radius = distance(xc, yc, xp, yp)

dododoooooboboooddd areal 000000 0oooooooooood
result = area(radius)

dooooooooooooooooaaa

def circle_area(xc, yc, xp, yp):
radius = distance(xc, yc, xp, yp)
result = area(radius)
return result

radius U result UU U OO OOUOOO0OOODODOOOOO0OOODOOOO0OO0OO0
gbobobboooobobobooooobbbbooooobbbouooooba

def circle_area(xc, yc, xp, yp):
return area(distance(xc, yc, xp, yp))

6.4 UO0OOQOoOnO

gooobobouuoggooobbbbbbbbobbuouoooooobn
gooboooobooo

def is_divisible(x, y)
if x % y == 0:
return True
else:

return False

godbdbobobobuboobobobobobobiobibOl isdivisible
UxUOydUOOoobDOoODODOOOOO0ODD Truel FalseOUUUOUOOOODOOOO
gooo
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>>> is_divisible(6, 4)
False
>>> is_divisible(6, 3)
True

gboboboooobbbboooobbbouoooobbboooobo

def is_divisible(x, y):
return x % y ==

goboboogoboboboooobboboan

if is_divisible(x, y):
print(’x is divisible by y’)

gogbbobuoooobbobuoooobbobon

if is_divisible(x, y)==0:
print(’x is divisible by y’)

O0000O00ooo00ooooon
O000000O0D00D0O0D0O0OD0 is_between(x, y, z) 00 O00OOOOO0O
r<y<zUOUOTrueUODOODOUOUOOOOOOUO FalseO O OO

6.5 UOOOOOO

Oo0ob0oboob PythonODOOOODOOOOODOODOODOODOOODOODODO
gbbogbbuoobbuogbuooobuoobobuooobooobooobooon
goddddgooooobbobbbuodooooobbobbooooooon
godddggguotouotouoduooooooooobobboobbooooooon
OPythonODOOODOODOOODOOOOOODOOODOODOOOODLOOODOOO
ggbbbooooobbbuoooobbbuooooobo

goooboobbobbbooobbbbbbboootdooooooooon
godddgooooobobooooboobbobbbbbbbbuouooobn
gbobogobobodgbooobobboobbooobooobobooobobooba
godgobbbbooooooodoooboouooooooooobooo
000000000000 “Introduction to the Theory of Computation” (Michael
Sipser 1) 0O OO0OOOOO



6.5. DOOOoon 87

gbobodoggboggbooobbobbuoobbuoobboooobooon
gbobogdbbodgbbuoobbuoubbuodgbboobbuoobbuoobboo
gobobbooooobobobooooobobobboooooboboboa

gboboboooobbbbooooobooooooboo

vorpal:ll U vorpal U U U UOUOUOULOODOOOOOOONO

gobobbooooobbboooobobobooooobobooboa
gooobbboooogbbbbbbbbbbbbbbooooooooo
goobooooobooboo

ol=1

n!=n(n—1)!

gbobobbooduob1bgobbbibddiUnddl 10000 nbbOO0
gogooobbobbbbboogsigspgo2too2tg200 1oob0gd
OOooDo00DbOO00DoOoOsiO3x2x1x1d0edO0OO
oooboboboooboboboboooobg pythonOOOoooooonO
gbooboooon
gooobobobbdodddooooooooooooboobooboobbbbbbboo
U0 factorial U U UOOOOODOOO0OO0OOOO0O

def factorial(n):
O00000ooUuoUuoUooUUoUoULOUbOUOUOUbOUOUbO1ODOoUOon

def factorial(n):
if n ==

return 1

gooobbbbbbdodooooooobboobboobbbbbbibne-100
gooobbbibnggoooobbbbbbbbbobbbbdoooooooo
gooobod

def factorial(n):
if n ==
return 1
else:
recurse = factorial(n-1)
result = n * recurse

return result
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gobogbobooooboogssuibibdd countdown U OO OOOOOOnN
ggb3bbuoogbbbuoooobbbooognbo

sbobibbuuobbbbuudibtUn10b0O0oOoonbOn
gd20odduobbbododobbbbn10obbDbOoOd
ggbbi1bo0bbbuoodbobbbuddtUn-1000000000
gbobodgbobogbbooouobboobbbob1boobboobobn
gobbbO00d10recurse00U00OOOn0OO010000O0000 10000
0000 10recurse0 000000 n0 00 200000000 20000
b 20 recurseJ000OUO0O0 000 3000000060000

goddooooooooooooooon

el100000000O000O00O000O0O0ODODDODOOOO0OO0OO0O0OO
O0o00dododododooooooboobooooUdUd result00oognO
O0o00o00ooooobooooooo0ifddoonooooooooobooooa
recures U result OO OOOO

<module>

(]

factorial n—= 3 recurse —= 2 result — 6

N

factorial n—= 2 recurse — 1 result — 2

[EnY

factorial n—=1 recurse — 1 result—1

[EnY

N AN AN AN/

factorial n—=0

gel:00000.

6.6 U0OOOOOOOO

gooooobobobobbbbbbbbddooooobbooobobobbon
gbbouobbuogbbooobboogbbodbboobboooboooon
goodgoooobobbbobbbotbdooooooooooooooooo
gogbbbbooooobooooobbboooobobooo

guboboodboboubobduobdbobiddl Omath.expl math. cos
goodddooooobbbbbuodddodooooooooooooon
ggbbobooodgbobbbuoooobouooobboboooobon
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gbobobboooobbobibooobudgted4ddnnbbO divisibled DO OO
gooobobobbbbbbbbbboooooobbobobobobobbbbod
gobobooogooboobod

goooboobbobbbbboobbbbbbbbbbbbbboooouaaog
goooboobbobbbbbbbboboooooodgouuouoooooa
gbuoodoobbtumudn-100b00ggobbbdood bbby
gbobogbboogobbogobobbddibn10d0bnb0gonoboonooboon
gboobooogn

goobobobobobbbbbbooboboooooobboobbbooooooooon
gbobobobooogbbbbuoooobbobooobbbooooon

6.7 UUOUOOOO

U0 factorial JUDUOOOOUOOODOOUDOOOOO0OOO0OO0DOO fibonacci
gboobbooogobobboooooboobobooon

fibonacci(0) =0
fibonacci(1) =1
fibonacci(n) = fibonacci(n — 1) + fibonacci(n — 2)

Ohttp://en.wikipedia.org/wiki/Fibonacci_number OO OO0 OO
OO0 PythonODOODOOOOOOOOODOODO

def fibonacci(n):
if n ==
return 0O
elif n ==
return 1
else:

return fibonacci(n-1) + fibonacci(n-2)

gooooobbobbbbbbobbbbbbbnddddoooobobbO
gbobbbooodmbobbooooobobouoobbouobbboooobbn
gooooobobobbbbbobobobobobbbbbbobbbbooooooooboo
goo
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6.8 0UOUOOO

U0 factorial DO U OO0 1.5000000000000000O00

>>>factorial(1.5)

RuntimeError: maximum recursion depth exceeded

gogoddoooooobbobbbodoooooboboboobooooooouad
gododdddgbooooooooooooooobbobbbboooooogag
ngdddddddddoooodooddodooooooooon
ERERE
gogooobobbobobobobobobanbbObobbb0O0Oood-0.50000
gobbbuoggdbbn=000goboo
o0o0bDooodoobbobioodbiDO facterial JOODOOOOOOOOO
gogdogggoooobbobbbobbobboobbbbbbbooooooon
gogodoogobooobobobbbbbbbobbbbbododdoooooooboo
gogbobobooooon
O0boodbboodbbodbudlisinstanceJO0UOOO0OOOOOOO
gogbbboooobobbbuoogobuoooobbboooobbobo

def factorial(n):

if not isinstance(n, int):
print(’Factorial is only defined for integers.’)
return None

elif n < O:
print (’Factorial is not defined for negative integers.’)
return None

elif n ==
return 1

else:

return n * factorial(n-1)

gbodgboobobboboobuogboboobobboboobogbod
goboggobbboooobbobiboodbbioodbbbo0odUuli None
gogoo

>>> print(factorial(’fred’))
Factorial is only defined for integers.
None
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>>> print(factorial(-2))
Factorial is not defined for negative integers.
None

gbobobobouooobbbododibnbbbobuooobbbbbbuooon
gbobobooooobbbooooobbbooogooo
OO0b000bo0ooobobbodblguardianD 000 O0O0OO00ODOOODO0O
gogobbouoduduooooooooobbbbooooooooboboon
gboobooooobbbooooobobobod
1n40oooobogoobooboobuoobooobooboooboooDbon
goobooogod

6.9 LUULOOUon

gooooobobbbobboboobbbbbbobooooboooooooooon
gooooobbobbobbobobbbobbobbobbbbbboboooooaod
gobobooooobboooooboa

e OO UUOODLODLDOOUOODLODLDDOOUOOO
e OO UOOODLDLDDOOOOO
e JO0OUOOOODLDDDOOOOODLDODO

gbobobooooobbboooobbbperint0000oonbbobOOooon
gooobbbbobooooooubobobbddddooooooooooooboo
gbboodguobbugbbuoobobuoouubibtdreturn00ognooog
gooobobbooooooooooobobbbboboobooogooooooad
gbobboogobbbuooobobuooogbbbde2000gin
go0bobb0odb print 00000000 ODOOO0O0OOODOOOO0OOO
UOb0DbD0000dbin facterial U print DU O UOOOOOOOOMO

def factorial(n):
space = ’ ’ x (4 * n)
print(space, ’factorial’, n)
if n ==
print(space, ’returning 1’)
return 1
else:
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recurse = factorial(n-1)

result = n * recurse

print(space, ’returning’, result)
return result

O0spacel0000O0OOOODOOODOOODOOODOOODOfactorial(s) 00
goooo

factorial 5
factorial 4
factorial 3
factorial 2
factorial 1
factorial O
returning 1
returning 1
returning 2
returning 6
returning 24

returning 120

gbuodgbooobobboboobobobbbboboobuooboobobo
gbbogbbogobbooboboobobooobooobboobobuoonobo
ggbbobooodgbobobobuoooon

6.10 0UO

O00000Otemporary variablesl 00000000000 OOOODOOOO
OOooooood

O00O0O0Odead codel DUOO0O0OOOOOOOOOOOOOOODODOOreturn
gboobobooooogoboo

00000000 incremental development[(I] 000000000 O0O0O0O0O
OO0o0O00oOooooooooood

O000DOscaffolding(ll OO0 0000000 O0OO0ODOODOOODOODOOOOODO
gobooog
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O00O00Oguardian D0 000000000 OO0OOOODOOODOOODOO
gboobooogbbobod

6.11 0000

gbbode.lrbugobuooobuooobuodbboobuoobbuoobbon
goobooogoboood

def b(z):
prod = a(z, z)
print(z, prod)
return prod

def a(x, y):
x=x+1

return x * y

def c(x, y, 2z):
total = x +y + z
square = b(total)*x2

return square

x =1
y=x+1
print(c(x, y+3, x+y))

U000 6.2 Ackermann U U OO 0OOOOO0OOOOO0O

n+1 itm=20
A(m,n) =< A(m—1,1) ifm>0andn=0
A(m —1,A(m,n—1)) ifm>0andn >0.

O0O0O00O0OO0D00OD0OO http://en.wikipedia.org/wiki/Ackermann_function.
O0000000Ackermann JO0O00O000D00D00O ackOOOOD0OOOOOO
ack(3, )00 12500000000 n0 n000000ODO0ODOODOO
O000Ohttp://thinkpython?2. com/code/ackermann. py
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gbdbe300D0000OD0OO “noon”U ‘“redivider’d 000000 0OOOOODO
gbuodgbooboboboboobuogbbuoobooboobuooboobon
gbobooboboobgobooobooobbooobboonoboooboon

goooboobbobbbbbbbbboooooooobboobbbbbbod
gogobobbooooooo

def first(word):

return word[0]

def last(word):

return word[-1]

def middle(word):

return word[1:-1]
O000O0000oQooOosoUuouoooooooon

e DD DDOU palindrome.py U DD DODODODOOOOOOOOOOOO
middleJ 000000000 O0OO0OOOO0OOOOOOODOOOOLDOd
Ooboobooobooboooooooroboboo

e JUUDOUOOUDDOOODN is. palindrome.py U U OO UODODOONO
oooobobobbobbbobob0D Truel 00000 FalseOOOOO
DO0O0000D lenJ0OonoooOOoOoOO

OO0 0O0Ohttp://thinkpython2.com/code/palindrome_soln.py.

O0d0De40000 00000000 OPODODODOODOO /0000
gogobobododvsdobbobogd

bbb abpbddbbispower 00O OOOO0OOO a0 0000
gobobbDO Truedd OO0
ggboboooobbbooodon

0000650000 000000000GCDOOOOOOOOONOOOODN
0000000000000000000000
00000000000000000000000000000000 a0b
0000000000 r00000ged(a,b) =ged(b,r)000000000000
000000 ged(a,0)=a0000



6.11. 0000 95

0000 a0pddbbodbbdgcddbbU0nooonooooooon
gbooboooon

O00000D00DODOAbelson and Sussman, “Structure and Interpretation of
Computer Programs”0 O O O
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70 O4O0o0O000

gooobbobbbbbbbbbtbdodooooooooooooooboobon
gboboodbbogbbogdgssugbbuoobobuoobobuooobuoooboo
42000 for00D00DO0ODOOODOODODODOOODOO0ODO whileODODOOO
gobobbooooobobbobuooooobobooooobobobodao

7.1 0000

goooboobbbbbbbbboogbooooduoooooooooooo
goooobbbbboboboooboouogooogobboobooooouaod
gooboogam

>>> x =5
>>> x

5

>>> x =7
>>> x

7

O00x00000000DO0sO000D0ODbOO0ODbDObOOODOoOo7TOobOOOOO
710000000 multiple assignment] 0 0000000000000

TR
\7

071 000.

OOoOooobooooooobooooouoobboooooobbobooggdPython
gbood=00bodbbudbbUbUe=pddbbooobuooobuoobbod
gooobobbboooooooboobbbbbbbobobbbbbobobbbd
O00000000e=707=e0000000O0PythonDOOOODOOOO
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gbobobooooobobobuobouobuoodbe=000e0b00000O0O
OO000OPythonOOOODOOOOODOODOOOOODOOODOODOODDO
gogbooboogoobooo

>>>
>>>

5
a#allpbU0o0ooooog
#al pU0O0OODOOOOOO

>>>
>>>
5

o T W

gbbbdabbogobtodvgbboobboboooobbuoobboo

gobooo
gogooboobbobbbbooobbbbdoddduddoooooooon

ggbbobooogobbobuoooobbbbdoooon

7.2 0OO0OO

OO0b000b0o0oooboobboobObupdatel D00 OOoOonDOoOonOOnQ
gogobobbooooooo

bbb mMxbobbodo1ggoobbbxbbodgoobobboooom
OO0o00oobooooobooOPythonOO00OOO0OoOoOoOoOoOOODOODOO
gogobobooooooo

>>> x=x + 1

NameError: name ’x’ is not defined

O0000000b0O0bb0ob0O00O00mitializell DO000O00ODOODODOOO
ggoobodgd

>>> x 0

>>> x x + 1

OoboobDi1000000bo0bboooooboUbbincrementd 01000
J0ooboooboobddbUdecrementd D000 O00OO0O0OO0O0OOOO
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7.3 whilel]

gbogbbogbodgboobobbobogbuobobboboooban
gbogoboboobodboobobbobooboobooboboboobn
gobooobooodon

OO0 countdown U print n U OO0 OODOOOOOOOOOODODOOO
OO00O0DoobDooooboodboboobbiterationD D00 00O0OOOOO
O0ooobobodPythonODODOOODDOOOOODOOODOOODOODDOODO
obooob42000000 for000D0DO0ODOODOODOO

0000 whileOOOUOOcountdown [l while DO O ODOOOOOODOOO

def countdown(n):
while n > O:
print n
n=n?o<vl1
print(’Blastoff!’)

U0 whileODDDODODODOODODOOOOO0OO0OUOUOUOMn0o00O0O0OO0OOOnO0O
Ub000U0n0d001000D00000dob0b00Onn Blastoff! DU OOO
EREREN

gobobo0ddwhileOOOooooooooooon

e JUULULOODOODLODLDOOOO
e 00U UOwhileUOUODODODOUOUOOOOOODOLODOOOOODLDODO
e DU UOwhikeUUUOUODOODOUOOOOODODOOO

OO00O0oobOoboboodbDleopt OO g

gbogoboboobooboobobbobobnooboobuooboobo
OO0000oooob0obOoboboobo0bO0bobO0ob0bd0UU infinte loopdd
gbbgooboooobbooouobmoboobobooobooobobooooboo
gboboboooobbbboooobbbbuooooboboo

U0 countdown U 0 OO0 nU00O0O0O0O0D0OOO0O0OO0OOOO0n0O000
gbbboodgbodobbboooubbon

goobooooobobodan

def sequence(n)
while n != 1:

print(n)
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if n¥%2 == 0: #n0O0O0O
n =n/2

else: #O O OO
n = nx3+1

000000000 '= 1000000000100 0000000O00C00O0OO
ogo
000000000000 000000000D0OOCO0O0ODDOOO0ODODODO
OOn020000000000000n000m3+100000DO0O0O0ODDO 3
gooooooooboobobobobboob s,10,5,16,8,4,2,1 0000
nJ00000000000O0O000DOCOO000OODOOO0OoOoDOab 10
0000000000000 DO0O0O000DO000oOoODO00O0OOnn 20
O000ooDOoO0oOn0obO0OO000oDCOOoO0obODbObOobODObOe0DOOO
O00oopooooood
OO0O000D0OO0On00O0000000O0O0OO0ODOODOOODbOODDbOOD
0000000000000 0o0oO0oo0oD0oDOo0ooDOoDoOooOooo
Oo0ooOooDo
O00O0Ohttp://en.wikipedia.org/wiki/Collatz_conjecturel
OO0000DO000C0 printn00000O0O0O0OOOOCODOOCOODOO
oo0ooooo

7.4 0O0O0O0O

goooboobbbbbbbbbboogoooobbbbbooooooon
gobbbboogoobbbuooubugdibereakdggonoooooon

UO000dene oo ouooobobuooobboogn
goggooboboooooobooa

while True:
line = input(’> ’)
if line == ’done’:
break
print(line)

print (’Done!’)

gobbobbouoogobbbooobuogdbvrreak 00000 oonooOog
gododoooooooobbbbboddooooooobobooooouadad
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OdoneUUOUOUODOODObreak 0O OUOOOOODODOOOOOOOOODOOO
gbobobobooooobbbooooobbbooooboooon

> not done
not done

> done
Done!

OO0 whileOOOOOODOOOODOOOODOODODODODOODOODOODODODOO
gbboggbboogbboomboobbogbuoobbuoobbuoobboody
gbobobooooobobbooooboboooan

7.5 OO0

goooboobbbbbbbbbtbodoooobbbbooooooooboo
gboobooogooo

goooboobbbbbbbobobbbbouoogoobbooboobibd eld
gooobobobbbbbbddddddd dooooooooououggd
gbobobougdydboood

_z+alz
2

O0b0D0D0a0400x030000000O0O0O0O00OO

>>> a =4

>>x =3

>>>y = (x +a/x) /2
>>> y

2.16666666667

D000000000+4=200000000000000000000000
gobobbooooobobooooon

>>> x =y
>>>y = (x +a/x) /2
>>> y

2.00641025641

gbobobooooobbboooooboboaon
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>>>x =y

>>>y = (x +a/x) /2
>>> y

2.00001024003

>>>x =y

>>>y = (x +a/x) /2
>>> y

2.00000000003

gdoddgoooooobbbobbuoddoooobboobobbooooooo
gogbbooooobboboooobbbooobbboooooboboboon

>>>x =y

>>>y = (x +a/x) /2
>>> y

2.0

>>>x =y

>>>y = (x +a/x) /2
>>> y

2.0

U000y =x00000000O0DOOOOO00O0DOO00x0b000b000
gobbbuoooobboboooooobon

while True:
print(x)
y=(&x+a/x) /2
if y == x:
break

X =Yy

gbgbobobbodabobbogbuogboooboboobuogboobon
0000000000000 000OoOo0o0ooOoOOo0o0DoOoOoOOoooOooOL/3
0000000020000 00000000000000000000000

000xU0ydObhoooobooobooobooooobooooboboooboo
gogdgboobobbobobbbbbbuodooooooooooooooooon
UabsOOOO

if abs(y-x) < epsilon
break
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OO0 epsilon 0.0000001 000000 OOOUOO x,yUOUOOOOODOOOO
goboooog

7.6 UOUoOogg

OO0bO0ob0oboobooboobdbalgorithms OO0 O0O0OOOOOOOOODO
gbobobooooobbbooooobbboobbobuooobobbboooom
goooboobbobbbbbobbbuogooooobbooobbobobobn
gboboodbboobbuoobbuooobuooboboobbuoobbuoonooboo
goooobobbobobobbbbbbobbbbbbbbbbbobbbgilcondod
gooooobobobbbbbobbbodguouuoooooboobobbbbon
gbooobog
goooboboooooogoooobbbbobbooooooooooobooboo
gbodgbbobdbogouuobbtdanggbbogbbuogboooboon
U00n-10000001on00000DO0OLODODOOOLODOODLOODOOOO0
gbobbdngbuodboobobboooobugboboboboobogobd
gooobbobbbbbbbdddddddooooooooooooooo
gooobobobbbbbbbbboooooobbobbbuouoooooooo
gobobooooobbobooooobbboooobboboooon
gooobobbbbbbbbbtboodoooooooooooooobbn
gobooboboboogoobobbooooobbbouooon
gooobbobbbbbbbbdooooobobbobbuouooooooobn
gboboodbboobboobobooobboobbuoobobooobooon
gogobobbboooboouoouuuooooobobooaooooobobon
gboboboooobbbuoooobobuogooooboobogoa

77 o Uooogd

goooboobbbbbbbbbuobbtbdooooooooooooonoo
gooooobobbbbbbobbobbboogbboboobooooboobbbbbon
gbobobooogooo

gbgoboboobodbmobuogbobooboobobboboooobo
loobogbobobobbooubbbobooboilcobobbooboobagoo
goooboboobobbbbbbbbbbddodoodooooobDD print
gobobbbbbobobbobbbbuouooooooooobooobobobbbbobo
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gbobbogboobooobooobboobboobboobboobbooboba
ggbboooobbboooobboboooooobooo
gbbggbbooobbodbouobboobboobiooobboobbo
gogbboooobobbbuooobbobooooobobuoooon
gbbomogoboooboobobuogobuogboboooboooobooboo
goodgooogooobbobbbuououoouououuoooooooooo
gboobgobooboboooboooboooobooboooobooboboo
ggbbobooodgbobobboobbooooobobbuoooon

7.8 U0

0000 0multiple assignment[] 0000000000000 OOOO0OO
OO0o0Oooooooood

O00O0O0updatell DO0OO0OO0OO0OO0ODOOOODOOOOOOOOODOODOO
U0 00Oinitializel 000000000000 OOO0OOOOO0OOOOODOOO
000000 Oincrement ] OOO0OO0 1000000000000
00000 Odecrement[l] DOOO0O 10000000000

gbOddbOUdOiterationl DOO0ODDODOO0OO0OODOOOOO0ODODOOOODOO
gbooboooon

O000O0OOinfinte loopll OO0 OO0OOO0OODOODOOOOOOOOODO

O0O0000D0algorithms[M] DOOOOOOOOODOODOOOOOO

7.9 QOogo

gobobrarsddboboboogoobbbiddtdmysqredddnonoog

gbbuogbbuooudgibbduagbbugbobudxugooogooooog

goon

alO000oouoagg
UO0000bbOodbbOl testesquare_root OO UOODOOOOOOOOO

UO000Omath.sqre U000 ODOO0O0O0OO0OOOO0O0OO0OOO
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a mysqrt(a) math.sqrt(a) diff
1.0 1.0 1.0 0.0
2.0 1.41421356237 1.41421356237 2.22044604925e-16
3.0 1.73205080757 1.73205080757 0.0
4.0 2.0 2.0 0.0
5.0 2.2360679775 2.2360679775 0.0
6.0 2.44948974278 2.44948974278 0.0
7.0 2.64575131106 2.64575131106 0.0
8.0 2.82842712475 2.82842712475 4.4408920985e-16
9.0 3.0 3.0 0.0

gbooodb bogbborsbbogobbogoboooboooboobuoon
math.sqrt DO U OU00OO00O0O0O0O0O00OOO0O0O0O0O0O0O0O0O0O000

D000 72000000 ewval0J0000O0O0OO0ODOODOODOOPythonO OO
gbobobbooooobobobooooobobboon

>>> eval(’1 + 2 x 37)

7

>>> import math

>>> eval (’math.sqrt(5)’)
2.2360679774997898

>>> eval(’type(math.pi)’)
<class ’float’>

gbboodbbodbbodbbodbbuobodb evalObbgoooon
gboodbibdeval.loopU OO0 uooonbUd’done’ J0OOOMN
gobobooobooobbobooooobobooboa

0000 7.3 000 Srinivasa Ramanujan 0000000 1/#00000000
ooooodgood

1 2V2 i (4k)!(1103 + 26390k )
™ 9801 (k!)43964%

k=0
O0000OD00D0DO estimatepi 00000000 OOOOOODODOOOOO
while0ODOOOOOOODOOOODOOOOOOOOI0OYO0OO0OO00O0OOO
O000C0Omath.piO0OO00OOO
00 00Ohttp://thinkpython2. com/code/pi.py.







107

U84 O

gbobbougbuoogbbobbbbuooobbbououoogbibdse-
quencel U0 0OU0OOO0O0OODOO0OODODOODLDDOOODDODOOODLOODOOnO
gooobobbbbbbooooooooobobbobobbouoooooooooo
gobobboogooobooooobooboo

8.1 UHUOOOOOOON

godbdobgbobuobuoooooobobobobobobonoooooon

>>> fruit = ’banana’
>>> letter = fruit[1]

UbbDboo0odibD fruit 000000000000 letterddgnnonoog
OO00bO0bobooobo0bbdbindextOOoooooooooooonoo

gbobobobouooogbooboooooboo
goboboooobbbuoooobobobbooogobooo

>>> letter
a

gbboobodbdbDb’ranana’ DOUOOO0O0OObOOOO 000000000
goobbobobobbbbboooobbbiddddouooooooooboboo
gbobbuoooobbobbbbooooobbobogongonon

>>> letter = fruit[0]
>>> letter
b

gbbbOv0OOo00dobbbdbabogoobbbnt 2000000000
goobbooooobobooobobobboooooboboon
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>>> i =1

>>> fruit[i]
7a7

>>> fruit[i+1]

)n)
gogbobobooooobobuooooobbbooobuoooobobobooon

>>> letter = fruit[1.5]

TypeError: string indices must be integers, not float

8.2 1len

gbobbo0d lenddoooooooobobOogo

>>> fruit = ’banana’
>>> len(fruit)
6

ggbbbbooooobbobuoooobbooobobbboooobbobo

>>> length = len(fruit)
>>> last = fruit[length]

IndexError: string index out of range

gbbodbbdd’vanana’ DOOO0O0OOO0DODO0O6O0O0OOOOOOO0OO
gogoddgbobbooooooobbbbbbbbosbbbbbuouoouoa
U0 length U0 1000000000

>>> last = fruit[length-1]
>>> last

)a)

U

gogooboobbbbbbbobboooooobobobobbobbbobobobon
O00D00000000D0freit[1] 0000000000 fruit(-21 0000
gogboobooogn
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8.3 forUUUOOOOOOONO

goooboobbbbbbobbbooooooobbobbbbbbbbbobn
goooobbboboooooobobbbobobobobobbbbooooooobooboo
OO0000oooobOobobooogbobOtraversalD 000000000
bob0bo0odddwhileddOdoooooooon

index = 0

while index < len(fruit):
letter = fruit[index]
print(letter)

index = index + 1

gooobobobbbbbbbbboooooooobooboboooooooaad
[0 index < len(fruit) OO 0O UODO0OOODOOOOODOODOOOOOOOOOO
goooobooooooooooooobobbbbbbbboooooooooboo
goboooodg

gobooo forddgbbobooooonbobo

for char in fruit:

print(char)

0000000000000 00000000000 char0000000O0OOO
OO0000O0DO00od0oooooooooood

O0000D00000D0 for000D00D00D0ODODOODOOOOODOODOO
O 00O Robert McClosky 0 0 O “Make Way for Duckling’O 000000000
O00D00000000 JackOd Kackd Lackd Mack Nackd Ouackd Packd Quack
OO00000D00000oooooooooooooooog

prefixes = ’JKLMNOPQ’

sufix = ’ack’

for letter in prefixes:
print(letter + suffix)

gbooobog

Jack

Kack

Lack

Mack
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Nack
Oack
Pack
Qack

gobobobbobboooobbbddboack QackD OO oooon
ggbbobooobbbuooooobbbuooogbbbbuoooon

84 UU0OOOOOOO

OOOoobobobobobslicel0000bOOo0obOoOobooboobOonobo
ggooboobooooon

>>> a= ’Monty Python’
>>> print a[0:5]
Monty

000 mm] 000000000000 000000000000 0O0O0OO
gbbobbuoobbuodgbobooobboobboobboogs1ugoobooo
gogoobbbobbobobobobobbboodooooobbobbooooougada

index0123456

gg8l:0b0uogogooood

gbobogbuodgbboobboobbooobboobboobbuoobboon
ggbbobuooogbbbbooooobobuoooobobobogo

>>> fruit[:3]
’ban’
>>> fruit[3:]

’ana’

O0booooooboooboooooboboobbooboobDdd empty stringd O
ggogoboboboooobobobooon

>>> fruit = ’banana’
>>> fruit[3:3]

)
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gooooobobbbbbbobobbbbdoddgoooobbbbbuooouooa
gobobooooogooo
OO0O000O0 fit(:]00000OO0O0OO0OO0O0ODOOODOOODOOO0

85 ULULOUOUOOO
0000000000000000000000000000000

>>> greeting = ’Hello World!’
>>> greeting[0] = ’J’

TypeError: ’str’ object does not support item assignment

gboodbboobuoggboomogboogbooobboobboobn
O0000b0bOO0bOO0bO00b00bdUbobjectb0b0bOnDOonoooboOonO
gboggbobbbouoooobbbodlio1od

O00bO0bobooobo0bobobo0bdlimmutabled D O00O0OO0OOO0O
gogbobooobbbbbbbbouoooooboooboobbbbbbbo
gooboboooogooo

>>> greeting = ’Hello, world!’

>>> new_greeting = ’J’ + greeting[1:]
>>> new_greeting

’Jello, world!’

bOoodbbodbDegreetingUU0DODUO0OODOOOOOO0OOOOOOO
OO0 greetingU OO ooog

8.6 U
000000000000000000000

def find(word, letter):
index = 0
while index < len(word):
if word[index] == letter:
return index
index = index + 1

return -1
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Ob00b00dC0findd JOO0O0OOODODODOO0ODOOODOODOODOODODOO
godddooooobobbobbbbbibooooooooooobboboobon
gogbbobooobbbboood-1boao
gboobboobbuodbibUdreturn U0 0OO0OO0DOOOODOOODODOOOO
0 word[index] == letter U 0D UO0ODOO0ODOO0OOO return 000000
gogbobuoooobbbbooooobobbuoooobobbooobbbo-100
gobooodgd
gbbogdboboogbbbooobboobbobidlreturn 000000
gboooboobodbdbOsearchd 00000 OOO
gboodbodbDfind0D0O000DLDOOO0DOOO0ODOOO0DOO0O0OO0
ggbobobbooooobobooooobooo

8.7 UUUUUOOULOUOOU

goboboooobobobboooooboboboooobobobboooooboboo

word = ’banana’
count = 0
for letter in word:
if letter == ’a’:
count = count + 1
print (count)

gdddddidlecounterl U000 ooooooooooonobn
bbb countd OO OOOOOOLOOOOOOOObObOOOOoLOD
ggbbooooobbbooobobbb2’0bbbbooooobbbod

gbobobbododoobobbbdoooobbbibddt count 0oy
goddogoooobobbbbbodgoooobbbooobbbbbobbbobo
count U UOUO0O0OO0OO0DOOO0OO findUUO0OO0ODOOOO0OOODO

8.8 UOOUOON

gooooobbobbbbbbbbbboboooooobobboobobbbbobon
gbobodgboboooboooboobooobboooobobooobbuonooo
gobobbbobodbuwper 00O OOOO0O0O00OO0O0OO0OOOO0OO
gogd



8.8. bOOUoon 113

O000000UOOupper(word) DD OOODODOODODOOO word.upper() U
oogd

>>> word = ’banana’

>>> new_word = word.upper ()
>>> new_word

BANANA

oboogogbbobuddUuwpperldddbboodoobibOdUwordd U
gbboogbodbboobbooboobbuoobbuoobbuoobboabn
O00000000000Oinvocation 00000000000 wordd OO
OupperUdooooogoonon
gbobooobboooboobogibb find00000booboooooon
findU0O0OO0OO0ODOOO0O0O0DOODOO0O0000

>>> word = ’banana’
>>> index = word.find(’a’)
>>> index

1

UO0000wordd D00 findd 00 DOO0OO0DOOOODOOOODOOO0ODOOOO0
oOud find00 0000000000 0O0O00O0O0O0O000O0O0O00O00O00400
goobooood

>>> word.find(’na’)
2

goobobooobbbbbbbbbdodguuuuoooooooooooobo
goobooogn

>>> word.find(’na’, 3)
4

O00D000000OOoptional argument0 OO0 000000000 OOOO0O
O00b000o0obobbo0oooobbbooooooobobo

>>> name=’bob’
>>> name.find(°b’, 1, 2)
-1

goooooboboboobobbbbbbbbbdddoddoooouououougad
gbboboodbob vy uooobbobodgn
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89 in00O[0

00 ingd00ogobooobooobogoboooboooooooon
gogbobobboogdobobobuoddd rvedggoobooooonbooDd

>>> ’a’ in ’banana’
True
>>> ’seed’ in ’banana’

False

gooobbobbbbboooogoooooobbbboooooooon
goooo

def in_both(wordl, word2):
for letter in wordl:

if letter in word2:
print(letter)

gobooboooooooooodPythonODO00OOoOonoOoooOooooooOoO
Ubod fordgbobbogbudboobobboboobuoobonoo
Uddoddbutb print 000000 OOOOON *apples’ U ’oranges’
gboogboooboooboonboo

>>>in_both(’apples’, ’oranges’)
a
e
S

810 UOUDOODO

gogooboobobobobbbbobbboobboooooodooooooooon
goobooo

if word == ’banana’:
print (’All right, bananas.’)

gbobobooooobbbooooobbboooobooboon
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if word < ’banana’:

print(°’Your word, ’ + word + ’, comes before banana.’)
elif word > ’banana’:

print(°’Your word, ’ + word + ’, comes after banana.’)
else:

print(’All right, bananas.’)

PythonOOODOOODOOOOOOOODOOOOOODOOODOOODOOODOO
OO0O00bOo0obOobObOobobOobobOobbOobbdPineappled banana 00O
gbobobooggobbooboo

Your word, Pineapple, comes before banana.

gooobbobbbbbbbbbooooooobbbboboboobbbbbbn
OO0O00000bOb0ObObO0O0bUO0boObDPineapple0000O0O0OODOO
gbobobooooobbboooobbbooooobobboo

811 O0OUODOOO

gooobobbbbbbobbobbbbbbbooououoooooobn
gootdbobbbdddddoododdddddoooooooob b o
00 Trued 00000 O0O0O0O0O0O0OOOODLDODODOOOOOODODOOO

def is_reverse(wordl, word2):
if len(wordl) !'= len(word2):
return False

0
len(word2)

-
I

.
Il

while j > O:

if wordi[i] !'= word2[j]:
return False
i+ 1

-
I

j -1

.
Il

return True
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gogdifguobobobodoouoobbbooooooobobboooa
FalseUUUuouooooooooooobboooooooooooooooon
ggbbobbooogobuodgegbbuoooooboboooooboon

gbibjbooouoodbbibibildwerdiU0D00OjU word20 00O ONO
gobobbboodubobbbuoooobbbibbidd ralseoogond
gbbogbbuoboodgboogbboobbuoobbud Trvetdgoog
gogoboboboodgd

U0 potsU stopU 0000000000000 0Trued 0 0O0O0ODODOO0O
U0b0bDbO000ddl IndexError U0 OO

>>>is_reverse(’pots’, ’stop’)
File "is_reverse.py", line 9, in is_reverse
if word1[i] !'= word2[j]:
IndexError: string index out of range

gogdddoooooobbbobbuodgooouoouuooooooooon
ggbbobuooogbobobbooooobbbuooaon

while j > O:
print(i, j) #OOOOO
if wordi[i] !'= word2[j]:
return False
i=1+1
j=J3-1
O0000O0ooO0o0obooooooboboboog

>>>is_reverse(’pots’, ’stop’)
04...
IndexError: string index out of range

0000000 ;000400000000000000000pets> 0000
O0b000ooboo0bOo0obooooOobboobo0oobooo3oUj;boooDoo
O len(word2)-1 0000

0000000000 O0000o0o0oO0o000n

>>>is_reverse(’pots’, ’stop’)
03
12
21

True
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wordl —= ’pots’ word2 —= 'stop’

i—= 20 j—3

0 82: 000

gboboodboboobbuoobuooboobuooboboooboobboonooboo
gbbobouoooobbbuooodbbbbduodoobbb 820 is_reverse
gbogoboboboobogboobuoobobboboobuooboobonobo
gboboboooobbbbuooobbbbudiibbibdild wordlld word2
goboboooobobbboooobobboooobobooooobooon

gbobogdbboobbuoobbuoobbob iojbuoobbooboobooon
0000 isreverseJUOOOOOOO0OOODOOO

8.12 00O

OO000OO0ODOobjectl DOOOOOOOODODOOOOOOOOOOOOOOOmM
U0OOsequencelll JODOOOOOOOOUOOODOOODOOOOOOOOODO.
OO0O00itemM OOOOO0OO

OO000D000IndexD OO OO0OOO0OOO0OOODOODOODOODODOOOODOO
OOO00OOslicell DO0O0O0OOOODOOOODODODODOOOOOOOO

O00O00Oempty string(ll OO0 000000 O0OOOOOOOOOOOO 0O
gooo

OO000OD0immutable DO0OO00O0O0O0O0O0OO0OODOOOO
OOO0OOtraversalll DO O0O0O0OO0OOOOOOOOOOOOOOOOO
O00Osearchl OO0 DOO0OOODODOOOO0ODOODOO0ODOODOOODOOOOO

UO0O0OUOcounterl DOODODOOOOOUOOUOOOOOOOOCOOOOO0OO0O
gooboooooboood

O0Oinvocation OO0 OOOOOO0O

O0O00000Ooptional argument[l] OO0 00000000 0OOOOOOO0O
oo
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813 U DOUODO

goOooes10000O0O0OooOOoOOoOoDboOoood
http://docs.python.org/3/library/stdtypes.html#string-methods J [0 [0 [
O00D000O0Ostrip0 replaceJ0000O0O00OOO0OODOOOOOOODO
ooooo

OOo0oO0o0obo0ooooboo0oOodoo0ooOooDoUobDoOooOooooboOoo
00000000000 findDOODOO

find(sub[, start[, end]])

ogobobdobobdbbdsww D000 Ostart 0000000 Ostart
gdbbbUendd000OOOO0OO0OO

gobD08287000000 count U UDOOOUODDOODODONO count U0
gboogobooboobbooobbodbbbddrvanana’ DOOODOOOO
ggbbobodfdl2buogoooooo

gogbbs3uubbobuoogobobbbuoooobbboooobooooon
gbobogbobogoboobuoobobbooboobboobbuoobboobo
goobbbb20bbbbbbbbbodoooooooooooooobo
god3boboooobobodd

>>> fruit = ’banana’
>>> fruit[0:5:2]
’bnn’

0000000000-10000000000000000DODoOoO0000 -1
gbbogbbuoobbooobooobboooboobobbuodgbeebind
gobobobboooobbbodd ispalidromeJ 0000 ooogg

ggbobs40ddobobbogoobbbooooobbbooooobboo
godddgoooobbooooogoooobobobobobbbbbbibo
gogboboboogoboboooooboboo

def any_lowercasel(s):
for ¢ in s:
if c.islower():
return True
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else:

return False

def any_lowercase2(s):
for ¢ in s:
if ’c’.islower():
return ’True’
else:

return ’False’

def any_lowercase3(s):
for c¢c in s:
flag = c.islower()
return flag

def any_lowercase4(s):
flag = False
for ¢ in s:
flag = flag or c.islower()
return flag

def any_lowercaseb5(s):
for ¢ in s:
if not c.islower():
return False
return True

Oooos8s000000000b000Ob0O0ObDO0O0ObDU0OO0ObOoOobDOODbOD
ooooooboobooooboobooobooboboooboooboboobooog
OO0000O0DbO0bO0bO0o0bOo zZz0000O00O0ODOO0DAQDODODODODO
OoO0OoOoOoOoooob0’A’booooooooooo poooozzoogoo
OO00oOooOo’A’DOo00
oobooboooooooboooboobooooboooboobooDboo
“cheer’0 7TOO0OOOO Yolly’O DO OO “melon”0 10000000 “cubed”d O
0000 “2001:Space Odyasey’0 000000 O0O00DOOODODO “HAL’ODOOO
ooogo
t-100000000 “IBM"O00O0O



120 gsg o000

U0 rotateword U OO O OOODODOO0OOOUODODOODDOOOOOOOO
goddggooooobbbobbbodgouoouuoooobbobbobobobboo
ggobobooooon

gbobobobouoooobbbooooibibb ordbiognbbbuoooon
oddddchr000bobObObO0O00noobbOooooooouooonon
gogbbobooooobogo

>>> ord(’c’) - ord(’a’)
2

o0boO000b’cc00000C000DO0ODOOLOOODOODOODODbDbOO

go0obooOobooOooboooooooo
OO0000bOoOOo00ooboboo0ooobobooooboboo0oOoBooooo

ooboooooooRrROTBOOOOODOOODOOOODOOOODODOOODODOO

O0000o00oOoOoooooooooo

00 00Ohttp://thinkpython2.com/code/rotate.py.
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ot boutudboodotd

gooobbobbbbbbbbbobooooooobbboooooooobon
gooooobbobbbbbobbbododoooouooobobobbbbon
gogboobobobbbbbboooogobbbobbbudaooooooboboo
gobobobobobobbbdoooooobbobbbbbbboooooooooboon
gboboboogobobbbouoooobbbod

9.1 UUOOoUooooood

OOobooboobOoboboooboboobobobobooooWebooooo
00000000000 DO0bO0obOb00obOob0OMobyOOODOODOODOODO
Ohttp://wikipedia.org/wiki/Moby_Project 0O OO0 OO DOOO Grady Ward
0000000000000 00OD0000O00DOo0oo0ooooo

OOooboooboooobooobooobooboooooDb 3gonooog
OO0000D0O0000D00113809f.ficO0 00000 DODODOOODODODOODOO
O00000000O.words.txt O http://thinkpython2.com/code/words.txt
O000000ooooo

oOooOoO0o0oo0opDOoO0oOoO0bOoU0oOOoOoDOooOoO0obDUoobUODbDoboOoDboOoo
OO0000OPythonOOODODOOODOOOOODODO openOD0OODOODOODOO
OO0000DOO000OO0O00O0ODbOObOOfile object D0 O00O0OODOOOOOO
000000000 O0ooooo

>>> fin = open(’words.txt’)

U0 find00gooobbobobbbddoooobboobboogoooad
'y uggboggbbgbogbbuoobbooboobboboobboobn
gbobobh w000l

gbgdbbogbuogbobuoobobuoooboooboobboobboob
0000 readlineJ000OO0OO0OO0OOOO0OODOOOOOOOOOODOO
gboboboogooboboon
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>>> fin.readline()

’aa\r\n’

O000000000D0000 %2’000000000000000000N\r\n
gododdoogooooooobobbbboobobobboooooooooon
gddddddooooooooooobobobbbbdooooooooonoo
gbbogbbudgbbooddbiDreadline 00000000 OO0OODOO
ERERN

>>> fin.readline()
>aah\r\n’

O0000 “scdh”O0000000OO0O0OOODOOODOOOOOOOODOOODOO
gogbobobbdooooobbbtoooobobbbbbbuodgn stripbbg g
gobbobuooogboobo

>>>line = fin.readline()
>>>word = line.strip()
>>>word

aahed

forU0OUOODOOOOODLDDODOODDOODODDOOOODbLObDDbDO0OnbLDO
U0words.txt DU UUOUOOODOOO0O0OOODLOOOOOODODODOO

fin = open(’words.txt’)
for line in fin:
word = line.strip()
print (word)

9.2 0U0O0OO

goooboobobobbbbbbbbtbddodddooooooooooon
ggoooo

gbbu9.10000words.txt DU UODOOOOOOO200000000000
gogbobooooobbbouoooobbobooogooo

0000 9.2 Ernst Vincent Wright 0 19390 0 Gadsby O OO OO OO O 50,000
gobooboooobooobooboeooboooobobooboegonboon
ggbobobbooooobobooobbobooogoooo
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In fact, it is difficult to construct a solitary thought without using that
most common symbol, it is slow going at first, but caution and hours
of training can gradually gains facility.

gobobooogood
gbogbobobodbre,dbugbobibdbd TrueOUOOOO hasno_ell
goobooo
gboogoluubbuodgbbudrecudgbbugbbuogbboobbon
gooooobbobbre,0b0o0o0ooooooouooouougoooog
gobooo

gboogold3ibugbbuoobboodibibaveidsOUOOO0O0OOOOOODOO
gobobbooooobbbuoooobbbooodn Trued g
gooobbobbbbbbobbboogoouoouuuooooooooobon
gooboogdylugoubbbuoooon
gooobobbbbsbbbibodooooooooooooooobbn
gsbbbugoobobobooguonbobon

goddo4000ddddudooubbbbibioddddddd uses_only
gogobbouotoudugoooooooobbbboooooooobobon
OO0 TrueJ00000O0D0OO0OOODODOOcethlo’000O0000OO0OODOO
OO0O0OD “Heoe alfalfa’0 00000000 0OOODOOOOOOO

gobobos0dbbbbouogobobuoodboooobobbbuooon
uses 11O 0O0OUOO0OOOOO0O0OOOOOO0OOOOOO0OOLDbOOOOnOn
OO00000D00000 True0000O0O0OOD0OOOODOO “aciov”0000OO
OO0O0o0OOoobOobobOonon “eelony’0 00O OOO

gbogboetubuobudbobobuodbuogboboboboboobobod
O00o0boobooboobooboooboobOob TrueD OO OO is_abecedarian
gboboboooobbbuoooobbbboooobobon

9.3 0UQ

gbbgobbooobbodbboobbuoobbobuooboobeebog
gbobobooogbbbbooooobboobbbbuoooobboo
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def has_no_e(word) :
for letter in word:
if letter == ’e’:
return False

return True

U0 for 0000000 DO0ODO0ODO0O0ODODbODbDODOnD “e"ODO0ObODbO
U0 FalseO OO oOoOoooooobbobbooooobbboabogd
ooooooooooboDb 00000000 0nouonDd Trued 0 OO

U0 avoids U0 U hasnoe U UOOOOOOOODOOOODOOOODODOOO
ggoo

def avoids(word, forbidden):
for letter in word:
if letter in forbidden:
return False
return True

Ubobobobobd forbiddenUUOU0DOOOOUOOOOOODOONO False
gogbbbbodooduobuoooobbobbooodub Trued g
U0 wses,onlyUUOUOOUOOO0OOO0OOOOO0OOOO

def uses_only(word, available):
for letter in word:
if letter not in available:
return False
return True

gdddddoooooooobboddddooooooobobobbouad
ggbbobuooodgbbbbdoodiibralseOD0O0goonoooDoOg
O0wsesllUOOO0OOOOOOODOOOOOOOODOOO

def uses_all(word, required):
for letter in required:
if letter not in word:
return False

return True

U00OwordD DD OOOOO0OODOOOOODLOODODOOOO0ODLOODOOOOOO
Ulrequired 00O 0OO0O0O0OO0O0ODOOOO0OUOOO0OOODOOOO0OO0ODOO
00000 FaseOOOOOOOoOoooO
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gobobooobbobbdooubbibodibbibUddusescallddnoon
gogobobobibobbbbbobbouooooobboooobbbbbbbn
goo

def uses_all(word, required):
return uses_only(required, word)

000000000000 0O00reduction to a previously solved problem[]
OO00000000000bO0D00o0oDooDOooooooooooooog
000000000000 0000000DO00DODO000D00DbO0DbO0O0O000

94 UO0OUOOOOOOOO

0000000000 for000000O0O0O0OOOODODOOOODODOOOOOON
0o00o0oodoooooooooooooooboooobooooooon

OO isabecedarian U 00 00O00OO0OO0O0OO0OO0OOOfor oo
oooooon

def is_abecedarian(word):
previous = word[0]
for ¢ in word:
if ¢ < previous:
return False
previous = c

return True
Ododoooooooooogono

def is_abecedarian(word):
if len(word) <= 1:
return True
if word[0] > word[1]:
return False

return is_abecedarian(word([1:])
whileOOOOOOOOOOOOOOO

def is_abecedarian(word):
i=20
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while i < len(word)-1:
if word[i+1] < word[il:
return False
i=1+1

return True

Ob00bO0i=so000000i=len(word)-1 000000 ODODOOODOO 4
O00doddobooooooooooobb i1bObbbb0o00o0o0ooooooa
gogdgggbbboooooootouogoooobbbobbuooooooon
000000000000 0DbO0O0D0O0OOOoOooOobD“essyy0DO0DOODO
godogooooooouoououdeoooobboooobobbbbbbo
gbobioog4bbogbooobobodbboobbuooboboooboon
ggbbobooogbbbbooooobobuoogobobbogo

0000 ispalindromel 6.6 U0 OOOOUOOOOOOOOO0OOOOO
gogoo

def is_palindrome (word):
i=0
j = len(word)-1

while i<j:
if word[i] != word[j]:
return False
i=i+1
j= i
return True
goodoooooooooooooooooooooooooooooond
ooooooogooogao

def is_palindrome (word) :
return is_reverse(word, word)

U 81100 isreverse OO OOODONO

9.5 OQUOOOOO

goooboobbbbbbbbbbboogooobooooooooboobn
gddddoooooobbbbbbddooddoooobobooobobobbobo
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gooooobbobbbbbobbbodooobbobbboooooooobooo
gobooo
OO0 hasno e 00000000 000000 0ODOOO0OO0ODLOODLDOOO
gooobobobbotouotuoudoooooooooooboobbbbbbboo
goobobobobobbbbbboboboooggoooobobbooooooooad
OOspecial casel DO O OO OO0OOO0OOOOOOOOODODOO
gobobobooooobbbbOd0words.txt U UOOOOOOOOOOOOO
gogooobbobbbbobbuabbbobooooououuuoooooobobon
gooobobobbobbbooooboobbobbbbbbboboooooooooboon
gbbobbooooboobbbooogbbbbooooobbbod
goooboobbbbbbobbbbtddoooooooooobobobboboon
gooobobobbbbbbbobbbbbbobotouoduuooooooooooo
goboboooooboboooooooon
gobobouoooobboboooon

googuoobbbbioooooooobobboooooaooon
gboboboogoobbobooooobbobood

—gogb oggoobooo

9.6 U0

OO0O0O0D0O0DbObOOfile objectt DODOODOODOODOODOODOODO.

00000000000 reduction to a previously solved problem[T] [0 00
OO00000D0D0D0D0bO0doooooooooogg

O00O0OOspecial caselll 00D O0OOO00O0OO0O0OOOOOOOOO0OOODOO
gbobbooooobboogbboboogd.

9.7 UOOO

O0009.7000000000000O Car Talkd (http://www.cartalk.
com/content/puzzlers) 0000000000000 O0OOOOOOOO

Of0d0oo0ooooooooooooogoogoooogoo
0000000000000 Oo0oooooooooooooogo
committee D O 00 c-o-m—-m-i-t-t-e-e OO0 0OOOOO 1000
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OO000O000000b0DbbO000000 000 Mississippi 0O OO
M-i-s-s-i-s-s-i-p-p-iU U000 100000000000000O0
goboboboooobboobbobooodobobbuoooooobooo
gbobbobuooogobbboooobbbuoooobobobobbn
gogooobooboosobbbbobbobooooooguooaad
gbobobobooogbobbouooooon

0000000O0o00oooooooooog
0000 http://thinkpython2.com/code/cartalkl.py

000098000 Car TalkOODODOOOOOOO((http://www.cartalk.com/
content/puzzlers[]

gobobboooobbobbooooooobbobbooooonoon
gboboboobodbogboobobbooeubooboobon
gboboodbboobboobooboobboodgn so0,000000
gobogodgbgbd s-o-0-o-o-obbudbouboobobob
gboobobobodobuoobooobooboobobboobooobd
gboboboobobogbodbooboboboboobogoan
gboboboboboddds-4-4-5000000000000 3-1-5-4-4-5
gbooboboobodgbduoobolgboboobuogboobonon
gobobbooooobbboooobobbos-e-5-3-5-e
gbl1ooobbobogbuodbogboboboboobodgoan
gbboogbooobboolggbobooooboogoboooboo
gobobbooooobbboooobobuooooooboboboooan

gboboboobooobobobobooboobobobouoooon Pythond O
gobooodao

U000 http://thinkpython2.com/code/cartalk?2.py

00009900000 Car TaAlkOOOODOOOOOODOOOOOODOO (http:
//www.cartalk.com/content/puzzlers):

gobobbooooobobbboooobobboooooboboboa
oobooobobobobooobooboWuoobog3srooggn
gbooobuoobobuogobooobooooobboobboboo
gbobbboooogbbbuoooobbbooooon

gooobbbbboooodoooobobbedduouooogoo
gooboboboooobobuooooobooboooooboboboa
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gobobboooooobobuooodobobboooobobobooo
gbobbooooobbooobobosybbbuoogsuuoon
goobbooooobobooobbboooobbbuoooooboon

OO0000D0O00000000O0 PythomOODOOODOOODOOODOODOODO
zfillO0OOOOOO (000=2£fil1l0000000000000O°5°.2£i11(4) O
O00000)O

00 0O0Ohttp://thinkpython2.com/code/cartalk3.py
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100 OO0

OO0000OPythonOOOODOODOOODOOODOOODOOODOOODOOOOO
goobobbobbbbddddddodddoddouoooobobbboboboo
gobobouoooobboboooon

10.1 0O0OO0O0OOO0O0O0O0O

OOobooobOooooooblistbooooooogbooooobobogoonoog
O0o00o0oboooobboobobbooobobo0oooboboobibUelementsd
OO0000000itemsd OO0 O0O0O

ooooboobooboobooboboobooboobooboboboobLOoL O
ljooooooooon

[10, 20, 30, 40]
[’crunchy frog’, ’ram bladder’, ’lark vomit’]

goobgobobogobboobboobbobboobobooboboooboon
goooobobbobibbbbbbbuodooodoooooooooooogag
gboboboooobbmoboboboooooboboboo

[’spam’, 2.0, 5, [10, 20]]

OOO00bOO00bOobobOobobOobDbOb0OOnested listU 0000
ooobobooobooboboobobobobOooboboo dooooboo
gobobbooooobbbooobbbooooooo

[’Cheddar’, ’Edam’, ’Gouda’]
[17, 123]

>>> cheeses

>>> numbers
>>> empty = []

>>> print(cheeses, numbers, empty)
[’Cheddar’, ’Edam’, ’Gouda’] [17, 123] []
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10.2 OOO0O0OOOOO

goooboobbbbbbbbbboogoooobbbbbooooooon
gobobobbobbbooooobobbooooboboboooobobooobbooon
gogbobbodotuuuoobobbbuooonoboo

>>> cheeses[0]
Cheddar

gogoobobobgobbobobobobobobbbbooobobobbbbbbbobobn
ggbobobooooobobobooooobobod

>>> numbers = [42, 123]
>>> numbers[1] =5

>>> numbers

[42, 5]

U000 numbers 0000001230 00000 500000
gooooobbobbbbbbbouooooobbbobboooogoaog
00000 Omappingd 0000000 O0OO0OOOOOOODOODOOO
gbbboggbbooobbooobbodbib 1010000 cheeses, numbers,
empty UUO O OOOOO0OOODODOODOOOOOO0OO0O0O0O000O0O00O000O

list

cheeses —= 0 — 'Cheddar’
1 —= 'Edam’
2 —= 'Gouda’

list

numbers —= 00— 17

0 10.1: OO0

g bbioodddgooooobDbbDbDcheeses U
gogbo, 1,20000000000000000000000 Unumberst
gbbogbbuboboooboot12b00sugpoboogoooooooon
empty U 0O UOOOOO0ODOOOO
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goboboooobobobboooooboboboooobbooogoo
e JO0OUOOOLODLODOOUOOLODLDDOOUOOO

e UUDDOOOUDLDUOUDLDUOUDLDLOOOUND IndexError [
goo

e OU0OODODLDOOODLDOODLDLDOODLDLOODLOUOODLOUOODLOOO
gobobboooogooo

inJ00000000O0OOO0O000

>>> cheeses = [’Cheddar’, ’Edam’, ’Gouda’]
>>> ’Edam’ in cheeses

True

>>> ’Brie’ in cheeses

False

10.3 OOOOOoOooon

gobobboooobbobibooooobbbbudd fordbbbboogn
gboboboooobbbooooobobo

for cheese in cheeses:
print (cheese)

gooooobobobbbbbobboogoooooboboobobbobbobobobobobo
gooobobobbbobobboootouoduuuoibobbbbbbibibOD range
goobooooooo

for i in range(len(numbers)):

numbers[i] = numbers[i] * 2

gbboboooobobbboooobbbouooodbibllenb0ggogonoonO
O0b0DbD0O0O0ranged 0UUO n-1000000O0O0O0O0O0OO0OO0O0O n0O0
gbobogdgbboogbbooooboooboggbbuoobbuoobboobo
gooogdbobobogbobibogoboooboooobboobbooboboo
gbobobooogbbobod

OO00000D00 for 000000000 DO0ODOODODOO
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for x in []:

print (°This never happens.’)

gooobobobbbbbbbbbbtbddoddoooooooooooon
ggbobobboooobbbooooobbobooooo4bb0od

[’spam’, 1, [’Brie’, ’Boquefort’, ’Poi le Veq’], [1, 2, 3]]

104 U0OOUOOOOOO

goo+ggoobooobobooooo

>>> a = [1, 2, 3]
>>> b = [4, 5, 6]
>>c=a+b

>>> ¢

[1, 2, 3, 4, 5, 6]

gobboboggxbouogooboobobooooobobooooooon

>>> [0] * 4

[0, 0, 0, 0]

>>> [1, 2, 3] * 3

1, 2, 3, 1, 2, 3, 1, 2, 3]

ooooog [olJb400000D00000O0O 1, 2, 3]0300000O0

10,5 OUOO0OOOoOOnO

gobobboooooboboooon

>>> t = [)a) 'b? ’c? ’q? re? Jf)]
>>> t[1:3]

[)b) JCJ]

>>> t[:4]

[)a) JbJ ’C’ ;d;]

>>> £[3:]

[)d) JeJ ;f;]
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gooooobobobbbbbobobdoddddddoddooooouuuuuda
gbobobooboobobbbbbbbbouooooobbobooboobbobbbbbo
gobobbooooobooood

>>> t[:]
[;a;’ 'b', 'C', 'd', ;e;’ ’f’]

gooobbobbbbbbobbbbboboooooooooooooobbn
gobobbooooobooboooaon
gboboboooobobbbouoooobbboobbbuooooon

>>> t = [;a; b’ ’c? 'q? re? ’f’]
>>> t[1:3] = [’x’, ’y’]

>>> t

[;a; ’x? )y) ’q? re? ;f;]

10,6 UOOOUOOn

PythonODODOODOOOODOOOOOOOOOOO0OOOOODOODOODOUappend
gboboobooogn

>>> t = [’a’, ’b’, ’c’]
>>> t.append(’d’)
>>> ¢

[;a;, )b), )C), )d)]

OO0 extendD O OOO0OO0OO0OO0OOOOOODOOOODOOOOOOO
gooo

>>> t1 = [’a’, ’b’, ’c’]
>>> 2 = [’d’, ’e’]

>>> t1.extend(t2)

>>> t1

[;a;’ 'b', 'C', 'd', ;e;]

gboboboogs20dbboboooan
U000 sortddboboogoobobobooooobbobogan
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>>> t = [,d,, ,C,, ;e;, ’b’, ;a;]
>>> t.sort()
>>> t

[7a7, 'b', ’C’, ’d’, ;e;]

O00oooobobooboooO0o0oUoobDD NeneJOOOOOOOOD t=t.sort()
ggbobobuoooobboboooon

10.7 OUUooooogoood
0000000000000000000000000000000000

def add_all(t):
total = 0
for x in t:
total += x

return x

OO0 total 0 0 OO0OOOOODOOxO0O0O0OO0OOODOOOOO tOOOO
000d0d0+=00000000ooDob0o0o0oooonbODaugmented
assignment statement[] [J total += x [0 total = total + x OO O OOOMO
0000000000 Otetal D0 0OD0O0O0OOOOODOOOOOOOOOOOO
O00oooobo0o0oo0ooododaccumulatord O 00O OO

0000000000000 ooDo0oOPythonOODOOODOO sumO 00O
ooooo

>>> t = [1, 2, 3]
>>> sum(t)
6

OOo0oOooobobOoboboobobooboobodboddreduced 0 O0O0O
gbodgoboboobodbuoobouoboboboboobuoobuooboo
g

def capitalize_all(t):
res = []
for s in t:
res.append(s.capitalize())

return res
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U0 res00000000OOO0OO0ODOOOO0O0OOODODOOOOODGODOO
gbbboddUdrestdgdobbobbodddrestdbnoboooononon
O000bOobbo0bOodibid capitalize a1l OO D OODOUOOOO mapUQ
OO000000ooooDobDO0b0o00odbDODOccapitalizeQUOOOOODOO
goo

gbgboboboobogbobbobooboobooboboobooon
goooobobobbbbbbboogooooboboobobobobobbbbbon
gooobog

def only_upper(t):
res = []
for s in t:
if s.isupperQ:
res.append(s)

return res

U000 iswpper U O UOOOODOOOO0OOODOOOO TrueO 04O
gooobbobbbbbbboboooooobbbobbbuooooooobbon
OO0000O0DO0DO0ODbOCfiterDO00OD0ODO
goooboobbbbbbbbobbbuotboooooooobbboboaaod
goobooooooo

10.8 OOOOO

00000000000000000000000000000000000
O0pop0 000000000

>>> t = [’a’, ’b’, ’c’]
>>> x = t.pop(1)

>>> t

[’a’, ’c’]

>>> x

b

ObbpepOOOOOODODOOOOODOODODOOODO pepOOOOOU
gbobbbouoooobbbbooooobboooogno
gobobbooogobbbbderlbbOOOoon
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>> t = [’a’, ’b’, ’c’]
>>> del t[1]
>>> t

[7a7, 'C']

OoooooooooooooooooggooooboooDooogooog
remove 1 OO OO

>>> t = [’a’, ’b’, ’c’]
>>> t.remove(’b’)
>>> ¢

[;a), )C)]

goooboobbobbbbbbbbboogooobboogoooobobn
Uidbdel0OOOOOOOOO

>>> t = [)a) )b) ’C’ ;d; ;e; Jf:]
>>> del t[1:5]

>>> t

[7a7 'f']

godddgdoooooobobbouoodoooobbobboouuooooo
gogbbobouooobbbooooobbobod

10,9 UOOUood

gooooobbobbbbobbbbbbbobobooobobbbbbbbo
gogboobooogn
gbobobboogoobbbodoooobbbooodlistdggn

>>> a = ’spam’
>>> t = list(a)
>>> ¢

[’S), )p), ;a;, ;m;]

1ist 00 0000000000000000000000000000 10000
0000000000000 0000t00000

00 1ist0000000000000000000000000000000
split0000
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>>> s = ’pining for the fjords’
>>> t = s.split()
>>> t

[’pining’, ’for’, ’the’, ’fjords’]

OO0b0000booooobboobOodddelimiter0 000 0000O0O0OOOOO
gboobooooobbbooooobbbooogooo

>>> s = ’spam-spam-spam’
>>> delimiter = ’-’

>>> t = s.split(delimiter)
>>> t

[’spam’, ’spam’, ’spam’]

00D joinU splitU00OO0O0OODOOOOOODOOOODOOOOOOO
gboboboobodbbbbdddjeindbbobooooboboooonobon
goboboooobbbuoooobobobbooogobooo

>>> t = [’pining’, ’for’, ’the’, ’fjords’]
>>> delimiter = ’ ’

>>> s = delimiter.join(t)

>>> s

’pining for the fjords’

gooooobobobbbbbobboogooooboboobobbbobboboboboobon
gboobog>»gbbobuooogbbbod

10.10 O0OO0O0OOO0OnO

gbobbooooobboooaon

>>> a
>>> D

’banana’

’banana’

U0 a0p00oogboboogboogbobodgbooobooooboboooboo
gbobobobogbodgboaobb 02bbobodgbogoboobobood
O00odbooboboboobDobobobooobobbbooboobm objectd
gooooobbobbbbbobbbbbbbbbbtboudgooooooboboon
gobobooogbbbobbbodisgggobobobuoooonoo
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a —= 'banana’ a
\ 1 Il
banana
b —= 'banana’ b—
O 10.2: . 000
>>> a = ’banana’
>>> b = ’banana’
>>> a is b
True

O0odno PythonODOOOOODOOOOODODOODODOOODDO aUOp00O00OOO
ggoooo
gbobobooooobboooobobooooobobbooon

>>> a = [1, 2, 3]

>>> b = [1, 2, 3]
>>> a is b
False

gogbobobodgoilo3dtbbboooobbouoooboboooonoobooo

a—=1[1,23]
b—=[1,2 3]

0 10.3: 00O

OO000O00OOequivalentU DO OO O0O0ODOOO0OOO0OOOOOOOOODODO
J000Oidentical 00000000 O0OOODOODOOODOOODOOOODOOO
ggbbbooogobbobuoooobbbbdooaon

gobobobbobobbdobmooooooooobobbooobooon
goooobooobooobuooooboooooboobooboooo 1, 2, 3]
gogodgoooooobboobbodoooobobbbuodogoooouoa
gbuodgboobobobudgboobboobugbooboboboboobo
gogbooboogoobooo

10.11 O OO0

U0 ablO000oo0oobbodbbev=abbu0goboooooogoboog
gogobobooooobobobooooobobod
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>>> a = [1, 2, 3]
>>> b = a
>>> b is a

True

obooooboobw4bbobbobooboobooboobooboonbg

a
T~
b/[1,2,3]

0 104: OO0

OO00OOreference0 0000000000 0O0OO0OODOOODOOOOOODOODO
gooobobbbooooooooooobobbbbbbooooooooo
OO0Oo0bOobobOobobuobbUaliasedd D0 0O0O0OOO0OOO

gooooobbobbbbbbbotuoogoooobobbooobobbbbon
goboboboogoobooboon

>>> b[0] = 42
>>> a
(42, 2, 3]

gooooobobbbbbbbbtbddgddddoddoooouuuuguda
gbobobobooboobobbbbbbbddooddooooooooobbboboboo
goobooo

>>> a = ’banana’
>>> b = ’banana’

gbobobodavggbboboouogogbbbboooobobobooooobon

10.12 OOO0O0OO0O0OO0O

gbogboboboobogbobobboboobuoobobbobooboan
gogoobobibobbbbbobbouooooobbbooouoooobobon
UO0000000 deletechead U OO OOOODOOOOOOOODOOODOOO

>>> def delete_head(t):
del t[0]
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gogooobood

>>> letters = [’a’, ’b’, ’c’]
>>> delete_head(letters)

>>> letters

['b' 'C']

b t000 lettersU0O0O0DODUOOO0OOOODOOOO0OO0OOODOOOO
gol1osb0bbboggoobobooogbobobooooobboboooonbobon

list
<module> letters —|

™ 0—a
ey —

2—=7¢

delete_head t

0 105: 00000

ggoooo

gogooboobbbbbbbbbboogoooobbbbbooooooon
gobboboooobbbbaappend DO 0OO0OOOODOOOO0OO+DOOOO
ggbobobooooon

>>> t1
>>> t2
>>> t1
[1, 2, 3]
>>> t2

(1, 2]
t1.append(3)

None

>>> t4
>>> t4
[1’ 2, 3, 4]

t1 + [4]

gobobboooobobbooooobobbbooooobbboooooobooon

def bad_delete_head(t):
t = t[1:] #1000

goodgoooobobbbbobbbuddostggoooobbbooooo
gogbbobbooooobobuooooooboobobobboooon
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>>> t4 = [1, 2, 3]

>>> bad_delete_head(t4)
>>> t4

[1, 2, 3]

U0 bad_deletechead U OO OUOOOtO t4000UO0OOUOOOOOOMOO
gbobobooodbsbbbuooodbobbbds4abbbuoooogbobogd
goboooboooan

goooboobbbbbbobbbbbbbbbbbbbooooooooo
taill 00000000000 bobObOuoooobobooooooo

>>> def tail(t):
return t[1:]

gbooboooobobobooooboboooan

>>> letters = [’a’, ’b’, ’c’]
>>> rest = tail(letters)

>>> rest

[;b; )C)]

10.13 0OOO0O0OO0O

goooboobbbbbbbbdoooooobbobbbuoooooooboboo
gboboboooobbbouoooobbobuooogbobobogo

. 00b00b0ob0ob0o0b0ooboobDobD0obOob0oooOouoOgn None
gbooboogbuogobbuogbuogobuooboboobooobooobood
gobobbooooobbobooobbbooobobobboooon

word = word.strip()
OoOoooO0o0ooOoOooooooooboooobooobooooobobooo
t = t.sort() #O OO

U000 sortU NoneU D OUODODOtOOUOODOOODOOOOOOOOOOO
gbooodgboobobodgbbodgbbooobooobbuoobboon
gobobboooobbodoooobbooooboboboooooobooo
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2. 00b0oboboouooooooboooobobobobobobobooon

gbogbobobboobodbuobbobudibdd poplremovelldelll O
U0 sliceUU00O0O0OOUOOOOODODOOOOOODOOODOOON append
gbobob+0oggbobobobbbuogdgxbbbouoooobboboooon
goobooo

t . append (x)
t =1t + [x]

goobooogoobobod

t.append([x]) #0000 !
t = t.append(x) #0000
t = [x] #O OO
t=t+x #1O0O!

gboboodbbogbuodoooobboobboobboobbooboo
goboodbboobboobbuooboobooobooobooooboo
gooo

gboboodgbogbbodbbooboobobogboboobboobobd
sort U0 UO0O0O0OO0O0OODOOLOOUOODLUOObLDbO0bLbOOobLbOonoDn
gobobouoooobboboooon

>> t = [3, 1, 2]
>>> 2 = t[:]

>>> £2.so0rt ()
>>> ¢

(3, 1, 2]

>>> £2

[1, 2, 3]

00000 sorted00U00O0O0OOO0DDOOOO0OOODODOOOOOODODO
gbooboggo

>>> t2 = sorted(t)
>>> ¢

(3, 1, 2]

>>> t2

[1, 2, 3]
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10.14 0O O

OO000LstD 0ooooon

OO0elements[] OOOO0OO0OOO0O0O0O0ODO0O0O0O0OODODOOOO itemsd
gobooo

OO00O000OOOnested listl OO0 OO0 O0OOOOOOOOOOO

DbOdb0b0db0b00accumulator DO O ODO0OOO0OOODOOOOODODOO
gboooogao.

O000000augmented assignment statement[l] +=. 0 000000000
OO0oO0oOoooooood

O00Oreduce DO OO0OOOODDOODDOODODOODOODODOODOODOOO
HEN

Ub00Omapl J0O0OO0D0ODOOOO0OO0OOOOOOO0OOODODOOOO0OO

OOO0OO0fiter DOOODOODODOOOOOOOOOOOOOOOOOOO
gobooo

OO0O000000O0O™objectl DO OOODOOODOOODODOODOODOO
gobooo

O00equivalent OO OO0OOOOO

O0ODOidenticallll DO O O0OODOO0OO0OODOODOOOOOOOOODODOOO
gooo

O0Oreferencel DOO0O0OOOOOOOOO

OO0O0000O0Oaliased DO ODODO0OO0OOOODODOOOODOOOOOODOO
goboooodg

ODO0O00OD0Odelimiter DOO00O0O0O0OOO0OO0OOO0OODOOOODODOOOO
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10.15 0OO0OO

O00000000000 http://thinkpython2.com/code/list_exercises.
py 0O0O0O0O0D0OOOOOOO
000D 1010000000000 00000DDOOODOO0ODOD nested_sum
O00oopooooooo

>>>t = [[1, 2], [3], [4, 5, 6]]
>>> nested_sum(t)
21

gbbtbloz2zudbboodbobooobboobbobbboobboobboo
UcumsumJ O OO0OO0O0O000OO0O0OOO0OO0O0O00OOO0O0O 10000000
godoobobbobooioixigooooobobbuoobooooo

>>> t = [1, 2, 3]
>>> cumsum(t)
(1, 3, 6]

gboboolo3dbbooobbodbboobbuoobbuooboboooboon
gobbbuooodbbibibdmiddleddnooooooon

>>>t = [1, 2, 3, 4]
>>> middle (t)
[2, 3]

gbobtblo4dbbogbboobbobobooobbooobboobba
gobbobooodibb chopdU0DODDOOOOO NeneD OOy

>>> t = [1, 2, 3, 4]
>>> chop(t)

>>> ¢

[2, 3]

goggol1os5 00000000000 DOO000go oD ooo0ogoooDoon
OO0 TrueOOO0OOOO FalseOOOO issorted D00 0OOOOODOO

>>> is_sorted([1, 2, 2])
True
>>> is_sorted([’b’, ’a’])
False
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goddl1oceDD0O0O0OOO0O0O0O0O0O0O0O0O0O0OU00O0O0O0O0OUOUUUUg
gobobobooobbbbboboobooooobooboobbbbbbbbobbbobo
o0o0bo0ooobibl TruedODODOO iscanagramJ 00000

gobobiro.7000000000bbObbO000obLbObOd Truei0gg
has duplicated U U 0D UUOU0O0O0OOODOUOOOOOOOOOOOO0OOOO

O00D01080000000000O000DODOOhttp://en.wikipedia.org/wiki/
Birthday_paradox.00 OO0 0 230 0000000000000 0O0OO0O0O0O
OOoooooboboobob230b0bo0oo1logse6oooonoonoon
000000000000 0000 randomJ0000000 randintO0O0OO
00 0O0Ohttp://thinkpython2. com/code/birthday.py

0000109000000 words.txt 00000 O0OO0O0OO0OOOOOOO
dooooboooooao

O00000000 append 0000000 0O0O+000 t=t+[x]O00D0ODODO
doddooodobooooooooooooooooobooooooogo
00000 time0 00000000 ooon
000 Ohttp://thinkpython2. com/code/wordlist.py

OOo00lo.1000000000OO00ODODOODOOULODOUODOOWMDOODODLO
OOo0o0O0obOOo0oocOoooodoooooooboOobooooboOooboobooooo
00000000 000DOOo0o00oooDOOoo00D0o0UooDoDoDooOoooDO
OOo0o0o0oO0oOooOobDOoOooOoDobobooOobOOoobUObooboOobboooo
0000000000000 000opoo0o00ogoooooooooDoboDbO
O000000000ooo00ooO0o00booDo0ogooooDooopDooOoooDo
0138000000000 boobooboboooooboooooobooonon
0000000000000 00O00O00DO00D00ooO0oooDooOooDOoDOoO
O0000D0000 TrueeJO0000OO00OO0O0DDOO FalseOOUOOO in_bisect
OO000DO0O0O00O0ODOvvisect00D00OOOOOODOODOODOODODOODOO
O00O0Ohttp://thinkpython2.com/code/inlist.py

gooodil10.11 0000 o0odoooonooooooooooooon
dofdooodooooooooobooooooouoobooobooooooboon
gooo

000 Ohttp://thinkpython2.com/code/reverse_pair.py
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0000 10.120 0 0000000000000 ODOooDOooDOoOoLoOooOo-
0000000000000 ooUoooUooUoo-
000000 “shoe”0 “cold’d 0O “schooled”O O 0O0O0O

l. gobbuooobobobbobbooooobbbuooobboooooooan
gobobooogooo

2.00000bd0obuododoooobobbbooobbbbooobLbo
gboboodgbodbbodbuoobbuoobbuoobbuoobboobobo
goboodgboboobuooobuoobobuooobooobooobooooboo
gbobodboboobbuoobbmoodbooobooobbooboon
goboodgboboogbooobboobbuoobboobbuoobboon
gbobobooooobbboooobbid

0000000000 http://puzzlers.org 00000000
U0 0O0Ohttp://thinkpython2.com/code/interlock.py.
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110 Od

gobooboobbobobdoobboobbouobboobooobod
PythonOOQOODOOOOOOODOODOOOODLODODOOOOOOODDOOO
gboboboogoobobood

11.1 00000

OO0Odictionary0 00D OO0O0D0OO0OO0ODOOOODOOOODOOOODOOOO
gboboodgboooobboobobooboobobuooboooboooobooon
gbooboooon

OO0oboobobodbboodtbkeysiDODooooooboooobooooo
OOo0boooooboobooooboooboo0ooboboo0nbnbodkeys-value
pair0 0 0000000000000 OMtemO O O0O0O

gbboogboooboooboooboooboobboouobbooabo
gboobobooobogobooobddictbgdbbgobboobboon
gbbouogogobbbbdict000000ogoobooooogobboognon
goooood

>>> eng2sp = dict()
>>> eng?2sp

{}
OO0O00oo0O0odooOo0oopooooo0ooooOoooooooooooooooo
>>> eng2sp[’one’] = ’uno’

gbobobbodd’ene’ 0000 wne UOUOOOOOOOOOOOODOOOO
print U0 O0O0OOUOOOO0O0O0O00O00O00O0OOO0OOO0O0O0O00O000O000404d
gooo

>>> eng2sp

{’one’: ’uno’}
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gogdddoooooobbobbbobooboobobbbbbbbbooooooon
gogbooood

>>> eng2sp = {’one’:’uno’, ’two’:’dos’, ’three’:’tres’}
00 print 0000000

>>> eng2sp
{’three’: ’tres’, ’two’: ’dos’, ’one’: ’uno’}

gbgbboboooobobobobobobuobobobobobobobobon
goddggooooobbbbouoooooobobobbbbbbobobbon
gogoooo
gooobobobobbbbbbdooooooobbobboooooooon
ggbbbooooooobbbuoooobboboooonooboo

>>> eng2sp[’two’]
dos

UO0’two’ U000 des’ UUUOODDODDOOOODODDODDOOODOODODODODODODDODO
ERERN
gboboboooobbobooobobbobodaon

>>> eng2sp[’four’]
KeyError: ’four’

U0 len0 00000 ODOO0OOooOoOODOOn

>>> len(eng2sp)
3

00 ing0do0ogboboogbboobboobboobboobbaann
gogbbobbodoooobobobooouboooooboobbooooonoiy

>>> ’one’ in eng2sp
True
>>> ’uno’ in eng2sp
False

gbboogdboodbbodbbodbbuoobbuoddbdl valuesO OO
gooo
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>>> vais = eng2sp.values()
>>> ’uno’ in vais

True

00 ingd00ogoboooobooboogbooobooboboobooon
geseduidooooooooooobboboboooooooboobon
oobobobooboooboboboboooobobobdg PythonOooog o
OhashtableD DD O OD0ODO00O0O0O0OO0O0ODOOO0OO0ODOOODOOOOOOOOO
gobobboogoobobooooobbbtbddguinbboooon

b B4000ODOOOO0oOOOO0OOOOOO0ODLOOO0ODOOOODDOOODD
gobobboogooobooooobooboo

11.2 00000000000 0O0O0

goooboobbbbbbobbbbobobobobbbbbboooooooooboo
gooon
gobobooooobboooooboa

l.dggoobboboobobobb2edooooooooooooooon
gbobooguogoboooboooboooboooboooboogng
ifdooobooooobooon

2. 000 2000000000000 OOOOUOULUOOODLDODDDDDODO
gbooodboodb oxrdibodbbuodbbuoboogboobbd
gbobobooooobbbooooobobobod

. ubbogobbooobbooobboobbuoobobuooooobbooobo
gbogboboooobooobooobooobbuoobboobbd1od
gobodgbboggbboboooboooboobboobbooboba
gbooobog

gooobobobbbbbbbbobboduoooooogbooobbodouaagd
gboobooood

OO0000O0implementationd 0000000000000 O0O0OOOOODO
gooooobobobobbbbbobbbbbboddoodooooooooon
goooobobbobbobbbbbbbbbbboddgoooooobogogod
goooobobbobbbbbbbtdddoddddouoooooooooboo
goo
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def histogram(s):
d = dictQ)
for ¢ in s:
if ¢ not in d:
dlc] =1
else:
dlc] += 1
return d

O000booobddUhistogram 000 00O0D0OO0ODOO0ODOOODOOOO
gogboobogg
gbobobboogoobboboooobbfordgdbbbbooooobbbOon
goddodooooidb codoooooooooooocbboonooog
g1o0o0o0obooboobooboootublb cidddooooooooooooDoo
dicl]ODOO0OO0O0OOOOODOOOOOOO

>>>h = histogram(’brontosaurus’)

>>>h

{’a’: 1, ’b’: 1, ’0’: 2, ’n’: 1, ’s’: 2, ’r’: 2, ’u’: 2, ’t’: 1}

000000000 2’0’y 00000D00D0’’000DODODOODODDODODDOO
OO000get00O00ODOOODOOOOOODOOOODOOODOOODDOOD

000000000O0o0o00doo0DO0o0oooooooDooooDoOooDOoD

oood

>>>h = histogram(’a’)

>>>h

{’a’, 1}

>>>h.get(’a’, 0)

1

>>>h.get(’b’, 0)

0

U0 getUUDOUOO histogramUU O UOOO0OO0OOO0OOO0O0OOO0OOO0O if
gogbbobooogooobogo

11.3 U0ougound

gbooodb forddbboduogobogobboogboogbbodboo
gobbobooodobbbuoooubibD printhist00 0000
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def print_hist(h):
for ¢ in h:
print(c, hlcl)

goobooboood

>>>h = histogram(’parrot’)
>>>print_hist (h)
al

P

O ¢ H
e S

goooooboobbbbbbbtdddoddddouoooooooooboboo
gbboboooobbbibdsorted 0o

>>> for key in sorted(h):
print (key, hlkeyl)

al

o1l

pl

r2

t1

11.4 0O0OO0O0OOOO

004000 k0000000000000 000000000000000
O0o0b00v=dk)U0000000000O000Olook uwpd O OQOdQd

gbbdvOoooboobodb kbodobboobbuoobboobbaon
gbooodbobobbdvboboobboobboobbooboobobobda
goobbbobbbbdoogoooooobobbbbbboooooooog
gbodbobobobobuobuoboooboobbububbooddobibiUreverse
lookupd D00 O0OO0O0OO0OOOODOODODOOOOOOOOO

gobobooooobbobooooobobobooouboobobbooooobobon

def reverse_lookup(d, v):
for k in d:
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if d[k] == v:
return k

raise LookupError()

gbodbobduobodboboubobobboooboubob raisedgog
OOraise00000000O0O0O0OODOO0OODOOOODOOOODO LookupError()
gboogoobboobodgbuogbooboboboboobuooboobuooobo
gouoooooooobbbobboooooooooobibbyvouououoooyg
goboboboogooobooo
gbobobooogbbbooooobbbooagn

>>> h = histogram(’parrot’)
>>> key = reverse_lookup(h, 2)
>>> key

)r)
ggobobbooooooo

>>> key = reverse_lookup(h, 3)
Traceback (most recent call last):
File "<stdin>", line 1, in <module>
File "<stdin>", line 5, in reverse_lookup

LookupError

goooboOoPythonOOODODOODOOOOODODOOOOODODODOOOOOO
ggbbobooogoboboooooboo
gobobooooobobboooooboboboooobobobboooooboboo

>>> raise LookupError(’value does not appear in the dictionary’)
Traceback (most recent call last):
File "<stdin>", line 1, in ?

LookupError: value does not appear in the dictionary

gbuobobobbogbobuobuooobooboobboobbobuooon
gogbobobboooobobuooooobobboooobobobooo
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11.5 0O0O0O0OO0O

goooboobbobbbbbbobbbudoouuouougooooooobbon
gooooobobobobobooobooododouooogbooobooooa
gogbbobobobbbbbbbuodooodooooooooooooobbon
goobobooooobbuooooboobbooooobobobuoooobobobogoo

def invert_dict(d):
inverse = dict()
for key in d:
val = d[key]
if val not in inverse:
inverse([val] = [keyl]
else:
inverse[val] . append (key)

return inverse

O000000000keyUODODODODODOOOODOOvvalOODOOOODOOOO
UOvalUODN inverse U OO UOUOO valODOODOOOO keyU OO g
OO00b0000oo00obobOobodUsingletonD 000000 0OOOOOOOOO
ooooobobobobooobbbbvalODODOOO0ODbO0OOo0obOo0oonoDbOoo
inverse[vall] O keyO OO OOODOOOOODOO

>>>hist = histogram(’parrot’)

>>>hist

{’a’: 1, ’p’: 1, ’r’: 2, ’t’: 1, ’0’: 1}
>>>inverse = invert_dict(hist)
>>>inverse

{1: [’a’, ’p’, ’t’, ’0’], 2: [’r’]}

01110000 histO inverse 0000000000 OODO0OOOOOOODOO
dictUoooouoooobboboogooboobooooobbuoouoon
gogobobobibobbbbbobbouooooobboobobbbbbbobbon
gooboooobobbooooobobboodan

goooboobobbobbbbobbobobobobobobbbbobobbbbbbo
goobooboood

>>> ¢
>>> d

[1, 2, 3]
dict()
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dict dict list

hist—= 'a — 1 inv —= 1 0

a
P = 1 1 > p’
T —= 2 2 = ¢

(0]

" 1 3 .

0 —= 1

list

0 11.1: 0o

>>> d[t] = ’oops’
Traceback (most recent call last):
File "<stdin>", line 1, in 7

TypeError: list objects are unhashable

gogddgoooooobbobbooooooobobboooooooooad
O00000bD0b0obO0OO0ODOhashableD DOOOO0OO0ODOODOOOOO
ODO0000OhashODOOOOOOOoOOoOOooobbooboboobobooboboog
gogbobobbbuogoobbuooouoooboboooobbuoobboobbn
goooboobobobbbbbbbbtbddodddooooooooooon
gogdodggogooobbobbbuoubootouooooooooooooon
gogobobbobobbooooboboboobooboobooboboobobbbbbobooooouo
gbbuogbbugbbuooooobooooboobobuoobboooobobo
gddduooooooooobobobbbbbbbbobobbbbbboooad
goddogogooobbbobbodabbbobooboooouogooooon
ERERN
gooobobobbbbuoooooooooooooooooobbbbbon
goodooobboboboboboobboobbboboboboooooooooon
ggboboboboooogoobooo
gobobbooooobbobbooooobobobboobnbbbooooon

11.6 U0

6.70000 fibonacci DU UOOOOOOODOOODOOOOODOOODOODODO
goodggogooooboobbooooooouououuoooooooogo
0ol n=40 fibonacci DO OOOOOOUOOOOONO
o000 1200000000000 0call graphD OO0 O0O0OO0OODOOOO
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gogooboobbbbbboboobboboooobbbbobobobobbbbbbo
gbbbooooobbbuoooobbbodbbbibddd n=40 fibonacci
O000ddibld n=30 n=20 fibinacci UUODOOOUOODOOOOMO n=30
fibinacciUUOUO n=20 n=10000000000000

0000000000 fibonacci(0) O fibonacci(1) DO OODOOODOOOO
gboboboooouogbbiDn fibenacciJUOODODODOOOOOODODOOO
gobobboooooboboooobbbooooobbobbooooobobooboo

gooobbobbbbbbbobooooobbobbbuooooooobon
gobobbboooouobbbuoooobobbbooouoobbbbUmemol
goo

fibonacci

n— 4

fibonacci fibonacci

n— 3 n— 2

AN AN

fibonacci fibonacci fibonacci fibonacci

n— 2 n—1 n—1 n—0

AN

fibonacci fibonacci

n—1 n—0

0 11.2. 0000004

OO00000D00D00OO0 fibinacciDODODOOO

known = {0:0, 1:1}

def fibonacci(n):
if n in known:
return known[n]
res = fibonacci(n-1) + fibonacci(n-2)
known [n]=res
return res

UO00O0Oknown OO OOOOOOOOO0O0OO0O0ODOOOUOO0O0O0OOOOOOO
goboogoboooboolgl1buodbooboboobobodn fibinacei O
gbboboddUd kmownU0O0DOUOOOO0O0OOOOOUOOO0OOOOOO0OO
gooooobbobbbbbbobbbbbbbbbl 000dd fibonacci [
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gobobobooodbooooonbn fivinacciJO0OOODOOOO0OODODOOO
gogboobogg

11.7 0000

Ub0b0b0D0000known OO OO0O0O0O0OD0OO0OUO000 _main__00O00O0O
ggbobobboooouobbobuoooobboooubbibdtd_main__ 0000 Qd
OO0O0O0O0000Oglobal variableD D OO0 OO0D0OO0ODOODOOOOOOOOODO
godgdooooooobbobobobobbbbbbbbbobobbbooooooon
gogbbboooboooobbbooooobobbodobbbboooon

goooboobbobbbbbbbbdodoogouoobobobbooooooon
OOflagsUOO0O0O0OO0OO0OOOO0ODOverboseODODOODOOOOOOODOODO
gobooobood

verbose = True

def examplel():
if verbose:

print (’Running examlel’)

gogbobobboooobobuooooobobboooobobobooo
gogoobobobbbbbbbbbbodogoogobbbbbooooooon
goon

been_called = False

def example2():
been_called = True #0 0O O

goodggogooobbobbbbbbbbbbbobobbuooooooon
0000000 example2 U U U UUOUOUOUOOUOO been_calledd 0O OOU
googggbbooooouoououugooooobooobobobbbbbo
ggoooo

guboboboboubobouobobobodubobddubobbdid declareld
gogoo

been_called = False
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def example2():
global been_called
been_called = True

global U UUOUOUOOOOMDODOOOODbeencalledd000OOOOOMO
gboboodbodgbboobbuoobbuoobbuoobboobbooobooon
gboobooooboobooogno

count = 0
def example3():

count = count + 1 #U OO

gboboboooobbbooooobobo
UnboundLocalError: local variable ’count’ referenced before assignment

PythonOOO count D00 OOOOODOOOOOOODOOODOOOOOOOODO
gobobobbudd count 0o obooooonbooa

def example3():
global count
count += 1

0000000000000 ooogooogo
known = {0:0, 1:1%}
def exampled()
known[2] =1

gooboooobobbbbbobobbobobbboooooooobbobbbbbn
gobobooooobboooooon

def example5Q):
global known
known = dict()

gooooobobbbbbobobbobobbbbbbbboooooooooboboo
gobooo
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11.8 OOO0OOO0O

googobbbbooougobbbbbbbbbbuotbodgoooooobn
gbgoboooobooobooboboobboobooboooboboobo
ggbbobooogobbobuooogbbobboooobobbob

gogbobbbooogobbboooobbboooooboboboooooboboo
gobobobogboboboboboobuoobooboboiloobuoooba
gboodgboboodbbodbboobbooboooboobboobod
gobddbobobobuobooooobobobasboobobobogn

goooguoobobbbbiodooooooououoobbobbooooaoaon
gbobgdbbogobboooboooboooboobooobooboba
gooo

ggbbobuooodgobbobbobuobobboboboobogboobon
goboobogobogobooobooobooboboobbooboba
gboobogdgboobobbuogbbuogbbuoobboobboobboo
gbobogbbobogobooobboobbooboboobboobobda
gooo

gobbobooodgbobobuoooobbbboooobobbooooobbbod
gooobbobbogbobuoobobuooobooobooobobooboo
gboboodboboggboogbboobboobboouobboobod
gobogdgbbogobogobooobooboooboobbooboba
gbbmggbboboooobbbogo

gboboodgbobbuogbbuoobbuoobobooboboooboogoo
gobobboogoobboboooobboooooboboooooobooo

000000000 Oo0oo0oooooooooooooDooooooooonog
O00000b0o0o0oboboooboue900d0DbOU0ODOO pprint 0
pprint 00 000000000000 OO0OO0OO0OOODOO0OMOM pprint
O “pretty print”0 0 0 0O 0O O 1

godgdodggoogooobbbobbbooooobbbboboooooooon
goooo
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11.9 00O

OO00Omappingll OO0 O0OO0OOO0OOOO0OODODODOODOOOOOOOOOO
HEN

O00Odictionaryl OO 0000000 O0OOO0OOOO
O0O00000Okeys-value pairt DO O0O0O0O0OOO0OOOODOOOO
OO000ODitemD ODOODOOOOOOOOOOODOODO

OOD0keystD OO0 OD0OODOOOOOOOOODOODOODODODOOOODOO

OOvaluesD OO0 O0O0OD0OODOOOOOOOOOOODOODOODOODODODOO
gbobodbbogobooobooboobboobboonobogbobda
gooo

00 0Oimplementation[l] 00000000000
000000 hashtablel] Python OO OO0 O0000OO0OODOOO0OODOO
O00O0O0Ohash O00O0O0D0OO0ODO0ODOODDODOODDOOODOODOO

OOO00O0OOhashablel OO OOOO0OOOO0OOODOOOODOODOOOO
gobgdbbogobbooobbooboobuoobobuobboonooboa
gbooobog

OO00O0b0OOdOOleok wpll OO OODOOODOOODOOODOOOOODOODOO
gooboogd.

OOO00OD00ODOOreverse lookupll DO 0OOOUOOOOOODOOOOOOOO
goboboboooobbobbooooobbbboooan

O0O0000Osingleton DOOO0OO0OOO0ODOO0ODOOOOODOOOO O

OO000O00OD0Ocall graphl DO0ODOO0ODOOODOOODOOOODOOODO
goboboogooobbboooobbboooobobooooonoon

U0 0Omemoll] DUOOOUOODOOOUOOOOODLDOODOOODOODLOOODLOOO
gooo

OOO00ODOglobal variable[l1: OO 0000000 OOO0OOOOOOOOODOO
goobooooooo
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O00U0Oflags OO0O0OO0ODOOOODOOOODOOOOODOOOOODDOOOODO
gbooobog

O00Odeclarell] global DO OO0 OOOOODOODOOOOOOOOODOO

11.10 0OO0OO0

o111 didibDwords.txt U0 0OOODODODOOOOOOOOOOOO0O
gboboobuogbobuogobuoggbbodb inbbgbboobboobo
ggbbobooogooboooooboo
gboobodgilloiobbbooooobboooobbbboooobb ingd
ggbbobuooogbooboooooboo

O00011.200000000000 setdefaut JO0O0OOOODOOODOOO
0000 invert dict OO0 O0O0OOO0ODODO
OO0 00Ohttp://thinkpython2.com/code/invert_dict.py.

D000 11.30000 620000 Ackermann OO0 OO0 0O0OOOODOOODOO
0000000000000 0oD0o0o0oDo0D0o0oDoO0DoOOoDOoODOO
oo0oooOoboOooboooono

U0 U0O0Ohttp://thinkpython2. com/code/ackermann_memo . py.

oo0odob1n4 0000107000000 00DODODOOODODOOODOD
oooobibibUd TrueOD O OO0 has_duplicates U OO OUOOOOON
O0000000D00DO0ODO0O0O0OO0 hasduplicatesO0ODOODO0O

OO0 0O0Ohttp://thinkpython2.com/code/has_duplicates.py

good1lsddo0ooooooodooonooooooonooooooog
O000doooobodooobUdOOwerds.txt 0000000 OO0OOoooooO
0o0dooooooooodonoonod 85000 rotateword U 00 0 00 [T
000 Ohttp://thinkpython2.com/code/rotate_pairs.py

0000116000 CaTalkOODOOODOOODODOODOOO
(http://www.cartalk.com/content/puzzlers)
Dan O'leary 000000000 DOOODOOODOO
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gobobbooooobobooooobbooooobboboooo
gobboooboobbbbbbobobbobbbbbbbboboboboo
gobobooooobbbooooobobooobooooooboo
gbobobbouooobbbbooouooogobbobooooobon
goboboooobobbbooooobobooooooboonbobon
gbobobooogobbbooobbboooobbboooon

0000000000000 0000 wrackOODO W-R-A-C-KO OO
O00000000 “wrack with pain”’000000000O0O0O0O0OO
O000000D0000000D0O0 R-A-C-KOODOO “Holy cow, did
you see the rack on that buck! It must have been a nine pointer!” 0 0
000000000000 00O00O00bO0bOOooOooOooDOooDOoog
0000000000 DO0DOO00O00oooooooooooDooon
O0’w 0000000000000 000000*wack’DOOOGOno
0000000000000 000o00oDooooobDoooooon
ooogo

OO0O0O0DbanOOO0OOOobOOobO0ObO0ObOObOObDOOD
gbobbooooobobuooogoo

OO0o00OO00O00obOO0O000o0oobO0obDOoOU0oU0oobOobDOobD1t1bgooo
0000000000000 000DO00oDO0D0oooooDoooooD eMUO
O00D0000000000nttp://www.speech.cs.cmu.edu/cgi-bin/cmudict
000 http://thinkpython2.com/code/cO6d DU DO OOODOOOOOOOO
http://thinkpython2.com/code/pronounce.py O OO0 OOOOOOOOOO
00 read dictionary 000000000 O0DOODOOO0O0OOODOO PythonO
OoO0Oo0Co0o0oDboOoood
O000000000bOoOO00oo0ooooooooo
OO0 0O0Ohttp://thinkpython?2. com/code/homophone . py
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120 OO0

O0o0ooboboooboooobooboboobooobooogoooog
000000000 bO000bOO000bObO0o0o0oDbOOoo0obObOOooooDDOoOon
O00@Moboobooboobobooobooob0ooboobooobDon

O00D00%uple”"D000000O0ODODO0O0O0O0ODODONO “supple’d 0000
000 “ubhple” O0OD0O0OD0O0O0ODO0OOOOODOOOOOOOOOOODOOOO
0000000 “quadruple’0 00000 “too-ple”’0 00 00OMO

12,1 0OO0OO0O0OOOOO

OO00OOtupleD DO 0OD0OODOODOODOODOODOOODOODOODODOODOOO
goboboboobobobobbbbibobbbbbdddooooooooooougag
gooboboobobbbbbbooboooddogooooobobobbbobobobbn
goboooog

>>>t = ’a’, ’b’, ’c¢’, ’d’, ’e’

0oooooooooooooooooooooooooon

>>t = (’a’, ’b’, ’c’, ’d’, ’e’)
0ooooooooooobooooooooooooooonoooo

>>> t1 = ’a’,
>>> type(tl)
<class ’tuple’>

gboboboooobbbooooobobg

>>> t2 = (Pa’)
>>> type(t2)
<class ’str’>
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go0bobDO0Odwpled 00000000 bOboooooobObObObOOOOn
ggoo

>>> t = tuple()
>>> ¢

O

gboboodbbooobooogoobuoobobbuoobboooboboobo
ggbbobooooobobobooon

>>> t = tuple(’lupins’)

>>> t

()1), )11), ;p;, ’i’, ;n;, ’S’)
dooooootwplelO00O0OO0OO0OOODOO0OOOOOOOOO

gooobobbbobbbbobbbotbddoouuoooooooooonbn
goboood

>>> t = (7a7, 'b', ’C’, ’d’, ;e;)

>>> £ [0]

a
godooooonoooodooonoooood
>>> t[1:3]

('b', 'C')
godoobooooooooooooooooon

>>> t[0] = A’

TypeError: object doesn’t support item assignment
gobboboooobboboooooobon

>>> t = (PA’,) + t[1:]
>>> t
()A) )b) ’C’ ;d; ;e;)

gobbobooodgbobbbuoooobsbbuoooobbbogad
OoobOobobooooobobobouobouoobuobobdPythonooo @

oot oboooooooobbbn

gogboobobobbodgooobobbuoooobbuoooobobobbooooon
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>>> (0, 1, 2) < (0, 3, 4)

True

>>> (0, 1, 2000000) < (0, 3, 4)
True

12.2 0OJO0O0OO0O

gooobbobbbbbbbbbtboodoooooooooooobbo
gboboboboodbatdpggonobobooon

>>>temp = a
>>>a = b
>>>b = temp

O000000O¢tuple assignment0 00000000000 00O0O0OOODOOO
>>>a, b =Db, a

gooobobobbbbbbdootoodooddoooooogbooooooooad
gbobobboooobbbbouoooobbobouoaon
gobobboooobbboooobobobooooobobooboa

>>a, b=1, 2, 3
ValueError: too many values to unpack

godbboobbbuogbbuoobobooooboooooobboonn
gbobobboogobbobooooobbbsplitbbboooonbobogn

>>> addr = ’monty@python.org’
>>> uname, domain = addr.split(’@’)

gbobbooooobbbuoooobobbdddbwame 00000000
U domainUJ U O OOOO

>>> uname
monty

>>> domain
python.org
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12.3 0O0OO0O0OOOO

goooboobbobbbbbbbbboogooobboogoooobobn
ggobobboooooboobodgo

godboooooooooooboobbbbbbbbbbobboodgaad
Udivmed D OO OO0ODOO0O0ODOOOO0OOO0OOOO0OOOO0ODLOOO0ODLODOO
gogbbooogoobobobuoooobbboooon

>>> t = divmod(7, 3)
>>> t
2, 1

gogbboboogooobooo

>>> quot, rem = divmod(7, 3)
>>> quot

2

>>> rem

1

gbobobooodgooo

def min_max(t):

return min(t), max(t)

min[lmaxJ 000000000000 0O00O000O00O0000000 O minmax
gobbobuooogbbuoooobbbuoooobbobogo

124 0O0O0O0OOOOO

gbbogbboobbodbboobboboxgbboobboonoboo
O0b0000oO0b0oO0db0OgathersHOOOO0OOOO print2ll 00000000
goobboobobod print00 00O

def print_all(*args):
print(args)

godddggooooobbbobbbtbdaargbDbO0O0DDOODOOOODODODO
gogoboood



12,5, 0004004 169

>>> print_all(1l, 2.0, ’37)
(1, 2.0, ’3%)

gobboboobbbOdOscatterd OO0 ODOOO0O0O0OOUOOOOO
gobbobootoboboooobodoUxgbboouobobddivmedd d O
gbobobooooobbboooobboooobbbooooon

>>> t = (7, 3)
>>> divmod(t)
TypeError: divmod expected 2 arguments, got 1

gbobbuoooobbbbuoooobobbooogooo

>>> divmod (*t)
2, 1

gbodgoboboobodboobobbotobuodbdbuoubUdUminbmax
gboboboogobobbbooooobbbod

>>> max (1, 2, 3)
3

gobobddsuemdooooon

>>> sum(1, 2, 3)
TypeError: sum expected at most 2 arguments, got 3

gbbobudsumdoooooodoboobuoooot
gobobbogoobbbobuooooobbibtd sumall 000000

12,5 OOOOoOOO

oodibbzipOQOOOOOOOODODODODDODOOOOOOOOOOODOODO
gooobobobibobbbbooooooobobbbobooooooouauogo
gobobboogoobbobooooobbboooobooboboooon

>>> s = ’abc’

>>> ¢ [0, 1, 21

>>> zip(s, t)

<zip object at 0x7£f7d0a%e7c48>
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gooboboooooobobbbooooobobobboobbboboobbOzp
objectD 000D OOOOOOzipOOODO for 000000 inO0ODOOODO
gooboood

>>> for pair in zip(s, t):

print(pair)
7a7, O)
)b), 1)
) 7, 2)

gooooobobobooobooboobobooobooobogbbiteratorid O
gogooboboboboboboboboboobbbbbbboobbobbbboboouad
ggbbobuoooobbboooobbbodao

goooooboobobobbbobbbbobddddoodoooooooboon
ggbobooogoo

>>> list(zip(s, t))
[(CCa’, 0, Cb’, 1), Cc’, 2)]

g bbobobotbbddoooododddoddoooooooooooobo
ggbobobooogogoo

>>> list(zip(’Anne’, ’Elk’))
[(’A’, ’E’), (;n;, ;1;), (Jni, )k))]

U bOoobooobobbhbhbbbbooooobobbbbobddgg forbboggg
ggbobobooooobobooooobobod

>>t = [(Ca’, 0), (b’, 1), (Cc’, 2)]
>>> for letter, number in t:

print(letter, number)

00000000 PythonOODOODOOOOOOOOOOODOOO letterd number
goooboooobobooooooo

ao
b1
c 2
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OO000OD0vzp, for0,000000000O00DO0DO0OOOOOOOOOODOO
gooobobobbbbbbboboddoddd hasmatch OO0 00ogoogyg
gooooobobobbbbbbtbodogooobbobbboooooooooo
gbooboogn

def has_match(tl, t2):
for x, y in zip(t1,t2):
if x ==
return True

return False

Ooooooooooooooooooooooooooggoooooooo
enumerate 000 OO QOQO

for index, element in enumerate(’abc’):

print index, element
gbobobobooooobbobooooogn

0 a
1D
2 c

12.6 OO0OOO0O

U000 itemsUU00OO0O0ODOOO0O0OODODOOOOOO0OOOODOOOO0OO
gooboooooboood

>>>d = {’a’:0, ’b’:1, ’c’:2%}
>>> t = d.items()
>>> ¢

dict_items([(’c’, 2), (’a’, 0), (Cb’, 1)

00O dictiitems OO DOUOOO0OO00OOO00OOO0O00OO0O0O00OO0O0O0OO0O
goboboboooobbbbuooobbbdforddbbbinbogooon

>>> for key, value in d.items():
print(key, value)
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c 2
ao
b1

gogbobobbodoooobobooooobooo
gbobobobooooobbbooooobbobuooooobooo

>>> t
>>> d
>>> d
{’a’: 0, ’¢c’: 2, ’b’: 1}

[(Ca’, 0), Cc’, 2), Cb’, 1]
dict(t)

00O dict000 zipUOUOOOOOOOOQuooooooobbobobbonbn
ERERE

>>> d = dict(zip(’abc’,range(3)))
>>> print d
{’a’: 0, ’¢c’: 2, ’b’: 1}

gbbb00uwdated 0000 ouoooobooboooonoobogn

gogoobbobbbdooooooooooooobboboboboobbbobbobon
gbodbogobbogbboogbuooboobobbobooboobaon
goodooobbobobooobotoodooodubioion first,last,number U U
gogbbobooooogbobobooon

dictionary[last,first] = number

gooogoooooobbobbbobobobobobobbbbbbooooooon
gogoooo

for last, first in dictiomary:

print first, last, dictionary[last, first]

ggbbbuooogobbbuooobbboooobbbbdooddn last,first
ggbobobooobobbbooodl printd g

tuple

0 —= 'Cleese’

1 —= 'John’

0 12.1: 000
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dict

('Cleese’, 'John’) —= '08700 100 222’
('Chapman’, ‘Graham’) —= '08700 100 222’
('ldle’, 'Eric’) —= '08700 100 222’

(‘'Gilliam’, 'Terry’) —= '08700 100 222’
("Jones’, 'Terry’) —= '08700 100 222’
('Palin’, 'Michael’) —= '08700 100 222’

0 122: 000

gboboboboobodgboobobboboobooboobobobbo
OOooboobobobobobobobobobuoboboobbbOoObd (Cleese,
John) UOODOODO 1210 0000000000000 0DO0ODLODOLOOOO
Oooooboboooobooobo122000b00boO0d PythonOOQOQO
OOobooobooooobbooobooooooo BBCOODOOOODOODO
gooboooan

12.7 00000

gooobobbbbbbobobobobbbboboobbbbobobobbbobbdad
gogobobobuoduduoooooooooobobbooboobobobbbbbo
gobobooooobobooooooo
gboggbboboobogbboogbbooobboooboobboobba
gooobobbooooouoooooooooobbbbbbodoooooooa
gboboboooooboobogon
gooobobobbbbdoddoooooboobobbobbooooooooobon
gogobobobbobbbbooobobbbbbbbobbbbbbbbbbn
goboboooobobobuooooobobooodobobobuoooon
gooooobbobbbbbobobobobbbbbbbboooobbbiboo
goboboogoobobbooooobbbooogo

1. 000 return 0o ooogooobobboooonobobboooon
gboboodbobodobboobbuoobobobooboboooboogooboo
goooood

2.00g0bobooobbodbbodbboouobboobboobooboo
gboooboogon
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. 0ogobbooobobodbboobboobbobuoobboobooboo
gbobobooooobbboooobobbbod

gdddoooooboboooobobobbbDbDD sortU reverse U OO
UdboboboooddbbbDOsorted reversed U U OOOOOOOOOMO
ggbbobooooobobbooooobbbuoooon

12.8 0OOOOOO

ObhobobobboobboobbOobbOdbdata structured 0000 OO0
goboobooobobooboboooobbuooobbooboboooboo
gobooobooobooobuoobobooobbooobbuooobbooog
OO00O0OOshapeerrorsU 0000000 0O0OO00O0OO0O0O0OOO0OOOODOO
gobogbouooboobuoobobbobbobbonbbon

oboobobooobbooboboobobooboooboooboboooo
gboboboooboboboooobooobooboboboobogoboon
UO0ODOstructshape UO DO DODOUOOOOO0OODOONO structshape O OO OO
gboobgobooobooobobooboooboobooobooboooob
J0000o0b0b0o0obodoboobOobOodn nttp://thinkpython2. com/code/
structshape.py U U U [

obooobooboobooobo

>>> from structshape import structshape
>>> t = [1,2,3]

>>> structshape(t)

list of 3 int

O000o0oobOooDoOoonD “CUstof3ints”00O00O0O00OOOOOOODOOODOO
gobobobuoooobooo
gobbobuooogbbobooogooo

>>> t2 = [[1,2], [3,4]1, [5,6]]
>>> structshape(t2)
list of 3 list of 2 int

gbobogbbooboouobbdgdbidstructshape HUO U O OOOOOOOO

>>> t3 = [1,2,3,4.0,°5°,%6°,[7],[8],9]
>>> structshape(t3)
list of (3 int, float, 2 str, 2 list of int, int)
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gobooobooogn

>>> a = ’abc’

>>> 1t = zip(t,a)

>>> structshape(lt)

list of 3 tuple of (int, str)

gboboboooobbbboooobobbbuooooboboboo

>>> d = dict(1lt)
>>> structshape(d)
dict of 3 int->str

gbobobooooobbbooodbbbOodil structshape OO OO

12.9 00O

OO0OOtuplel DOOOOOOOOODOO

O00D0000Otuple assignmentl] 000000000000 OOOODOOO
J0o00o0db0ooobooboboobobo0obboobooobooooo
goobbooooooo

OO00OOgathers DOOOOODOOOOOOOOO
UO0OOscatterll U DOUOO0O0OODDODOOOO0OOODODOOOOO

OO00000D00D00OOzip objectt DOODODOO zipOOODOOOODOOO
godbbdoobbuoobobuoobobuooobooobooobooooboo
gobooog

OOO00ODOOiterator DO DODOO0O0OO0ODODOOOOOODOOOOOOOOO
gobobboooobbobbooooobbbboooan

O00O000Odata structure[] DO 0000 0O0OO0O0OOOOOOOOOOOO
goboooodg

OO0O00ODOshape errorsl] DO OODO0OO0OODOOOOOOODOOOOODOODO
gobobooooobobooooobobobod
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12.10 0OO0OO0

Oo0d0d1210000000000DCO000DOOO0O0OODOOOODDOD
O0000000Omostfrequent 000000000 0DO0OOOOOOOODOO
go0ooOoobOo0o0oooOobooO0oUooOoOobboOoOoobbOoooOooDoo
http://en.wikipedia.org/wiki/Letter_frequenciesl]

OO0 0O0Ohttp://thinkpython2.com/code/most_frequent.py
000012200000000

l. Jbbodobboobbooboslugobmboobboobooaanon
gobobboooogoobooooobooboo
gbooboboooobbobooogn

[’deltas’, ’desalt’, lasted’, ’salted’, ’slated’, ’staled’]

[’retainers’, ’ternaries’]
[’generating’, ’greatening’]
[’resmelts’, ’smelters’, ’termless’]

gbobooogbogbboobbodgbbuoobbuoobbooboobood
goboodbboobboobbuoobuooboboooboobooooboo
gbobobooogooo

2. 000boobobooboobobobuoobobobooobobodono
goobooooobbbooooobobobod

. 0ogoboobbuoobbooboobbuoobbuoobboboboon
gbogbboboobuogbobbboboobuoboboobobonon
gobobooooobbboooobbooooobobuoooonoon

goodoboobobbuoooooooon
000 Ohttp://thinkpython2. com/code/anagram_sets.py

ogoodi123000000ooooodooobooooooooooooooa
00000000000 D0OOmetathesistD OO OO ODODOO0OOOOOODOOO
godoooooooooooooooon
goooodoooooooooooooooooodonooooooon
gooooooo@mouooooooooooooooooooooooooond
0odooooonoooooooonooooom

000 Ohttp://thinkpython2. com/code/metathesis.py



12.10. 0000 177

OOOo0bO0obOobobOobobOobbOb0O0OOnhttp://puzzlers.org

0000124000 CarTalkOODOOOODOOOUOUOO M http: //www. cartalk.

com/content/puzzlersl]

gooooooboboobobobobbbbbboooooobbooboon
gbogboboboobodgbuoobobbobooboobaobob
gobobbooooobbbtoooobooobbbooooobooboob
gbobobooooobbboooobbbooooobboboogb
goboboboooooobbbooouobobobooooooooobooon
gbboogobbuoobbogobbuoobboobobooobooon
gobobbooooobbbooooobobooobooooooboo
gobooboooogobooood

gbobobood0sprited J0000OspriteJ 000000000 yr0gonogg
spitel 00000000000 e000O0OsptDOOO0DOOOOOOOOO sO
DO000pitd 0000000 pOO0OD ®O00DO0O0DLOtOOODIDOODO
oooobOIlIooboooboooog

goooboobbbbbbbbbouooooooobbbbbbbbbbobobo
gooooobbobobbbbobbbodoodooouobbbobbobooboobobon
gooobobbbooooouoouououooooobbooboboobbbbbbibo
goobog

l. Jjdddoodoooooooboooooooudouooooboooon
gbobobooooobbboooobobbobod

2.0000booobooobooobobooboooboboooboboobo
goboboooobbbbooooobobobooogoooo

3. 00000000words.txt D00 0OO00OO0O0OOODOODOOOOOOTO
“pUbU0bOobo0oooonog

4. 0gb0oboOoooobobobooooobobobuoboboobobobon
gooo

OO0 Ohnttp://thinkpython2. com/code/reducible. py.
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U130 boudbbobotgtduood

OOobo0oobDOo PbPythenOOOOOOOLOOODOODOOOOODOOOOOOOD
gooooobbobbbbbbboogoooobobobobobbbbobobooboobon
gbooobooobobbobbobbobboobboBOObOoOobOoOobDOoOooD
goooobbboboobooooodgoooobboobooooooooooboo
gbobboooobbbuoooobobbbooogoobooo

goooboobbbbbbobbbtbodoooobbbbooooooooon
gobooboooogn

13.1 00000000

gboboboboobogboobboobobboboobuogboobon

gbobdi131gbooggbooogboboobobbuoobbboboobobood
goboboogoobbbtooooobbboooobboboooon
Uo0uoddbd stringU 0000000 0O000000000O00L whitespace
o0b0bo0odobiboDd punctuation OO OOOO0ODOOO0OOOODOO

>>> import string
>>> print string.punctuation
P#$%& Ox+,-./:;<=>7e[\]"_{I}” $000O0

goboboooobbbOoddd strip, replace, translate 0 00O OO0

O00013.2000000000000000http://gutenberg.orgll 00O
OOoobOobooooobOobobooobOonD PythondODOoOoobDOOoOoOoO
goboobooobobbbbbooooodbboooooobooboboobooogad
gbobbooogobbbbouoobbooooobbouoooobobboob



180 0130 0bobbooogbobobdo

gbobooi1s3gbboggbobodgbboobbuoobbooboboooboon
ggbboboogogobooo

O0b0134091000000wordstxt0 0000000 OOOOOOOODO
gogodooooooobboobbioddddudodoooouuuugda
ggbbbbooooobbobuogobobooooobobboooobbobo

13.2 OO0

gogooboobbbbbbbbbbdoooogobbobboooooooon
JbodbooboobobobOdeterministic 00000000 0O0OO0OOOO0O
oo ooooooboobabbbbod
gogodoooobobobobbobobboooooooobbooobbooouoooada
ggbobobooogobobobuoooooboo

gbogoboboobodboobobboboobooboobobooobo
gbbuodgbbuogbbuoobbuoobbuoobbuabbuoobbdudbl pseu-
dorandom numberJ 00000000000 OOO0OOOOOODOODOOOO
godddgguodouduooooooooooooboboobbbbbobobobon
gobobuoooobooo

0000 randomUO 00000000 OOO0OO0O0OO0OOOOO0O0OO0O0O0O
obobobbobobbbbbdd random OO 0o.000 1t.000000000O0.0
oobi1.o000DbO00OD0O0ODOOO0OOrandomO00O000O00O0OOOOOODO
gogbobobboooobboooooboboboooooobooobo

import random
for I in range(10):
x = random.random()

print(x)

U0 randint 000000 lowd highOOOOOOOO lowOd highODOOdOO
ggboboooobbobooogan

>>> random.randint (5, 10)
5
>>> random.randint (5, 10)
9

gobobobooodobbbuooodbibl choicel g
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>>> t = [1, 2, 3]
>>> random.choice(t)
2

>>> random.choice(t)
3

O0000random 000000000 DOO0OOOO0OODOOODODOOOOO
gbobobobouooogbobouooooboboo

good 1350 11.200000000000000000000000000
gboboobuoobbuobbuoobbuoobbidl choosefrom hist 00U
goooood

>>t = [’a’, ’a’, ’b’]
>>> hist = histogram(t)
>>> print (hist)
{’a’:2, ’b’:1}

0000000020 2/30000’v’ 0 1/30000000000000000

13.3 0O000O0o0O0dn

OoO00oOoO00oOOoOoboo0oooooboooooobooobboooooo
http://thinkpython2.com/code/analyze_bookl.py
0000000000000 000nttp://thinkpython2. com/code/emma.txt.[T]

gooobobbbbbbbooooooobobbobbuouooooooobon
gooobod

import string

def process_file(filename):
hist = dict()
fp = open(filename)
for line in fp:
process_line(line, hist)
return hist
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def process_line(line, hist):
line = line.replace(’-’,’ ?)
for word in line.split():
word = word.strip(string.punctuation+string.whitespace)
word = word.lower ()
hist[word] = hist.get(word, 0) + 1

hist = process_file(’emma.txt’)

000000000 Jane Austen “Emma”’0000000000O0COO0CO
emma.txt UOUOUOOODOO process_file DU DOUOUOUOOOOODOOOOOO
0000000 process_1ineJ 00 UOOOUOOO histOODOODOOODOO
UO0OODO process_line 0 split U U0 UUOUOOUOUOUOUOUOU replaced U
gobooobooobobooboobbooboooboobbooooon
gbobogboboobboobuooobooobooobowobbooboo
U000 stripU000000O01Iower 000000 0O0O0DOOO0OOOO0OO
gobooboooooobboobooobooboobobooobobbooo
UoobDobooobob stripU lower 000000000 O0ODOODOOMMIO
U0 process_ line U000 OOOO0DOUOOOOOODOOODOOOOOODLOOOO
googobooboooo
gboobobooboboboboboboboboboobooboooo

def total_words(hist):

return sum(hist.values())
O000000o0o0ooooooooooouoouooo

def different_words(hist):
return len(hist)

gogobobbooogoboooo

print (’Total number of words:’, total_words(hist))

print (’Number of different words:’, different_words(hist))
oooo

Total number of words: 161080
Number of different words: 7214
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13.4 0O0O0O0OO0O0

gooobbobbbbbbbbboogboooouuuoooooooooboo
U00dobboodddidl mest_.common U O OUOOOODDOOOOODOO
goodobbbuooobbuoooobbobouoooobbobogan

def most_common(hist):
t =[]
for key, value in hist.items():
t.append((value, key))
t.sort(reverse=True)

return t

gooooobobobbbbbbbtodguioddoddoooooooooo
goo
goobbooooobbboooooboboooooboboboooon

t = most_common(hist)
print (’The most common words are:’)
for freq, word in t[:10]:
print(word, freq, sep=’\t’) #\t’ 000

Emma 000000000 D0OO0OO0OOO

The most common words are:

to 5242
the 5205
and 4897
of 4295

3191
a 3130
it 2529
her 2483
was 2400
she 2364

OO0O000OD0sort00000000OOOOOODOOODOODOOOOODOOODO
OO00000Python O OO sort DU OO0 https://wiki.python.org/moin/
HowTo/Sorting. 0O OO OO
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13.5 0O0OO0O0O0OoO0

gboboogdgboogbooobodobbodobbodobboobboobogab
gogodgoooooobbobbbodoooooboboboobooooooooad
ggbbobooogbobbbuooooboobon

def print_most_common(hist, num=10):
t = most_common(hist)
print (’The most common words are:’)
for freq, word in t[:num]:

print (word, freq, sep=’\t’)

gobboouobboooubbooubbiooobbitdl numtd 0 O
Odefault valueO O 100 000000000000 0OCOOODOOODOOO
gogg

print_most_common (hist)
OC0nmd000O0O0OCO0ODOOOOCOOOOOODOODOOOOOO
print_most_common(hist, 20)

O0numO0O00000O0O0O0O0DOOOOOOODOOOOOOOOOODOOOO0O
000000000 OoverridesD OOOOOO

0000000000 000oooOoo00oOoooooooooooOooon
000oooooooobo0o0o0oOooooon

13.6 UO0OOOOOO

O0o0dododdbodbdU0werds.txt 00000000 O0OOO0OO0O
godododoooooooodooobodoooooooooobooooa
OO000 substract U0 O O0OO0Odi0d2000000000004d2000 d1
Oo0dododoooooooodoooooooooobooooobooooa
None 0O O O [T

def substract(dl, d2):
res = dict()
for key in di:
if key not in d2:
res[key] = None

return res
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U0 d2000 words.txt U U0 process_fileJUUOOODOOOU

words = process_file(’words.txt’)
diff = subtract(hist, words)

print("Words in the book that aren’t in the word list:")
for word in diff:

print (word, end=’ ’)
OO0 Emmad000000CO0DOOOO

The word in the book that aren’t in the word list are:
rencontre lJ genlis UJ jane’s [0 blanche [l woodhouses [l disingenuousness

friend’s ] Venice [] apartment...... .

OO00b0o0O0bOo0obOOO%encontre”’00000O0O0OOOOOOOOODOO
goboboooobobobuooooobobooodobobobuoooon

D000 13.6 PythonOOO0ODOO0O0ODOOOODO set0000O0O0OODOOOOO
Ooooooo 195000000000 00000000Onttp://docs.python.
org/3/library/stdtypes.html#types-set. OO UOOOOOOOOOOOO
ODO0O00C0C00DOO0O0OC00DODOOO0OsetOO00ODOODOOOODO

13.7 UOO0Ooooon

gooobobbbobbbboodoooooobboobbobooobbbbbbn
gooooobobbbbbbbtbodooooooboboboooboobbbbbobo
gbobobooooobboboobogogd

def random_word(h):
t =[]
for word, freq in h.items():
t.extend([word] * freq)

return random.choice(t)

OO0 [wordl*freqU OO0 word freqU I UIOOODOOODOOOOOOO extend
Oappend 00000000 0OOOODOODOODOODOO
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gogooboobbbbbbobooouoooooouoboboobooooboobobobboo
oo oooooo
gogboboboooooboboboobobbbooooboboao
gbooboood

l. ogobbobbooooobbbooooobon

2. 00b0000b0booobobo2bboogobboooobbobobuooon
gobobooooobbboooobbbddntbnon

3.1 00n000000DO0O0O0DOO0OOLODOO0Ob0bOO 10.100D0000
gbboboooobobbbouoooobbbooogooo

4. 000bO0o0bOoobOoobOoobooboobOooDbOon

ood0os.70000oOo0o0ooobo0OoobDoo0ooDooboooOooo
ooooo
OO0 0O0Ohttp://thinkpython2. com/code/analyze_book3.py.

13.8 OOUOOOOO

googoobbobbbbbobbbbbbbbbobbboobobbbbobobbn
gogbbobooooboobbboooon

this the small regard harriet which knightley’s it most things

000000000000 00O00DO0DO00DO0D00oO0DODODO0ODOO
O0000DOoO0ODOO00O00oboDooOOobO0oOg ¢her0bDOOOODODOOO
OO000o00oo0oooboooooo

OO00OoOo00oooooooooocooOo0oOogUoooooDooDboDoobbo
0000000000000 0b0O00bO00DbDO00DbDOO0An Erice, the Half a
beed D OOOOOOODO http://en.wikipedia.org/wiki/Eric_the_Half-a-Be
OO000o0o00oo0o0oDoooooo

Half a bee, philosophically, Must, ipso facto, half not be. But half the
bee has got to be Vis a vis, its entity. D’you see?

But can a bee be said to be Or not to be an entire bee When half the

bee is not a bee Due to some ancient injury?
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O0000D0000D0000 “halfthe’0000 “bee”0 0000000 “the bee”
0000 %”0 “has”O00 00O
O0000000000D0O00D0O0O0 “half the’O “the bee’0000O0O0O0O0
O0000O0%as"0 4s"0000000O0OOODOOODOOODOO0
0000000000 00bO0bO0bO0o00obO0ooDooDoobOobOoboDOo
O00oooboboooobooboboooooooobobooooooobooo
000000000000 000000b0o0b0obOOooDOooDoobooboDOo
OO0o0bOoobobobobOoboooboooboooooooooooo
0000000000000 O0 “Half2’ODOOD0OODOOOODOODODOOO
O000 “bee”D0ODOOOODODO “peec” 00 000OODOOOOOODOO “a bee”
O000000000000000000 “philosophically”d “be” D “due” 0O O O
OO00b00bO0bo0oooooobooboboobooooboboooooooboooo
O000000O0O0ODDOOoDbOOoDDbOOoDoo

gbobob13.800004dd

l.ggbobbooooooboboooboooooboobobboboboooouan
gbobbooooobbubbooogbbbooobbooobbbad
gbobggbbooobbooooboobobuoobbuoobboooboon
goggooobbbobooboobobbbbbboobbbobbb 200000
gboobooooobooboooan

2.0000booobooboboobooobobooboboobbobood
Dooboboboodobd Emmal 0000 2000000000000
gooobod

He was very clever, be it sweetness or be angry, ashamed or only
amused, at such a stroke. She had never thought of Hannah till
you were never meant for me?” ”I cannot make speeches, Emma.:”
he soon cut it all himself.

goboodbbogoboboobboobboobbuoobbuoobbooda
gbobobooooobbbobobbooooobbbuobodgooobbbog
gobobbooooooboboooooobooo

gbobogdgboboodgbbooobboobboobboooobboobobo
gobobboooooboboooooo

J.0ugoboooboooboobobboobobooboboooboon
gooobogobogoboooboobbuoobuoobboonooboo
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goboodboboogbbooobboobboobboobbuoobbuoon
gobooo

0 O O Kernighan and Pike O “The Practice of Programming” (Addison-Wesley,
1999)00000000000000OOoODOOOO

000000000000 00O00O0D00DOO0DOO0DOo0O0

00O 0O Ohttp://thinkpython2.com/code/markov.py. OO OODOOOOOO
0000 http://thinkpython2.com/code/emma.txt. 0 0O OO

13.9 OUOOOn

gooobbobbbbbbbobbooooooobbobobboobobbbbbbo
gogbobobboooobbobbooooobuooogooo

e IO UOOOOLODLDDOUOOOODLDDO
e OO OOOODLDLOOOOUODLDDbOOOOOD
e HUUDOLOODLOUOLDDLOUDLDOUODLDOUOLbODDLUOLDDLOODLDOO

goododoooooooooboboboboboobbbboobbbbbobobbboo
gbobogobooobobbobooobbogoobboobboobboo
gobooobgoobbooobbobboobboobbuoooobboboo
gogbobooooogbbobooooon
goooboobbobbbbbbbbdodoooouobobobbooooooon
gbbuogbbugbboobbooobbuoobboobboooboboon
gboogoooboobbuooboobobboboobuoobobooobon
O00000 “Half 2’00 000000000 “peec”™00D00ODODOOODOO
0000000 “abee’I000O00O0O0OODOODOODOO “Halt’ODO OO “bee”
gbbomoboggbobogboogbouobbuooboobbobbooboob
gboboogbbooobooobooobbooobboobbuoobooboba
godddddoooooooooooooooobbobobobouooooooo
gogbboboooobbuoooobobooooooboobooon

def shift(prefix, word):

return prefix[1:] + (word,)

O0shiftO0O0O00O0O0 prefixO0000 word OO ODOOODOOOODOOODOO
gboooboobuoobdtdworddOOOOOOoOOoOobOOODOO
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gbooboobuooobdogoboobobooobooobooobobooobo
gbobbboooobobmbbouoooobbbobooooobobbooooon
goboboooobbbbbbbboogoooobboooobbobbbbbn
oboobooobooiB7Tooobogog
goooboobbbbbbbbbtbooooobbooooobobobbbbon
gbobobobodobodboudgboobobbobooobuoboobon
gooooobobobobobbbobbboboddooooboboobbboooooooa
goboboooobobobbbbbbbouooooobbbbboouooooonn
gooobooobobobbbbiboddooooooobobobobboooooooouoo
gogooobbobbbbbobbboodgogoobbbbboooooooobbon
OOO00bOOoobOoobOobdddbenchmarkingl DO00OO00O0OO0OOOO
gooobobobootoouudgoooooooobobbooooboboobbn
gooooobbobobobbbbbbbddddddooooooooooooa
oddbbbDObODprofilel00OUOOUOOUOUOOO0O0OO0O0OOOOO0ODOO
goboboboooogoooood
gbbogdbbodgbboobbuoobuobbbooobboobboanbn
gooooobobobbbbbobboogoooobbobooooooooooo
gogobobobibobbbbbbbouooooobbobobbbbbbobbon
gooooobobobbbbbobboodoooobboooobbobobbbbn
gboboboooboobobbbbbobobbobbbboooooooooobbbbbo
gboboboooobobbbooooobobboooan
gooobbobbbbbbbbdooooooooooooooooobobo
gootobobobtbotbodddddddodooodoooooooboboobooooon
gooobobobibbbooooogogoooobbobbobobobobbbbbbn
gooooobobobbbbbobboodoooobboooobbobobbbbn
gobobooooobobbooooobobooooobbbooooonoon

13.10 0O0OO0O0O0O0

gooobbobbbobbboodgbbooooouuuoooooooobbon
goobooogoboooo

gobobbooogobobobboooobodooobbobooooobbooo
gbobobobouooogbbobouoooobbon

gbobobobouoooobbboooobbobuooogbobobooooobobod
gobodguogobogoboooboooboooboobbooboba
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gobggbobogbboouoooboobbuoobbuooboboonooboo
gbooobog

gogbbboooogbbbboooobbbooogoboboooobboboo
gbobgoobodgbooobobobooobooboooboooboon
gbobogdboboogbbogbobooobobogboboobboobobd
gbobobboooooboboooooboboboon

0000000000000 0000b0oODO0000oooObO0o00ooDOoOn
OOOOO0O0O00000000oOoobooDboOooooobobobooooDoDoD
00000000000 DODO000D00000000DO000oooDoOoooooo
000000 rubber duck debuggingd OO0 0000000 OOOOOOO
OO0O00OOOhttps://en.wikipedia.org/wiki/Rubber_duck_debugging.
OoOooogo

gogbbbouooogbbbboooobbbooooobobooooobobobo
gbogboboboobogbboobuogboboboboobuoobonoobo
gobbbouooogbbobbooooobbboooan

gbuodgboobobbobobobuogbuogboobobboboobuogoo
googbobbobbbbbbobobbdiddddddooooooooobL o
ggoboooogg
goooboobobbbbbbobbbdooooobobobboooooooon
goodggbbobooouotouuuoooooogobobbobouooooooooo
godddgooboboobobobbbouooooooboboobobobobobbboboo
gogbbobooooobobobuoooobuoooobbbooooboboboboo
goooboobbobbbbbbbbdodoooouobobobbooooooon
godgbobbobotouotoudoooooooooobbooboooooogo
goobobbbbbbbbooooooobbododdouooooooo
gobobbbobbbbbbbobbbuodooooobogoooooobbbn
gogobbbobobobobobobobbboooooooobobobbbbboboboobobobon
gbogoboudgbogoobobobogobuogoobobooboobagn
gobogboboooobooobuoobbuoobboobobooboboooboon
gboogdbboodgbboobbodobbuoobbuoobbuoobbodgbobo
ool ooooo
gobbobuooooboo
gooobbbbooooouooooooooobbbboooooooon
goodgoobbobbbbbobooooooobobobooooooooad
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gooooobbbbbbbbbtbdododoooooooooooououad
goooobobbobbbbbbbbodooooboboboobobobbbbbbo
godtdbobbddddddoooooooobboboboooooooboboo
gogobobobibbbooooodogoooobbobboboobbbbbbibn
gooobobobboootoidbddododdoooooboooooooooad
gboboboogobobbbooooobbbod
goooooboobobobbbbobbobobboooogoooobobbobbon
gogobbobibboooooodooooobbbboooooooobobon
gbobobboogoobboboooboboooon

13.11 OO

O000Odeterministicll OO0 000O0OO00O0O0OO0O0OO0OOOOOOOO
gbobobobooooobbobbooooobbboooan

O00000pseudorandom number M1 00000000000 O0O0OOOOO0O
OO00DO0DO0DoOooooooooogon

OO000Odefault valuelD 00000000000 DOOOOOOOOODOODOO
gooo

OO00ODOOoverrides DODOOOOO0OOOOOOO

OO0000000000Obenchmarking(ll 00000000000 OOOOOO
goboodboogbobooobboobboobboobbuoobboon
gobooo

0000000000 DO0O0O0OOrubber duck debuggingIl1 000000000
OO0000000000D0000ooooooooooooooooood
000000000000 00O0000000000000 PythonO OO
OO0oO0oOooooooooood

13.12 0O0O0O0O

gboogil3d9bugobuoobogboodgbbodobbodgbboobbd
gobobobobobooobbboooobboooobobobuoooobobooboa
godbbboodooooooooooobbobbbboooooooboboon
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000 (http://en.wikipedia.org/wiki/Zipf’s_law).0 0000000000
00000000000 c00000000000000

f=o?

ddsbcOb0dgooooobbbbobbbobotboogoguuooooa
g

log f =logc— slogr

OO0000000DO0DO00O000O00000-s000O0110g cOOODOD
ogod

000000000 0DO0000O00DO00DOO0oDoooooDoooooDoo
00000000 11eg f0log r 00000000 DOOOOODODODOOOODODO
O0000O0b0o0obOOooboooOobbO0obOoobO0obOO0soboboboobooDo
OO0 00Ohttp://thinkpython2.com/code/zipf . py.
0000000000000 00D00D000000D matplotlibd0ODOODO
00000 Anaconda000000000DO0ODO matplotlibO0OO0O0OOOOO
0o0o00DOo00oOo0o0oooOooooooooo
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U140 Oo0n0

gbgboboboobogbobbobooboobooboboobooan
goobobobobobbbboobbbbbbbbbbbbuooooooooobooboo
gbobobooogn

14.1 OO0

gooobobobbobbbbbobbbuoddooooooooobobooobbo
gooooobobbbbbbbtdddoddddouoooooooooboo
gbobboooobbbooooobbbooogoobooo

OO00bO0bOobooboO0persistentU 000000000 0O0O0OO0O0OO0O0O
gogobbotouotouuudddoooooooooooooooobbboo
goooboooobobobobobbbbboboooouoboboboboboboobobbooad
gobooo

gooooobbobbbbbbobbbobooooooobooooobbbbboo
oobobobobooboboboboooweEBDODOOooooOOoDOoODOD
gboboboooobobbbooooobbbooooboboa

gooooobobobbbbbobbobbbbbbbbbbbbOb0O0d D text
fleODOOOODOODOODOODOODODODOODODODODODODOODOODOO
gbobobobooogbbbobuoooooboo

gooooobbobbbbbbbbdooogoobbobooooooooa
gogooobbobbbbbobobdabbboboooootouuuoooooobn
gbobobooooobbD pickleDOOgon

14.2 OOO0OOOOOO

OO000OO0o0ODOOoO00oOOo0ooOoobobOOoobOOoooobbboooooooceD-
rROMOODOOOOOODOOOODOOO91000000D0ODOO0 openl
readU 000000000
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O0000w 000000000000 O0O0OO
>>> fout = open(’output.txt’, ’w’)

gogodooboobooboobobbbboooooooboboboboooouooouoad
ggbbobuooobobuoooon
O00D0write 0 00O0OO0O0OODOOOOOO

>>> linel = "This here’s the wattle,\n"
>>> fout.write(linel)
24

gogobobbobbobobbooodoooooooobboobooooooonon
UO00Owrite 0 doodooooooooooooooooonbn
gooo

>>> line2 = "the emblem of our land.\n"
>>> fout.write(line2)
24

Jdododoooooogooobooboobooboonooono
>>> fout.close()

goddogggoooobobbbuodabbooooboooooouoooon
goooo

14.3 UO0OOOO

U000 writed00000O0OO0O0ODOOOOOO0OO0O0OOODOOOOOO0
gbobogbobuogbboobuoobooboobboboobooobod str
gobooood

>>> x = 32
>>> f .write(str(x))

O0000D000000000 format operator0 %00 000000000ODO
goooyiboboboboooooooboooooooboboooooooo
goxboooonoobog

O00D000000000bdformat stringd000000O0OOOOOOOO
0000000000000 000D00DDOO0 format sequenced 000000
gooooo

O00D0000°%’ 000040 digital”DODODODO0O0O0OODOOOO0OO
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>>> camels = 42
>>> %d’ % camels
)42)

oboooboo- 420000000 420000000000
gooobobobbbbbbbbbotboooooobooooobobbbbbbn
gooo

>>> camels = 42
>>> 1 have spotted %d camels,’ % camels
’I have spotted 42 camels,’

goooboobbbbbbbbbtbddddooooooooooooooboo
O0o0ooboooooD b0ooobog ke 0o0boooooboog *%s?
goboboboogoobooboon

>>> ’In %d years I have spotted %g %s.’ % (3, 0.1, ’camels’)
’In 3 years I have spotted 0.1 camels.’

goooboobbobbbbbobobbuooooooobbbooboabbbon
gobobooooobobbooooobobobod

>>> 2hd %d hd’ % (1, 2)
TypeError: not enough arguments for format string
>>> ’%d’ % ’doliara’

TypeError: %d format: a number is required, not str

Oo0oOoO00ooO0o0obOoOooo0oobooOobooOooooooDooOoooo
O00000000000000D0DO0O0DOD00000 nttps://docs.python.
org/3/library/stdtypes.html#printf-style-string-formatting OO OO
0000000000000 0D0000000000000 format() 00 OO https:
//docs.python.org/3/library/stdtypes.html#str.format.[]

14.4 0O0O0O0OOOOO

OO0bOO00O0OoboOobDObDdirectoriesH 000000 OOOOOODOODO
goooobobobobobobbbbbbbbddgodooooooooboooa
gooobbobbbbibooooooooobobobobbbbbbbooboboodgd
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000000000 open 000000 OOPythonDOOODODODOOODOOO
00000000bOO0bOoooog

O0000 s 00OD0ODODODOOODOODODODOODODODOODO
O0000000osO “operating system”0 0000 M os.getcwd DO O OO0
O0oooooooooooon

>>> import os
>>> cwd = os.getcwd()
>>> print cwd
/home/dinsdale

cwd O “current working directory’ U0 00000 O OODODO O /home/dinsdale
O000Odansdale 000000000 DOOODOOO

/home/dinsdale 00O ODDO0O0OOOO0ODODOO0ODODOOOOpathDOOO
O00Omemo.txt 000000000000 O0ODOODODOODOOODOODODOO
0000000000000 0000b00b0O000UOdUdrelative pathD OO
000000000000 0D000D000D0O0 /home/dinsdale00 00000
000 memo.txt O /home/dinsdale/memo.txt DO OO DOODODOOODOO

O000O0Oabsolute pathO D OO0 0OO0O0OO0O0O0ODODOOODODODOOOOODO
ooooboooboooo

O0b0DbO000ddlO os.path.abspath U000

>>>0s.path.abspath(’memo.txt’)

> /home/dinsdale/memo.txt’

os.pathU0UOUDOOOOOOOOLOOOOODOODLOODOODL0OO0OOos.path.exists
gogobobboboboooouoooooooooooboooboobbobbbooouooa
ggbooboboooooto

>>>o0s.path.exists(’memo.txt’)

True

gobobooodbobbbO0d0oes.path.isdir0000O0O0OOOOOO0O
ggbobobooogobobooon

>>> os.path.isdir(’memo.txt’)
False
>>> os.path.isdir(’/home/dinsdale’)

True
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OO0OUOos.path.isfileJU0U00UO0OOOOOO0OOOO0O0O0OO0OODO
goo

os.path.listdir 000000000 OOO0O0OOODOOO0O0O0OODODOO
gboboboooobbboooobbon

>>>o0s.path.listdir(cwd)

[’musics’, ’photos’, ’memo.txt’]

gogooooboobobobbbbbbbobbbbbooooooobobooboobobn
gobobobbtouotbouduooodogooooooooooonooooobon
gooboooon

def walk(dirname):
for name in os.listdir(dirname):
path = os.path.join(dirname, name)

if os.path.isfile(path):
print (path)

else:
walk(path)

os.path.join 000000000 DO0OOOOOOODOODOODODODOD

oo0o
O000C0oesO0OO0O0COUU0DOOwalkODODOOOOOODOODOOOODO

0000000000 0DO00oO0o0oO0ooDO0ooooooooooooDoo

OOo0bOOo0oCoco0obDO0oO0ooOooooooooOoboooUooOoooOoooooo

O0000000O0o0oo0ooooogoooo

OO0 0O0Ohttp://thinkpython?2. com/code/walk.py.

14.5 0O0O0OO

goboobooboobobbbbbbbouooooooobbbooboabbbon
gobobooodbobibO ICErrord

>>> fin = open(’bad_file’)

I0Error: [Errno 2] No such file or directory: ’bad_file’

gbobobooooobbbooooobbboooobbbbooooobo
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>>> fout = open(’/etc/passwd’,’w’)
I0Error: [Errno 13] Permission denied: ’/etc/passwd’

ggbbobouooobbboooobobbbooooobobo

>>> fin = open(’/home’)
I0Error: [Errno 21] Is a directory

UbobogbobogbbibddlUos.oath.exists U os.path.isfileJ 0 00U
gbobooobooobooobbuooobooobbuooobooboooo
gbooboooboobooodg

oboooboboobooobbooboobbooobbooobboooon
gbobogbbogbbdd ey oboooboooboboo itoboon
googog

try:
fin = open(’bad_file’)
except:

print (’Something went wrong.’)

Python O tryU U DO O0O0O0O0OO0O0O0OD0OOO0OODOOOexcept oo
gobbobouooobbbioddsexrybOD0O0O0OO exceptU oo

tryUUO0O00O0O0OO00O0O0OO00OOOecatchingD OOOOOOOOOOOOO
except UL UOOOO0OOODO0OODODOOODODOODODOOLDDOOOO0OOOOOn
UbOb0000OexceptU 0O nonbogooobboonoboonbbog
ggbboboogogobooo

14.6 UOOOOO

OO0O0000Odatabasel D 0000000000 0OO0OOOOOOODOOOO
gooddggogooobbbobbuodooooobbobbouoooooon
gddddddoooooooooboboooboobobobbbbooooooooo
gbbogbbuooboobbobbuoobbuoobbuoobbuoobbuoabn

00000 anydbm(O OO Python300 dem0 00000000000 OOOO
goddgoggoooobbbbbouabooooooooouooooon
gddddgoooooobbbobobobobooobbbbbbbboooooon
ggboog
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>>> import anydbm
>>> db = anydbm.open(’captions.db’, ’c’)

g cudddodoooooooooobbbbbboboduoooonoon
gooooobobobobobbbbbbbobobbboboogoooobbobooo
gbbbbouooobbbibdidlUanydom OO0 oooog

>>> db[’cleese.png’] = ’Photo of John Cleese.’
gbobboooubbbbddtdilanydomU00dooooooonboog

>>> db[’cleese.png’]
b’Photo of John Cleese.’

O00p0000000O0OO0OO0OOOOODOObytes obeject OO UOOOONO

OOobooobooooooooooobodPpython00oooooooooooO

gobobboogobobbuoooooboo
gboboboooobobbbuoooobboooobooboo

>>> db[’cleese.png’] = ’Photo of John Cleese doing a silly walk.’
>>> db[’cleese.png’]
b’Photo of John Cleese doing a silly walk.’

OO000D00D0D000000 keysUO itemsODOOOO0ODOOO ford0onon
goobooood

for key in db:
print(key, dblkey])

gboboboooobbbuoooobbobooogoo

>>> db.close()

14.7 0O0OO0O0O0O

anydom 00 0000000000000 ODO0O0ODOODOODOOODOODOOO0
O0000000pickleJ00ODOOODODOOODODOODOOODODOOODOODO
000000000000 00O0bO0bOOoO0oooDOoooooon

pickle.dumps 0000000000 DOODOODOODOOOODOOOOODOODOO
O 0 0O dumps O “dump string” 0 O [T
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>>> import pickle

>>> t = [1, 2, 3]

>>> pickle.dumps(t)

b’ \x80\x03]q\x00 (K\x01K\x02K\x03e . ’

O0obOoooobOobooooobooboooopickleDoboooooonDg
00000000000 pickle.loads O OO “load string”00 00O O0OOMO
ooooog

>>> t1 = [1, 2, 3]

>>> s = pickle.dumps(t1)
>>> t2 = pickle.loads(s)
>>> t2

[1, 2, 3]

godgdggggobbobobbbbbodgooooboboboboobobbbbbbo
gogoobooon

>>> t1 == t2
True
>>> t1 is t2
False

gbombobobooubooooboooouooooobobobobobo
U0 pickleDUOOOOO0OOOO0OOOOODLDOOODLDDODOODDOOOO
gobboboodgobibbshelveODUOUOOUOOOOOooooooooooon

14.8 0O U0

OO00OO0boOobOooboobooooooobotshelllO0OODOOOOoOOoOoO
gddddoooooboboobbbodoouooooobbobboboboobooboo
gouoooooooobbbbbbbobbboboobbbbooooooooooo
UO00mix000000000O0000 cdO0O0D0DODOO0O000ODOO 1sU
U0webUDOUOOOODODOOOODfirefox00OOO0O0O00OO

Ooooboobobobouoobobobdgdpiped 00O Pythond OO
gbbobobodgbboobboobboobboobboobbobboabn
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O000UnixOOOO 1s -11O000000OO0O00O0O0OOO0ODO0OO0O00OO0
O00000O0Oos.popen ' 000000000 OOOODO

>>> cmd = ’1ls -1’

>>> fp = os.popen(cmd)

gogobobobbobbbbbbbbodguuuuoooooooooobobon
O0000000000Db0Ob000D0 readlined sOOO00OO0O0OOOOODOO
UbOb000O0readD0O0O0O0OO0OOOOOOO

>>>res = fp.read()
0oooooooooooooooooooon

>>> stat = fp.close()
>>> print(stat)
None

0000 1s0000000000000Nere000000000000000
000000

0000000000 tnix00000000000000 00 “hecksum”d 0
00000000000 ndssum00 000000

00 MD50 0000 http://en.wikipedia.org/wiki/Mds 0000000000
000000000000000000000000000000000000
0000000000000000000000 checksunOOOO0O000000O
000000000000000000000000MMPython00000000
000 mdssumn0000000000000000000

>>> filename = ’book.tex’

>>> cmd = ’mdbsum ’ + filename

>>> fp = os.popen(cmd)

>>> res = fp.read()

>>> stat = fp.close()

>>> print(res)
1e0033f0ed0656636de0d75144ba32e0 book.tex
>>> print(stat)

None

lopen 00 0000000000000 DDODODDDODODOOOOOOOOOO subprocess
Uoboobooioo0oobo0oobOob0bbO00nn subprocessd 0O U0OOOODOOOO
gboooobOoboboboobooboboodpependOO0OoooonOd
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14.9 0O0OO0O0OO0O0OO

OO0 PythonOOOODOOOODOODOOOODOOODOODOOODOODOD
gogbbbooooobbbooddwe.pyd g

def linecount(filename) :
count = 0O
for line in open(filename):
count += 1

return count

print(linecount (’wc.py’))

gdddoooooooooobbobooogoooroobbbbbbboo
ggboboboooogobooo

>>> import wc
7

0000w OOO0ODO0ODODOODODOOODOOO0O0O0, we jmodule 'we” from
'we.py’, OODODOO0ODO0O linecount 000 O000O0O0OOOOOOOOO

>>> wc.linecount (*wc.py’)
7

000 PythonODODOOODDOOODOOODOODOO
goooboobbobbobbbbbouogooooobbooobboboobbn
gddddoooooobobbobbbddooooboboooooboboobooboon
goddgoooooobbbobbbodoooooboboobobbobobobobobn
ggobobbooooobobooooobobod

if __name__ == ’__main__’:

print (linecount (’wc.py’))

_cname__J0O0O0O0O00O0O0ODOOOO0O0OO0OOOOO0O0ODOOOOOOODODOO
gobobobboooobbobiooodobbibodl _mmain__O000OOODOOO
godddoggoooobbooobobobotouououoooooooooon
ggobobbooooboobooooon
gbbodbibOdwe.pyODOOOO0DODOOODDOOODOOODDODOODDOOO
gboboooobog pythomOO0OOO0OO0OO0O0OOwcOODOOODOOOODOO
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gbobobooobbobiooooobbbidd_mmame__Jgooooooooon
gooo

gooooobbbbobobbooboooooooobobbooooooooobooboon
OOOooobooobooboobobuooDbooDbg PythonOOOoooODOO
gbobobbouoooobbobioooouobbbibddd reloaddddgnononood
gooobbbbioooooooooooooobboboabbbbuoog
goobooooooo

14.10 OOOOOO

goooooboobobbbbbbodoooooobbobbooooooooa
gbobboooobbboooobobooooobbboooobbobo

>>> a = 1, 2\t 3\n 4’
>>> print(a)

1, 2 3

4

00000 reprddbbgobbooobbogoboooboooobooogn
gooobooooooobbobobbbbbbbbobooboououoouaoaagd
gooboboogoobooboon

>>> print(repr(a))
’1, 2\t 3\n 4’

ooooO0obOOo0obocO0oOooDoU0obDOoUODooOUobDooboooooobooo
0000000000000 00bOO0OwmOODODOOO0ODOOOO0ODOONcODOOO
OOo0o0O0obOOo0Coc0ooOo0oooooO0oOobooOooUoooobOUbbOoDbooo
000000000000 0oOo0oOoO00oo0oooOoooOOobooDOoDOooO
OoO0OoOOoO00oDOoOobooO0oOobooOooboOoooDooooo
OO http://en.wikipedia.org/wiki/Newline OO UOOO0O0OOOOOOONO
Oo0O00ooO00oO0oOoboOoood

14.11 OO

O00OOpersistent[] OO0 0000000 0O0O0OO0OOOOO0OOOOOOOO
gbobobooooobbbooooobbbod
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000000 format operator(l] 0000000000 OOODOODODOOOOO
gboogbdbbodgbboobboobbobbuoobbuoobboon
oboobooobobobobo vbooo

O00000Oformat stringlll 00000000000 DOOOOOOOOODOO

0000 format sequencel] 000000000000 OOO0OODOOOOO
Oo0o0o0 %dboo0obooog

O000O00O00OOtext filel OO OO00O0OOOODOOOODOOODOOO
gobooboodo

OO000dbddOdirectoriest D000 OOO0OOOOOOOOODOOOOOO
gboooogo

O00path OOOOOOO0OOOOOOOOODODOO
OO000OOrelative pathlD OO0 00000 D0OODOOOOOOOOOOO

00 00DOabsolute path(ll OOOOOOOOOCOCOOOOOOOOOOOOOO
goboo.

O0000Ocatching[ll tryUO O except O OO UOOOOOOOOOOOOOO
gobooo

OO0O00O0O0OOdatabase DO OOOODOOOOOOOOOOOOOOOOO
gobobboooooooo

000000000 Dbytes objectll: DUODOOOOOOOOOO

O00OC0Oshellll DOOODOOO0OOOOODODOOODODOODODOODODO
gbobobooogbbbboooobobbobooodan

OO0000000OD0Opipeobjectl DO OODODOOOODODOOODOOOOOO
00000 PythonOOOOOOD0OOOOOOOOODOOOOOOOOODOO

14.12 0O0O0OO

bbb 4aggbooogooobuoobobuogbobuoooboooboooo
gogdggbobbbbbbbbdddsed0b0OD0OOOO0O0O0OO0OOOOOO
gogodgoooboobobbbbbbobbbbbodduouooooououadad
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doooooooooboooooboobboooooobooooooooo
gooodooooodooobdoooonodooooonooooooooon
doodoooooboodoboooooooooooooooooooood
0o00oooooooooooooooooooooooooooog

O00O0 http://thinkpython2.com/code/sed.py.

0000 1420000 122000 http://thinkpython2.com/code/anagram_
sets.py UOO0OOOOOOOOODOODOODOOOOOOOODODODODOD
OO000O0bOO00O00bO0obOobOooobDOobDobooooooboooooooboo
O00000O0Oopst' DOOODOOOOOOOOODODOO opts’, 'post’, 'pots’,
‘spot’, 'stop’, tops’ U 0O O UOMO anagram sets U OO OO UO0OOOOOOOO
OO0o00o0booooobobo0b0o0boouobo0oooboOgn store_anagrams( [
OO000O0bOO0o0O00obO0ob0obOooOobOobOoboDOoooooboooooooboo
U read_anagrams [J 0 U U

OO00O0O http://thinkpython2.com/code/anagram_db.py.

bbb 3vp3goobobboooobouoooobobbboooonoon
guobodgbodgubobooobgbboboobogboobuogboobod
goboboogoobbooooobobobod

l.ggboobbooobuoooboobooobbooobboobboon
b .mp30dddgooooooobbbbbbbbbbobobon
gobobbooooobobboooooooon

2. 0000000000000D00O0O0O “checksum”000000OO mdbsun
OO0O000D0O0b0o0o0oonoOonon “checksum”0000000OOOODOO
gooboooooboobood

. 00000bbdddmixbdddddiff00gooooood

OO0 0O0Ohttp://thinkpython2. com/code/find_duplicates.py.
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150 Ootdooodd

OoobobooooobobOoboobooooboooobobooooooboDo
OO000O0bOO0o0O0o0obOOobOOoooobOobOO0obDOobOoOobOoboobooboooboo
ooobobooobooboobobooboobobobooooboobobooboonoo
OO00000000b0obO0oO00o0ob0obOobOobOobOobDooobooboooboo
Ooooooooooon

OO0000D00O000O0 http://thinkpython2.com/code/Pointl.py 00O
O00000000D00O000O http://thinkpython2.com/code/Pointl_soln.
pyU oo

15.1 000000

goooboobbbbbbbbbtbdddddddoouoooouooooboo
guobogdboogbboobbudbpeintd0O0O0L0DOO0OL0DOOODOO

gooooobbobbbbbbobbbbbbbbdoodooooobuoooa
Oo0ooOdoo,0)0000dU0bd0(x,y) 00000000000y 0O0DO00O0O
goobooogooo

Python OO OOOODOOOOOOOOOOODOOO

e U xUOOUDyODOOUOOOODLDODOUOOOOO
e OO UOOODLDDOOUODLDDDOOUOOOODLDLDOOOOO
e D UOOODLDDOUOOODLDDLDOOUOOOODLOLDDOOOODLDD

gbooboodbboodgbbooougbboboboobugboobboobagn
oo

OO00000D0Ob00OCclassDOO0OO0OOOOOODOODODODODOOOO
goobooo

class Point(object):
"""Represents a point in 2-D space."""



208 gi150 O000boboodoodn

gobodboobobobobodbpeintd0dnoooboobobobod
gbbogbboudiboebjectUUDDOUOODDLDOOODOOOODOUODDOOO
ggdddooooooobobobobbbobooboobbbbbbbboooooon
gobbobooobbboooobobon

O0O0O00bobooobboobobuobobUddbUdclass objectU OO0
ggbobogg

>>> Point
<class ’__main__.Point’>

gbobooboboobobooboobbooobbo0bibOdl __main__.Point
goon

gooooobbobbbbbtbdooooooobbobboooooooodad
Upoint U OUO0OOODODUOOO0OOOUOOO0ODLDODOOOOOOO

>>> blank = Point()
>>> blank
<__main__.Point object at 0xb7e9d3ac>

OO0 PpointU 00000000 OOOOODOODOOOblankOOOOOOOO
Jo0odoo0boooobobobo0bbobUdlinstantiationd 00 0O 0
0000000000000 000000000 (instance) 000000000
U0 print 00000000 O0OO0O0O0OODOOOO0O0O0O0OLODODOOO0O0OO
gogbbbdoxtbbbhobbbbuoooobbbuoooobbbooobboon

15.2 OO

gbobbbooooobbboooobbboooago

>>> blank.x
>>> blank.y

3.0
4.0

gobbobbooodobbbuododbibibUlmath.pi U string.whitespace
goddodgggooooobbbobbbbbotouououuuooooooooon
goodbooboboboodboooboobobobooddattributesi 00 0o
O000O0O000O00DOO0b0O00oDoOOoboOo0oUoDOog “AT-trib-ute’0 00
gbobobooobooboobooooobobobouoooOn “at-TRIB-ute’O O O
goon
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Point

olank —=| x —= 3.0

y —= 4.0

g 15.1: 000o0oo0d

O is1gobobbodggobbobooodoooooboboooooooo
gbobobobodbobdbodbobdi vlankU PointU 0000000
gogdbbodgboobboobbobbooobooobbooobboobo

gboboboogooboboon

>>> blank.y

4.0

>>> x = blank.x
>>> x

3.0

U0 plank.x0O0000Oblank OO 00000000000000Ox0000
gobbbobboooudodooooogogxbobooooooonono xoon xQd
gbobobooodgooo

gbobobooogbbbooooobbooboboo

>>> (%hg, %hg)’ % (blank.x, blank.y)

(3.0, 4.0)°

>>> distance = math.sqrt(blank.x**2 + blank.y**2)
>>> distance

5.0

OoO0O0ooO00oDbOoOoboo0ooboOoboboooo
def print_point(p):
print(’ kg, %g)’ % (p.x, p.y))

U0 print_pointJ0OUO0O0O0 pointU0OOOOOODOOO0OODOOOOOOO
gboboodbbobooobbodbbuobbuoobbudbrlankogonon

>>> print_point(blank)
(3, 4)

DOoboddbpDblank0 00000000000 DO0O pO00O0O0OO blank
oooono

OD0o000bbdb0dbpepeint0 000D O0O0ODODOO0O0OOODLOOODODO
UOO0D0O00O0 distance_between_points U U U 00O
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15.3 0O0OO

goobboobbbbbbbbbduoooooooooooooobobn
gddddddoooooooooboobooobooobbbbbboboooooon
goduooooooooooooooobobbbbbbooogooogo
ggbbobuoogoboboboooooboboooooobooo

gbobobooooobbobooooobobbogod

e HUUUOOLODOOUOOODLDLDDODUOODLDLDDOOOODLDOD
e HUUUOUOLODLDLOOUOOOODLDODOOOOO

ggbbobooooobbbuoobbbbuooggo
gboobooogoboobod

class Rectangle(object):
"""Represents a rectangle

attributes: width, height, corner

nmn

U0boo0buodgoboddl width, height U0 U corner J Point U0 O U0
goobooo

00D 00odbobbboOddRectangleDOUOOOOOOOOOOOOOO
gogbboooobbbooooobobo

box = Rectangle()
box.width = 100.0
box.height = 200.0

box.corner = Point()
box.corner.x = 0.0
box.corner.y = 0.0

00 box.corner.xO0O00O0boxOOOODOOOOOOOOOOcornerddn
000000000000 0D00D00D00000O0x00D000000000O0D0O0
0000000 15200000000000000000000 object diagram[
000000000000 0000DO00DO0DO0DO00O0D0O0DO0OOoOOooOOoOn
00000 00Oembedded objectl] 0 00O
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Rectangle

box —=| width —= 100.0 Point
height —= 200.0
corner

x —= 0.0

y —= 0.0

0 152 0000000

154 0O0OO0OOO0OOOOOOO

gooooobbobbobbbbbbbbbbbbbotddbdl find center
OO0 Rectangle U UOOOUOOOOODOOOOODO RectangleU D DO OO
00 Point 00O O0OOOOOOMO

def find_center(rect):
p = Point()
p.X = rect.corner.x + rect.width/2.0
p.y = rect.corner.y + rect.height/2.0

return p
Dobdbdbodbdeex0O00d0d0oooOooooooooooooo

>>>center = find_center (box)
>>>print_point (center)
(50, 100)

15,5 0OU0Oooooooogd

gooboboobobbbbbbooboooooobbbbuooooooobbon
O000o0boboobobobobb0oobob0o0obbUUnwidth O height 00O
gboboboooooboboon

box.width = box.width + 50
box.height = box.height + 100

goobboobobobbbbbbbboboddoduuduibDbORectangle 1000
U000 000dwidthl dheight UUO O OO OOO grow_rectangle U U U U
oboobobooboboboobobobobobob
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def grow_rectangle(rect, dwidth, dheight):
rect.width += dwidth
rect.height += dheight

gobbobooooboboboooooo

>>> box.width, box.height
(150.0, 300.0)

>>> grow_rectangle(box, 50, 100)
>>> box.width, box.height
(200.0, 400.0)

00000 rectUOpboxUUODOOOOOOUODOON rect 0 OOOMOObox
goooobgon

go0bobOobooodbbibododubbUnd Rectangle OO dxUOdy g
gt xb0ybbbOO0O0axU dyU0U0ddddd move_rectangle
goooog

15.6 0U0OO

gogoooobbobbbbbobbddooogouboobboooooooon
gododduoooooooboobbbbbbbbbobbbooooooooobn
goboboooobon

gbboogdbboodbbodbbodbbuodbdudlb copy g
Uobbobooogobbcopy oo gn

>>> pl = Point()
>>> pl.x = 3.0
>>> pl.y = 4.0

>>> import copy
>>> p2 = copy.copy(pl)

plUOp2000000000O00O0OO0O0O0ODOO Point DO DOOOO0OOODOO

>>> print_point(p1l)
3, 4
>>> print_point (p2)
3, 4
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>>> pl is p2
False
>>> pl == p2
False

isgboboogogbobooobboboooobbbobuoooooboo
O00bbOU0==00000000 TreeDOOO0DOOOODODOOODOOOOOO
gbboodgbbooboooboooboogboodbb==0000 1is0000
goboboooobobbuooobobobbooooobbooobbbboooan

copyUUUDODOURectangle U U DOUOOODUOOOOOOOOOOOOOO
U000 Point OO OO

>>> box2 = copy.copy(box)

>>> box2 is box

False

>>> box2.corner is box.corner

True

g 13dbbbboogoobbobooggooobooboooooboobobood
gboogbobobodobuodgbooboboobodoboobobooboodobd
OO00bOoboobooobodgbdshallow copyl DO OOOOOODOOOOOOO

box—= width —= 100.0 100.0=— width |<=—box2
height —= 200.0 200.0<=— height

corner corner

x —= 0.0

y —= 0.0

U 153: 0000000

gobobooboobbbbbbooooooooooooobobobbbbooooog
U0 Rectangle U U0 growrectangle U U UOUOUOOOOOOOOOODOO
gbboodbbodbboduoodibibd moverectangle O UODOOOOONO
goobbooooobbooobobbbouoooobbbooooobooo
gubgbooobbubobdooboboubobuobbouoboboobbabo
gbobgdbbogbboobbobboobuodobbuobbuddl deepcopy
OO00000D0b0ob0o0ooOb0dbDdeepcopyl D00 OOOOOOOOO

>>> box3 = copy.deepcopy (box)
>>> box3 is box

False
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>>> box3.corner is box.corner
False

UOOboxU box3UUDOUOODOUOODOOODOODOO
UO0000000ddbOdl Rectangle U UOUDOODOOODOOODOO Retangle
UUdOdUl moverectangle U U UL DODODOON

15.7 UO0ooond

goobboobobbbbbbobbdouooogobobobboooooooon
goboooobobboooobbbuooobbOOUdAttributeError U000

>>> p = Point()
>>> p.x = 3
>>>p.y =4
>>> p.z

AttributeError: Point instance has no attribute ’z’

gogdggggobboobbobbouooooooboboboobbbbobbobboo
gogoboood

>>> type(p)
<class ’__main__.Point’>

gbogubobdboboobuouobobbobobobodbobobiodl hasattr
goooo

>>> hasattr(p, ’x’)
True
>>> hasattr(p, ’z’)
False

goododggogooooobbbouogoooouououuuoooooooon
gogooobodgd
goddgbobobobooobobobubootsyyuoooogooobao

try:
X =p.X

except AttributeError:
x=0

gogdooggbobobobobobbouogoooobbboboooooooon
gogboboooooboboilrouoonog
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15.8 OO

OO0OOclasstD OO0 O0O0O0OODOODOOOODODODOOOODODODO
gooboodod

OO0O0O0b00OO00OODOclass objectl DOOOOUOOOODOOOOOOOOOO
gobobbooooboobobbooobobooouboboboooobbbn
oo

000000 (instance)] 0000000000000 O0OODOOO
O00Oinstantiatelll DO 0O0000O0O00OO0O0DOO0O
O00Oattributest DO O0O0O0O0O0OO0OOO0ODOO0ODOOODOOO

O0O00000D000D0U0OOembedded D objecttl DOOOOOOOOOOO
gbobobooooobood

OOO00O0OOshallow copylll OO0 UOOO0DODOODOODOOOOOOOOOOOO
gbobobooogooboood

O00O0O0OOdeep copyl DODOODOOOODOODOOOODOODOOOOODOO
gbobobooogbbboooobobbbooodan

OO00000D0OOOobject diagram[ll DO OO0O00OO0OO0OOO0OOODOODOO
gboboboogobobobooooooboo

15,9 0000

0000 15.1 Circle UO0O0O0OOOO0OOOOOODOODOOOOO center U
radius 0 center 0 Point U0 OO0 U000 00OOradius 0O OO OMOO
0000 Circle0000O000O centerd 00 150,100) 00O radiusO O O
rs000ooooooon
Ooodobooooooood

e 0D CircleDUUUDDODOUO Peint U UOOLODOOOOOOODOO
point_in_circle UUOUOUOOO0OO0ODOOOUOOO Point OO Circle O
gbobobooooobibbiod mreDO00ooooon
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e 0 Circle D UUUOUOUDDODNO Rectangle U UUOUOOLODOOOO
U000 rectiincircleUUOOOOOOOODOOON Rectangle D U O U U
CircleJ00OUO0O0O0ODODODOOOO0OLDD TweeODOODOOOOO

e U0 CircleUUDOUODOUONOD Rectangle U U DOUOOOOOOODO
U0 rect_circleoverlapU U D UOUOUOOUODNNOO Rectangle U U [
000000 Circled 00000 DOUOO TweeD ODOOOOOOOO

JooobobobbobbDDbODbOODOO0O0 Rectangle OO UOOOOOUOUOGU
CircleJUOUO0DODO0O TweU UODOUOODOODDLOOODODOODODOO

00 0O0Ohttp://thinkpython2.com/code/Circle.py.

U000 15.2 TurtleDODOOOODO Rectangle OO OODOOOODOODOOO
U0 Turtle O OO Rectangle UDO U UDOUU draw_rect U U 0O U 0O 0O Turtle U
ooooooooboobobobobooon

O0000000D00D0O0O drawcircledOOOOO

00 0O0Ohttp://thinkpython2. com/code/draw.py
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J1leld O OOOOO

ooooO0obDOo0ooOooodbooOoobooboUooUooboUgDbooooo
000000000000 000000o00oo0ooD0ooooooDoooooo
OOo0o0O0ooO0o0ooOopbDOobocOooboooobDOoOobobDOoooOoDbooooboOooD
O0000000O000oo0o0oooooooo

O0D0D0OOO0O00000O0 http://thinkpython2.com/code/Timel.pyd 0 OO
OO0O0O000OO0D00ODOO nttp://thinkpython2.com/code/Timel_soln.py. U O
00

16.1 0O

gbbogdboogbbodbboobbuoobbuodbbdTimednoog
gobobooogoboboooaon

class Time:

"""Represents the time of day.

attributes: hour, munute, second

nnn

TimeUUOUOOOODOOOOOODLOOOOOOLOODOOO

time = Time()
time.hour = 11
59
30

time.minute

time.second

Ulel0d0booouoooobbobouooon

oboboooodubibD TimeUUOUOOOODOOO hour:minute:second
OO000O0OD0000000D print_time 000 0O00O00OO0OOODO °%.2d” 0O
gbobobboooooounbbbuoooonoobon
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Time

time — hour — 11
minute —= 59

second —= 30

0 16.1: OO0O0OO0OD0OO0O

16.2 OO0

Jo00doobobobbbbidb addtimed 0000000 0O0O0OOODODOO0O
gobooobuooobtbooobooobboobbodbbuoobobuoooboo
odddoooooobbobbobbtbodooooobbbooooooooo
0000000000 prototype and patchO D OO0 00000000 OOO0O

U0 addtime 000 D0D0O0O0O0OO0OOOODOOO

def add_time(tl, t2):
sum = Time()
sum.hour = tl.hour + t2.hour

sum.minute = tl.minute + t2.minute

sum. second tl.second + t2.second

return sum

000000000 sum0d0O0 TimeODODOOODODOOOOODOOOOOOOOO
00000bO0o0o0oobO0o0oo0bObo0o0o0ooDbOO0o0oooDoooobOOoOoboooo
go0obooooobooooboooboooooboooooooboooo
0000000000 pure functionD OO0 0O

O000000000D0000O00 “Monty Python and the Holly Grail”O O
O00 start 000 Time OO OO0 O0ODOOOODOOO0ODOODODOOODOODOOO
0000 duration0 00 Time OO OODODOODOOODOO

add time 0000000 ODODOODODOODOOO

>>> start = Time()
>>> start.hour = 9

>>> start.minute

45

Il
o

>>> start.second

>>> duration = Time()
>>> duration.hour = 1
>>> duration.minute = 35
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>>> duration.second = 0

>>> done = add_time(start, duration)
>>> print_time(done)

10:80:00

good 1o0:80:00000bnnoooooouououuuooooobobbbbibn
gbobeobbOodbbobbodbboobbuooobbooboobobuoono
gbboogdgbuogbobuogobuoomogbooobboobboobboon
goo

gbobobooogbbobogn

def add_time(tl, t2):
sum = Time()
sum.hour = tl.hour + t2.hour
sum.minute = tl.minute + t2.minute
sum.second = tl.second + t2.second

if sum.second >= 60:
sum.second —-= 60
sum.minute +=1

if sum.minute >= 60:
sum.minute -= 60
sum.hour += 1

return sum

gogobobobbboooooooogoooobbobbbbbbobobbon
gooboogo

16.3 0OO0OOO

goooboobbbbbbbbbooooooboobobbbooooooooobooboo
gooobobobotouotuouddoooooooogobbooboooooouod
OO00000D00D00D0000Omodifiers 0000

gbobobobod TimeJ U 0OOUOO0O00O0D0OO0D0O0O0U0O increment U [
gbobobobooooobobooooon
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def increment(time, seconds):
time.second += seconds

if time.second >= 60:
time.second -= 60
time.minute +=1

if time.minute >= 60:
time.minute -= 60
time.hour += 1

0o0oobooobooboboboboboobooboobooboobo

0000000000000 0000000D00O secondd 600000000
gbobooooooobobobooooboboooooobobooooooo
O000TimeJOODOO0OO secondd 00006000000 ODOOOO0O0OO
00000000 000ooooOgn if00dwhileDOODOOOOOODODOO
00000000000 0000 increment J 0000000 0O0OOODOOO0O
oooooon

0000000000 DO000ODbOO0o0bObO0oO0bObOO0o0obOOoOoOooDbOoOooo
go0booboboooboboobooobobuooboboooobooobooooboo
0000000000bOO00o0bO0o0obObO0o0obODoooDbOoooboOooooOag
goodoboooboooboobooboobooboobooboooboo

O000000000DbO000bOO0o0bOO0o0o0o0obDbO0o0ooDDOoOoOooDoOon
goboooboooboooobbooobboooobooobooboooo
0 O functional programming styleD 00000000
O000000000 increment 0000000000000 Timed OODOO
0000000000000 bob0dd Time D DO OOOODODOOO

16.4 UOOUOOOO

goooooboobobobbbbbbbobobbbbbbooobboobooobobn
gogdgboobobbbbobobobbbbbbbbbbbbouooouooouad
gobobogoooboooogo

gooooobbbbbbbbbbobodooogbbobboboooooooo
gogbobooboobbbtboodoooudooooboobobboboooooon
ggbbobuoooobbboooobbobodao
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O00000000000000D0O planned development] 00000 OO
oobobobooooboboboobobodbob0obobob0bbOTime
O0O0000boooboobobuoobOeodldhttp://en.wikipedia.org/
wiki/Sexagesimal U0 00D MIDOOODOOOOOODOODOOODOOONO second
OO0deo0O0D0O00D00O0D0O00O0O0 minuteOODOOOOO hourdO OO
U000b0bobooobobOdbOl add-time increment U0 OO OOOMO
oboooboobobe000bOoOobOoOobOoOoboobDOon

oboooboboooboobbooboobboobooboooboon
O00TimeJ O 0OOOO0OOO0OOOOODOOOOOOODODOODOODOI00O0
obooboobobbobboobon

TimeOOOOOOOOOOOODOOOOOOOOOO

def time_to_int(time):
minutes = time.hour * 60 + time.minute
seconds = minutes * 60 + time.second

return seconds

gboboboboudd TimeDDODOOO0OO0OO0DODOO0O00D0OO divmed D DO OO
gooodooooooooobobbbbbbbobbooooouuououad
gooo

def int_to_time(seconds):
time = Time()
minutes, time.second = divmod(seconds, 60)
time.hour, time.minute = divmod(minutes, 60)
return time

gooobbobbbbbbbbboooooooobbbbooooooobn
OO0O00bOO00bOobObO00b00bUU time_to_int(int_to_time(x)) == x
gbobobobouoooobbboooobbooooobobooooobobooo

goodguoobbbbiodoooooobbbibibl addtime ooy
goo

def add_time(tl, t2):
seconds = time_to_int(t1l) + time_to_int(t2)

return int_to_time(seconds)

gboboogbobbuoobbuoobbuoobbiooobbodbUtime_to_int [
int_totime DU U UUMN increment U O OODODOOOO
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goodobeobbbOb0 00000dooobobbbbobbobobbbbbobo
goodgoooobbbbobbbotbododoooooooooooooooo
gogbbobbooogobbooobobooobbuooobboboobtbeobod
goodooooooooobbobbbbbbbbbbbboouogooaod
gododooooooboobbbbbobboboboobooouououuuuooa
gobooo

gooboboooobbbbbbbbbddooooobboooobobobon
godddgoooobobbbbouooooooooboooobobobbbbobo
goodooooobobbbbbbbidddodooooooooooobn
goon

16.5 OUOOUOOO

Time JUOOUODO DU minutel secondJ 0O 60U OOUOODOO 600000000
0000000 Ohouwr D0 OO0DOODODOODODOODOOOO hourd minute OO
gobbbooodibbOsecondd 0000 oogonoooooooboon
gbobooooboboboboobobobuobooobOobdlinvariants
gooddgogouooooaboiobbbbbbbbobobbbobuoooooon
gogoobodgd

gboogboboobodgbboobbuoobboobgbobooboboobo
gobobboooobbbbodbidddrimeddgbogoooobboooon
gobbobbooodubibiDOFalseOUOOO validtime OO OO

def valid_time(time):
if time.hour < 0 or time.minute < 0 or time.second < O:
return False
if time.minute >= 60 or time.second >= 60:
return Flase

return True

gogbbbbdoodooogobobooooobbbuooouonoobo

def add_time(tl, t2):
OO0 if not valid_time(t1l) or not valid_time(t2):
raise ValueError, ’invalid Time object in add_time’
seconds = time_to_int(tl) + time_to_int(t2)

return int_to_time(seconds)
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UO00assert U000 ogouooobbobboooooooooooobbbn
goo

def add_time(tl, t2):
00 assert valid_time(t1) and valid_time(t2)
seconds = time_to_int(tl) + time_to_int(t2)

return int_to_time(seconds)

assert U0 assert statementJ U 0000 0O0O0O0O0O0O0O0O0OOOOOOOOO
go00O0Oooooooooo

16.6 00

O0000O0O0Oprototype and patch(l] 000000000 0O0O0O0OOOO0O
O00o0bO0o0obo0obooboobooboobooo

O00000000D0DOOplanned development[] DO0O000O00O0O00OO0O
Oo00odoooooboobobooboooboboooooobobooon
O0O000O00DbOoOooag

O000pure function[ OO0 O0D00O0O00O0O0O0OOOOOOODOOODOOO
gobobooooobobooooon

OO000OD0modifiers( 000000000 0ODO0ODOOOOODOODOODOOO
gboobooogbobobod

O000000D00O0DO functional programming stylell] D OO0O0O0O000O
O00o0bO0o0ob0o0obooboonDoon

O00OOinvariants] 00000000 0O0O0O0OO0OO0O0OOOOO0O0OODOO
gobooo

assert J Jassert statement[l] 000000000000 0O0OO0O0O0O0OO As-
sertionError0 0 000000

16.7 0O OO0

0000000000000 000D00O0OOhttp://thinkpython2. com/code/
Timel.pyU U UOOOOOOOOOOODOOOOOODOOOOOOO
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http://thinkpython2.com/code/Timel_soln.pyl

Ubb0 161 Time0UUOODOO0O0OOO0OOOO0O0OD TimeU DO UOOOOOO
Uidbbb00 Timed 00000 O0OUO0O0O0D mltimedJ 0000000000
mltimeJ00O0000000O00O0000 TimedOOOO4OoooooooOO
gbuodboobobbogbuodgboobboboobudobi TimeD O O4
gobooboooooobooo

bodb 16200000 datetime 0O U0OOOOO0OOOOOOO dateld time
gogobbbbbobbobboobobbbbbbobbbbduddougoooooooo
OO0 http://docs.python.org/3/library/datetime.html. 0 OO 00O

1. 00b0bb000oooubibiDO datetimed oo

2. 000booboboboobobobooboobuooboobuobbooooo
gobobouoooobboboooon

. 0ugboogboogbbooobobobooboboooboooboon
goodboobodgboobboobboobooboooboooboon
gbobooobobobuogobobbbuoooobbbooooobon

4. 00bOobOoooobOobobobobooboboboboobobooon
gbobobobodanbogoobbbooooobbboooon

000 0Ohttp://thinkpython2.com/code/double. py
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170 0Oooogdood

0000 PythonO OO00OOOOOOOODOOOOOOCOOODOOODODO
000000000000 0oo0oOo0ooooooooDooooooooo
Oo0o0O0obOO0o0ooO0oDbDO00obOooobOOo0obDO0oooOooOobogboobobooo
0000000000000 00DO00Oo0oO0oDooooOoooOoooooo
O000C0000000000 http://thinkpython2.com/code/Time2.py U 0
O00000000000OO0 nttp://thinkpython2.com/code/Point2_soln.py.
oooo

17.1 O0O00OO0O0OO0O0OO0O0O0O

PythonODOOOOOOODODODOOOOOOOOODODOODOOOODODODOO
O000000000000Oobject-oriented programming languagell [ U
OO0o0b0o0oboboboboboboboobobobobooooooooooo

e OO UOOODLDDOUOOODLDOUOOODLDDDLDOOUOOO
e OO UOOODLDDOOOODLDLDOOOOODLDODOO

e OU0UDLOODLDOODLDOODLDOODLDbDOUODLDOODLOODLOOO
gobobooooobobbooooobbooooobbbooooonoon

goodbledddddd ime DO 0OOOOOOOO0OO0O0OO0O0O0OOOO
gbobooggbodbbodgbbuoobbooobbooobobboiboon
O Point OO0 Rectangle U U UOOOOOOOOOOOODOOOOOO

OOo00od PythonOOOODODOOODOOOODOOOOODOOODOODOODO
goboooooboobbbbbobbbbdodgudddoddoooouooooobo
gooooobbobbbobbbbouooooooobboobbobbbbooo
goobobobobobbbbbboooboobobbbbbbbbboooooooobooboo
gooo
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000Time DO OO0 OOOO0DODbOOOOU0OoOLOOOO0OLbO0OOn
goodgoooooobboobbbbbbbooooooooooooon
U000 TimedooooOooooooboOooo

OOobo0ooboooooooboooooooboobOoddl methodD OO
gbobogbobodbbodbboobbooobboobboobbooooo
ggbbbuoooobbboooooboboooooboboboo

goboobooboobbbbbbbbdddoddddooooooooooon
gogoo

e UL OLODLDOOUOOOODLDLDDOUOOOODLDOUOOODLDLDbDOOOOn
e HUUOUOUOOLODLOOUOOOODLDLDDLDOUOOOODLDLDOOOOO

gbodgboobobboboobuogbuogoobobboboboobobo
gddddoooooobobboobobobbbbbbobobbbbbobboboo
gogddgggououououooooooooobbbbbboooooooon
gogboobooogn

17.2 00000000 print

iled00 Time UUOUOOOUOOOOODOD 16100 print_time 000 00U
ggboog

class Time(object):
"""Represents the time of day."""

def print_time(time):
print (°7%02d:%02d:%02d’ % (time.hour, time.minute, time.second))

U0 print_time U 00D UO000000OU TimeUDODODDODOOOOOODODOOO
gooo

>>> start = Time()
>>> start.hour = 9
>>> start.minute 45
0
>>> print_time(start)

09:45:00

>>> start.second
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print_time U U0 0OO0O0O0OO0OOOOOO0O0OOODOOOOOOOOO0OO
gbobbboogoobbbuoooobbooobbbouoooobobm

class Time(object):
def print_time(time):
print (°%02d:%02d:%02d° % \
(time.hour, time.minute, time.second))

0000 printtime 0 0OO000OO0OO0OO0O0O0O0O0OOOO0OOOOO0
goboboooobbobooooon

>>> Time.print_time(start)
09:45:00

000000000 Timed 0000 Oprinttime 000000 Ostart 000
gooo
gboboboooobobbooooobobbooodon

>>> start.print_time()
09:45:00

000000000 printtimeJU000Ostart OO OOOOOODOOO
OO0O0000boOooobDDsubjectD 00000000 0OOOOOOODOOODO
gooooobobobbbbbbobbbbbobooootboooooooooobooboo
gboboobouooogobooood
gbododbogboobobbooboobuoobobbobooobdd start
U000time0 000000000 O0O0O0O0O0ODOODOOODO self0 00000
gbobobooobbuobbbiboddderinttime 0000000000000

def print_time(self):
print(’%02d:%02d:%02d’ % \
(self.hour, self.minute, self.second))

gobobbooooobboboooooboa

e 1IUDODOUO print_time(start) U D DOOODDOOOOOOOOODOO
gbbobbumidlprinttime U0 UOOO0OOOOOOOO0OOOO0
gobobooooobbbooobobbooooooon

e JO00D0ODODDOOUOOUOUODODDOODUDDOODOUUUDODOD
start.print_timeQO DO 00O O0OOO0OO0OO0ODOODOOMMODOO start
OO000obO0obO0obOOobooUobooboooooooooooboooboo
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gddddoooooobbobbbodoooooboboobbobobbbbboon
goddddodooooooooooooooooboobbbbobobbood
gogoddgoooooboboobbboodooooobbobbooouoouad
ggbbobooooobobobuooogbobbboooobobobogo
Ubobogboboud time_to_int 1640 0000000000 DOO0OODOO0O
inttotime DU UOOO0OUOO0OO0OOO0OOOO0OOODLODOOOODOOOOODODO
gooood

17.3 0O0OU

16300000000 increment U OO0 OODOOOOOOO

# 000 Time OO OO QOO
def increment(self, seconds):
seconds += self.time_to_int()
return int_to_time(seconds)

00 timetoint 000000000000 LDOODDODOOOO0O0O0OOon
gogodobobbbioooooooooooobobobbbooooououuooa
ggbbobooogobooo

U0 increment OO UOOODODOOOOOO

>>> start.print_time()
09:45:00

>>> end = start.increment (1337)
10:07:17

O0start00000000O0self00 0000000 1337000000 seconds
ooooooo

00000000 odob0odobo0bo0o0o0bo0o0O0Uddnincrement
Ood0ooooooooooobooooooooooooon

>>> end = start.increment (1337, 460)

TypeError: increment() takes 2 positional arguments but 3 were given

gogdgggbbbobbobbobbbuodooououououuoouooooooon
gogdboobobbtotoodooooooooooooboobbbobboboboboobobo
goon
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O00000000D0Opositional argument0 D0 00000000000
O000o0oboboooboobobooboooobooobooooobooog
Oo0Ooood

sketch(parrot, cage, dead=True)

parrot U cage DU UUUOOOO0OOdeadD DO UOOOOODODOONO

174 0O0O00O0O0O0O

U0 isafterd16.1 000000000 Time OO OOOOODODODODODOO
gboboodbuogbbuogobuoibibd selfJ0U00O0 other OO0
gooo

# D00 TimeOOOOOO
def is_after(self, other):
return self.time_to_int() > other.time_to_int()

gooobbobbbbbboodooooooooobbbbbbobooooog
gbobobobooooobbobooooogn

>>> end.is_after(start)

True

000000000000 000000000o00ooo00oO0OgOog “end
is after start?”0

17.5 initQ 4oy

init 00000 “itialization” 00000000000 O0O0OOOOO0O0OODO
goboboodbbobooiddd_tinit__ 00000000 0O0O00DODO init
gbobboooobbboooobbid

TimeUUOUOO init DU OOO0O0O0ODOO0OO0O0OOOOO

# 000 TimeOOOOOO
def __init__(self, hour=0, minute=0, second=0):

self.hour = hour

self .minute minute

second

self.second
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__init__00000000O0DOOO0O0O0OOO0O000 self.hour = hour [
O0000hourJ00self 000 howr 000000000000 0D00D0O0DO0O

>>> time = Time()
>>> time.print_time()
00:00:00

ggbbobuooogbbbodidb houwrd ooy

>>> time = Time(9)
>>> time.print_time()
09:00:00

gobbbbodoodobbdoddd hourminuted ooy

>>> time = Time(9, 45)
09:45:00

ggbbobuoooobbboooobbbodgo
000000 0OPeint 0000 init 0 D0UOO0OO0ODOO0ODO x0O0yOOOO
ggbobobooogobobogo

17.6 _str_ 00000

__str__O00000000O0ODO00O000u0bOobbob0o0oooouogo
ERERN
TimeUUOUOOOOODOUOO stxr0000O0O0O0O0OODODOOOO0

# 000 Time OO OO OO
def __str__(self):
return ’%02d:%02d:%02d° % \
(self.hour, self.minute, self.second)

TimeUUOUOOODOO print D00 UO0O0O0Ostrdddooooogon

>>> time = Time(9, 45)
>>> print(time)
09:45:00

gbgbobobuobuooogbobbobobuobuoboooobdl _Zinit__
godbodoooboobbbibooooout_str__O000OLOOODOO0O0OOO
ERERN

UO0000db0O0PeintU00O str00U0OO0OOOPeintJ0OODODONO
goboboboddl printd 0
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17.7 O4O0Ooooooog

gooobbbbbbbbuoobbooooouuooooooooobbo
gbobobooooobbbdooododbibTrimedddd __add__00OO0ODODO
guoooo+uooobooogd

# 000 TimeOOQOOQOO
def __add__(self, other):
seconds = self.time_to_int() + other.time_to_int()

return int_to_time(seconds)
dododogod

>>> start = Time(9, 45)
>>> duration = Time(1, 35)
>>> print start + duration
11:20:00

TimeOOOOOOO+O0OOD0ODOODO PythonOODO __add__O000O0O0ODOOO
print 00000000 __str__O00O0OO00OO
Ooooooboooboogoobobbobooboooooooogoooooo
000000 DOOoperator overloadingl 0 0 00 PythonO0O0O0OO0OOOO
_,add__00000000000OO00O00OO0O0O0DOO http://docs.python.org/
3/reference/datamodel .html#specialnames. U 0 O 0O O
O0000000Point000000O0DO0OO0O0OOO addd00DOOOODOOOO

17.8 0OO0OOO

O00o0o0d0d0 Time 000000000 O0DO0O0O0D addd0 0 0O0O0O0OO
O00000 Time DO OOO0OOO0OO0OOO0ODOOO0OOO0OOOOODOOOOOOOO
OO0 otherUOO0OUOOOOO__add__ 00000000000 add_time OO
increment U OUOOOOOOOO

# D00 Time OO QOGO QOO
def __add__(self, other):
if isinstance(other, Time):
return self.add_time(other)
else:
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return self.increment(other)

def add_time(self, other):
seconds = self.time_to_int() + other.time_to_int()

return init_to_time(seconds)

def increment(self, seconds):
seconds += self.time_to_int()

return int_to_time(seconds)

000000 isinstance 0000000000 O0OO0OOOODODOOOODODOO

0000000000000 000000 TrueO0O0O0O0OO other 0 Time OO

000000000 __add__0000D0 addtime0 000000 ODO0DOODODOO

Oincrement 0000000000000 ODOODOODOODOODOOOOODOO

00000000000 type-based dispatch O 0O 0O [
000000000000 oog

>>> start = Time(9, 45)
>>> duration = Time(1, 35)
>>> print(start + duration)
11:20:00

print(start + 1337)
10:07:17

gboogboooboobobboboobooboboobuooboobonobo
goon

>>> print (1337 + start)
TypeError: unsupported operand type(s) for +: ’int’ and ’instance’

OO0 TimeOOOOOODOODOOODOOOODOLOOODOOOOOPythonO O
U0 TimeUOOOOODOOOOOOOOOOOOOOOOODOOOODOOOO0
0000000000000 00000000000000D00 __radd__ (“right
sideadd”00)0000000C00 TimeJDOOOOOODOOO+0000O0ODOO
gobbobooooooobogo

gobobouoooobbobooogn

# 000 TimeOOOOOO
def __radd__(self, other):
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return self.__add__(other)
ooooon
>>> print (1337 + start)
10:07:17

00d00bboddd pointU Point D0 OO OO0OO0O0O0OOOOOMO add
gobooboooodn

e JOUODODOOPeintUODOUODUOODOOOODLOODLOOODLDOODLDDO
UxO00O0O0O0OyOOoooooOOOO0O00O peintddoooooggn

e JOU0ODLODOOODLDOODLDOUODLDOUODLDLOUDL xOUDLDOUUODLOO
gbb0bDyOOOOOOO0ODDO Peint O ODOOOOOOO

179 0O0OO

godbdbobobobobobuoomooobobbobobobooon
gbbgbuodgbugbooobobobboboobuogbogboobobo
gbgogoboobobbobodbobbob 1120000000 histogram
gbobobbooooobbboooobobbobooooooboobon

def histogram(s):
d = dict()
for ¢ in s:
if ¢ not in d:
dlc] =1
else:
dlc] += 1

return d

Oo0oooooooooooooooooooooooooooooonooon
goodoobooooboooooooooonoooooooooogoggn
>>> t = [’spam’, ’egg’, ’spam’, ’spam’, ’bacon’, ’spam’]
>>> histogram(t)
{’bacon’: 1, ’egg’: 1, ’spam’: 4}

000000000000 000000000polymorphicOOOOOOO0O
ogooooooooooooooooonoooooD suem00ooooooog

gooobobbbbbooddgooooobobbbbbbuoooooooooo
goooood
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>>> t1 = Time(7, 43)
>>> t2 = Time(7, 41)
>>> t3 = Time(7, 37)

>>> total = sum((tl, t2, t3))
>>> print(total)
23:01:00

goodooooobobbbbbbooooooobbboboodaouoooaad

ggobobooooon
gogoobobobbbbbbbbbbodogoogobbbbbooooooon

gogbobobooooobobbuooooboboboooooobooo

17.10 OO0 OO

gooooobbobbbbbbbbbdooooooboobobooooouoda
gooddggogooooobbobbbbbbbbbooooooooooon
godddddoooooobooobbooobobbbbbboboooooon
goddodgoooooboobbbbbtbdddooooooooooobobo
UobobbooodbobbibUdUhhasattr 0 0oogd1b.70booogoio

gbboogobobbuodobbuodgbbuoobbuoobbuobbodn varsU
gogodogoobbbbbbbddooooooouobboobboouougad
gobboboooobbbooooobobob

>>> p = Point(3, 4)
>>> vars(p)
{’y’: 4, ’x’: 3}

ggbbobuooodgbbbooodoobooobbbouoon

def print_attributes(obj):
for attr in vars(obj):
print(attr, getattr(obj, attr))

print_attributes U0 0 U0OOO0O0O0O0O0O0O0O00OOO0O00OOO0O00OO0O
Uobobobhbooodubbegetattr oo oboooooogg
ggbobuooogn
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17.11 0000000000

00000000 oooooboooobooood
dddooodoooboooobooooooooooboooooooboooooa
000000000 ooooooboooooonooooon
dododooooooooooooooooon

00000000 oooboooobooood
do0oooboooooooooooooooboooooooooooooooao
Jdooddoooooooooooooooooooon

d0o0ooboooooobooooobooooooooboooooooooon
O0000 time_to_intl is_after0 000 add time OO0 OO0 OOGOOO
do0ooooobobooooooobooooooooobobooooooooooa
O0000000Timed O OO0 OO hour, minute, second 0O OOOOONO
0ddooooooooooobo 1 2000000000000 oooooa
00o0doooooooooooooddooooooooooogooooga
isafter000O000O0OOO0OOOO0OO0OOOOOOOOOOOOOOOOO

000dooooooboooooooooooooooooooooooooaa
O00o0o00o0ooboooooooooobooooooboooooooooooboo
00000000 ooooobooooooboooo
d0o0oooooooobooooobooooobooooooooooooooa
Jooodooooooboboooooooobboooooooooooon

O0dooooooooodddooooooooooooooooooooo
00000000000 odooooooooonoooo
000000 oooobooooobooooboooooooooooboooooa
O00D0000000DO000000Oinformation hiding(l 0O 00O

17.12 00

O00000000ODQOOobject-oriented programming languagelll 0000
O00obO0obOoboobooboooboobobobobooooobobooon
O0000O00DbOo0obOooon

O0000000000000O0OD object-oriented programming(1] 00 00
O0o0bOo0obo0obooboobooboobooboobooboo
oo0ooo
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O0000Omethod DO OO0OOOOOODOODOOODOOODOOOOODOODO
gboobobooooobobood

O00Osubjectll OO0 OO0OOO0OOODOODOODOODOM

0000000 positional argument[1] 00000000000 OOOOO0O0O
ooooooogao

O000DO0O0O0ODOoperator overloading(Tl 0000000000 0O0OOOO
+00000000b000bOoobon

00000 type-based dispatchll] D0 OO00OO0O0O0O0OOOO0OOODOOOO
gobobooooobobooooooooon

O00Opolymorphicll DODOO0OODOOOOODODOOOOOOODODO
gobooo

00000 information hiding(l 000000000 0OO0OO0OOOOOOOO
gbobobooooobbbooogbobbbooooobbboooon

17.13 0O0O0OU

U000 17.1 http://thinkpython2.com/code/Time2.py. U O OO OO OOO
O00OTime0O0O0OCOOO0ODOOOOOODODOOOOODOOOOOODDODOO
0000000000000 bO0O00DOO00b0DO0Ob0DbObOO000 int_to_timel
O0000Omein000000CO0ODOOOCOOODOOOOOOODOOODO
0000o000o0o0obpoOoooo

OO0 0O0Ohttp://thinkpython2.com/code/Time2_soln.py

oooo1720000000 PythonODOODOODOODOODOOOOODOODOO
gbobogbobogbobooobodgbbuoobbobiOl KangarooJ OO d
gogooon

1. OO pouch_contents U U UOOOUOOUD __init__000OOO

2. 0000000000000 pouch_contents U 00 put_-in_pouch [
gooo

3. Kangaroo OO 0O0O0OOO0OO00OO0ODODOOOOO0 print(0 00000
goboboooooboD_str__00D00O0O
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OO0000D00000000 KangarooUOOOODOOODOOOkangad rooO O

0000000000000 0D0O0O kanga0OOOO roo0OOOODOOOO
OO0D00000000D0 http://thinkpython2.com/code/BadKangaroo. pyl]

OOo0O0O0DbO00oC0c0bO0o0bOo0DOoO0obOOo0bDoUoDoUobDboOoboOboo

0000000000000 00O0O00DO0o00DODoDOoooooo

00 0O0Ohttp://thinkpython2. com/code/GoodKangaroo. py
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180 UU

0000000000000 D0000000b00b0Db0O0OO inheritanced O
gobobooooobooobobboooobbobooooobobbuoooo
guodubobooobobuoobbbuooooobbuooobobbouooooa
gobbbooooobboodbbuooobbuoobbuoobuoooob
guoooobbobbbbuoooououbboooooooou

O00000000000000 nttp://en.wikipedia.org/wiki/Poker U [
gobbobooobbuoobbbooouobbbooooobobbuoaa
gdd

O000000000D00 http://thinkpython2.com/code/Card.py. O OO
goooooooo

18.1 UOO0OOOOOO

goooboobbobbb4000000 1300000000 5200000040
gbooogdbboogbogbuoobbugbobuoooboobbooogobog
godbbodbotbooobooobobobooooooooooboboooo
gogobobbbooooubbbbbbbbooooooooooooobbn
goboboooooboboogo

gooobobbbbbbbbboooooooobbbouooooooobon
gobobhooooobibbrankU suit 000000000 OOOOOOOO0
gboboodbbodbbuobbuoubbugbbodb - spade’ DUOODOOO
oddd’Queen’ DOOOOODODODODODODOOOOOOOOOOOOOOOO
gboboboooobbbbouoooobbbooogoon

O0000b0b000bboobUOOUOencodel DO OO0O0OOoooooOon
gogbbbbboooooooooooooobooooobbbbbbbn
gboboodgbogbbogobooboooboobbuoobboobbooobn
gboboboooobobbbouoooobbbogob
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Spades =3
Hearts — 2
Diamonds +~ 1
Clubs — 0

gooddoooooobbbbbuodooooobbobbooooooon
gogdgbobobbbobbbbbbuodoooouououuooooooooon

Jdododoooooooooooogogogoood
Jack — 11

Queen +— 12

King +~— 13

0000dbood pythonOOOODDOOOODOODOODODOODODOOODOO —»0OOO
0000000bO0o0b0o0bO0o0b0o0bbOOoDbOOoDbOOoDbOooDDbOoDoo
Oo0o0obOoobooboobobobooobooo

class Card:

"""Represents a standard playing card. """

def __init__(self, suit=0, rank=2):
self.suit = suit
self.rank = rank

gobbbbdUbinit00oooooobbogoobbobooooobobood
ggbobog20000

gboboodbbodbbodbbd carddbogonooonbbooonbn
gogboog

queen_of_diamonds = Card(1l, 12)

18.2 0OUOOOOO

gooobbobbbbbbbobbooooooobbobobboobobbbbbbo
godddoooooobbbobbodgbbobobobooooooooooon
O00O000D0bObDOO0ODOCclass attributesD DO O OO0OOOO

# 000 CardO0 D 0OD0O0OO
suit_names = [’Clubs’, ’Diamonds’, ’Hearts’, ’Spades’]
rank_names = [None, ’Ace’, ’2’, ’3’, ’4’, ’5>, ’6’, ’7’,

»82, 797, ’10’, ’Jack’, ’Queen’, ’King’]
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def __str__(self):

return ’%s of %s’ % (Card.rank_names[self.rank], \

Card.suit_names[self.suit])

suitmames U ranknames 1 0 0 O 00O O0OU0O0OO0OOOOOOOOOOO0O
0od0ooooooooooodoooooooooobooooooooon
O0Orank 0 suit OO0 0000000000 O00OOOODOOOOOOOOOO
0 instance attributes O 0 0O 0O 0O O
Do00dobodooooooboooooooooud__str__0000ooooa
self 0000000000000 000rank0 0000000000000 Cardd
Ddd0oobodbobb0O0dOdOCard.ranknames 1 0 0000000 OOOOOOO
000000000 0000000000000 rankD suitd 00O Osuit_names
Oranknames U0 OO OO0OO0OOOO
O00000OCard.ranknames[self.rank] 00000000000 O0OO0O
OU000000U00dnd self000 rank OO OO Card O rank names U 0 0O 0O O
0o00o0o0oooboooooooooobooooonono
0000000000 0000 ranknmame 1000000 NoneO O OO O OO
O00O0ONeneOOOOOOODOOOOOOOOO 2000020000000
Ooodobodooooooooobooooooooooooooooo
Oodoooodooooooooboooooooooooooooooon
gooooo

>>> cardl = Card(2, 11)
>>> print(cardl)
Jack of Hearts

UOR10Cardd 0000000 odououg cardd ot
gbodbdbdbcarddDUDUODOUOOOOODODODODOD typed OO
cardl 0000000 Crd0 00O UOOOOOON suit_names [0 rank_names
Oooooooooooo

18.3 OOOOOO

gobobDoooobobbboogdd<p==etcgggooboooobon
OO0O0DOO0ODOO0000DbObDo0ob0oobOobDOobObODOn “less than”O OO
Ub_1t__dgdgbobooooobobbooooboboboooobooon
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type list

Card —= suit_names

list

rank_names

Card

cardl —=| suit — 1

rank — 11

0 18.1: 000000040

U000 __1t__000000 selfd otherO U OO OO self U other U OO
000 Tured OO0

oo spuououoooo 2000
Oo00o0do0oooooooouooobooboobooooooooooon
Oo0dododdooooboodoooodoooobooobooooooOon
Oo00o0oooooooooboo0ooooooooooooobooooonoa
godobooodobodoooooooooobooooboDoooooooooo
Ood0oodoooooooooooooooooooboooonooa

gbobobooooobbboooobbob_1t__ggbbboduagan

# U000 Card DO OONO :

def __1t__(self, other):
# 0D00ODODO0O0O0OO0O

if self.suit < other.suit: return True
if self.suit > other.suit: return False

# Jgdoboboooobobboooon

return self.rank < other.rank
goooooooouopoooooogooon

# U000 Card DO OODO :

def __1t__(self, other):
t1l = self.suit, self.rank
t2 = other.suit, other.rank
return tl < t2
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(000000000« 0000o0oOoOoOD0DO0o0oooDoooooo™
Ub0b0odbibOdTime 000000000 _1t__000000OO0OOO0O0
gbobobbooooobobbooobbboooobobobboooaon

18.4 0OOO

goooooboobobobbbbbobobobooobbobbbbobbbbbboobobobn
gooobobbbdoodooooooooooobobboboooooougag
Deck UUUUOODODOUOOInitUUUOODODDO cards DO OOOOODO 520
goboobouooogooo

class Deck:

def __init__(self):
self.cards = []
for suit in range(4):
for rank in range(l, 14):
card = Card(suit, rank)
self.cards.append(card)

gbogoboboobogbogboobobbobooboobuoobonobo
gboobb3buoogoobbugbbbbduo 1o 1Bgoaobooood
oboboooobbbuooodbobbbdddself.cardsddonoog

18,5 UOOOOoOoog

DeckUUUU __str__Joobooooogoon

# 000 DeckDOOODODO
def __str__(self):
res = []
for card in self.cards:
res.append(str(card))
return ’\n’.join(res)

gooobobobobobbbbbbbobobbbioddoooooooooboooo
gboboboddbjeingononoboobbboooubbbOstr00O0O0
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U000 __str__ 0000000 O0O0ODOO0ODODOO0ODODOOODOOCard g
O00D00000 __str__O00000O0OO str(card) DO0OO0O0ODOOO join O

gboobooboobogbuodboobobobbobooboobuoobobo
gogbooood

>>> deck = Dec()
>>> print deck
Ace of Clubs

2 of Clubs

3 of Clubs

10 of Spades
Jack of Spades
Queen of Spades

King of Spades

ggbs2000000000bbbouooobbboooobbobbooan

18.6 UUOOOOOOOOOOOOOO

gooobobobbbbbbbbbddooddooooooooooooon
gogobobuooooobooood
gboboboooobobbbpepbbouoooonbnoOO

# OO0 DeckDODOODODO
def pop_card(self):
return self.cards.pop()

popl 00000 0ODOODOOO0OOOOODOODODODLDODOOOOODODOOD
gobooboooboobooobooobobboobobuooboboooo
goooboobon

godddin append U000

# 000 DeckOOOOODO
def add_card(self, card):
self.cards.append(card)

gogbbobbooooobbobuooobobbuooobbbooobibl veneer U
goodoobboboobooooboodooooobbobbooooooon
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gboboodbboobbuoobbogbboobboobbuoobbuoonooboo
gbobobooooobboobod

bobbobibodddUlrandomd 00000 shuffled 00O OO shuffle
0000 DeckUODODODOOU

# 0O00DeckOOODOOO
def shuffle(self):
random.shuffle(self.cards)

random0 0000000000 DOOODOOODOOO

UO0000b0O0beckUU00DOUOOO0OOO soxrt00U0O0DOUOOOO sortl
obobhooooobbbsortdddobooooobbl Cardllddgd
gb_1t__0dgooboon

18.7 0UU

gbgboboboobogbobbobooboobooboboobooon
goooobobobobobobbbbbbuoddoooobbooobobbbooad
OO00obOO00b00DO000o0o0b0b0b0b0oobUOnD parent class 00O
OO0OO0O00O0O00OOCchild classHO0O0OOOO
goooboobobobbbbbobobooobouoouuoogoooooaaog
gotodoooooooboobbtoodddddodoooooooooo
gboobooogbbobod
goooboobbbbbbobbobobbbbbobooooooooooooo
goooboobbobbbbbobobobbbbooooooooooooobobon
gooooobbobbbbbbobbbdooouooooobobobboobooboobooboon
gobobboooooboboboooooooon
gbogboboboobogbobboboobooboobobboobobad
gobogdbobooobboobboobbuooobbuoobbuoobobooooo

class Hand(Deck):

"""Represents a hand of playing cards."""

OO0O00O0OHandOODOODeckDOODODOOOOOODOODeckODOOOODOOO
pop_card ] add_cardJ Hand U U O OO OO O UOHand U Deck U OO O __init__
oboobooboboboboobooboobooobs2uobuobuoobon
O0000 init0000000D00O0O0O0OO00OO000O0O0O00OO00O00DO0O Hand
O000 init 000000000000 DeckODODOOOOODOODOODODO
ooo
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# D00 HandOOODOOO
def __init__(self, label=’’):

self.cards = []
self.label = label

goboobooboboboobooobd PythonD OO initd0OO0O0noooonog

hand = Hand(’new hand’)

print (hand.cards)

(]

print(hand.label) #O O OO0 labelDOODOOODOOODOO
new hand

goodgbbbbbobbboootbotodudddpopocardl] add cardJ U000 QOU
ERERN

>>> deck = Deck()

>>> card = deck.pop_card()

>>> hand.add_card(card)

>>> print(hand) #UUO Hand OO UOOOOOOOO handOD OO OOOO
King of Spades

UO00000DeckDOUOOUOmove_card U UDOOOOOOOOOOOOODO
gogoo

# 000 Deck DO ODODOO
def move_cards(self, hand, num):
for i in range(num):
hand.add_card(self.pop_card())

move_cards U0 O O0OO0OO0O0O0O0OO0OHandOOOOODODOOOOOOOOOO
O00numO0 0000000000 selfdhand000000000O NoneO OO
ogoooon
Oodoooooboobooooooooooooooooooonoooon
O0000000000 move_cards U OO O 0OOOself d Deck O Hand U O
O00000000hand0 000000000000 deckOODOOO
0dodooobooodooooouooooooooooooooobooon
Oo0doo0oo0ooooooboooobooobooooooooooooonoa
Ooodddooboooooobooooooooooooooouoooooa
Oo00o0dooooodoooodoooooooobooooobooooon
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gboooboboobobodboobooboobobbobooboobod
gogbooobbbbbbobobobobbbbbbbbbooooooobobon
goboooooobobbbbobbbbooooooobobooooooooobooboo
gboboboooobobbbouoooobbboooobbbbooooobobboo

18.8 UO0OOO

gooobbobbbbbbbbobbuooooooooobbbbbbobbobn
goooobobbobbbbbbtbdddddoooooooooooooobooboon
gboobboubobooobbodgbboobbuoobbuoooobooobobo
OO0O0bObooobobOobuobobdbddclass diagramJO0 OO0 Oo4OdOg
gogoobobbobbbbbbobboobboddooooooooooonon
gobobobooogoobooon

gbobbooooobbbouoooobbbooooobooo

e J0D00D0O0O0OUDOODOUDOODODOODDODODODODOODOD
OO00O0O0 Rectangle DO 0O0OOO0OOPoint 00 000O0OOODOOODOO
O00D0000DeckODOOOODODOOODO CxdODODOODODOODOOO
OO0000D00O000D0DOO Rectangle0 OO0 Point000O0ODOOODOO
0000 HAS-AOOOHAS-A relationshipl 0 0 00O

e 1000000 DOODOODOUODUOOODOOODOHandO DeckOOODO
000000000 IS-A00ODOIS-A relationshipd 00 00O

e JOU0ODODOODLDOODLDOUOOLDOODLDUODLDOUOLDODLOO
gboboboooobobobooogon

gbooboodbboodgbbuodbbuoobbobtodoibb 18.20 CardU Deckl] Hand
gboboodgbboobbobboobbd s-Abogobogobooboon

*

Deck Card

Hand

0 182 0000

U Hand O Deck UUUDODODOOOOOOOODOOODODOOOHAS-ADDOOO



248 0 18g o

UbOodboobuodbdbpeckd CarallODOOOOOOOOODOOODOODOO
O0O0D000000«x000000multiplicityD OO000OO0ODO DeckO OO O
U000 cCcard 00000 DOO0ODDODOODDOODLDOODbOODbDOO 52
gboogboooogos.rdooboboobuoooobobobooooboon
00O DeckUUOUOOOODODOOOOOLOODOOOOODLODOOO

guooguobbbbiodoobooooobooboboooooaon
Odependencyl U0 0D OOD0DOODOODDOODODOODODOOOOOOODOOO
ggbobobooooobobobuoooooboo

gboboogoobbbooogbbobdpeckODOO0OODLOOOooOoOO
goodgoooobobobbbbbbooooooooobuodoooooooo
gobooodgd

189 UOOOOO

goooboobobobobbbbobbbdgoogoobobobbbooooonbon
ggbbobuooogbbobooobobuooogbboboooooboo

OO0 HandOOOOODOOOOODOOODOODODOOOODOODODbDOoOooooboOoo
gbuodgboogubbgboobobobboboobooboobogooon
Uboobodbuodbdbdl shuffleD 000000000000 ODOOODeck
gbobobobuoobobobobuobuoboooobobobobobobon
gbobodbooobobodobbuoobboobobobboobboobba
Ubbuodbbdbodbberint00000O0O00O0DOOOD Deck.shuffle
UO000ddddd’rRunning Deck.shuffle’ JUODOOOOOOODODODODODOO
ggbobobobouooogoobooo

gbboggboboobobbogbobboobboooboobooobbooo
gogbbobuoooobboboooobobbobouooan

def find_defining class(obj, meth_name):
for ty in type(obj) .mro():
if meth_name in ty.__dict__:
return ty
oon
>>> hand = Hand()
>>> find_defining class(hand, ’shuffle’)

<class ’Card.Deck’>0000000OOOODODO Ccrdad OO0 O OO
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O00 Hand O shuffle 00000000 Deck DO OO0O0O0O0OOOOODODODO
O000D0000 find defining class 0000000000000 ODOODOO
00000000 mre00O0O0OOOO“MRO”0 “method resolution order”d [J
000

0000000000000 O0ODO000000000000000o0o0o000
000000000 DDoODOOOOO00000000000000oooooDon
0000000000000 000000000000O000O00OO0000O0a0
000000000 DD0ODODOOO0OD0DODOODOOOO0000000000ooDon
O000000O0DeckDO0OOO0O0OODODODODODOOOOOOOOOOOONO
000000000000 HandO PokerHandD OO0 OO0 0000 O0OOOO0DOO0O
0000000000000 000 (Lisker)DOOODODO0OOOOODOOOOOO
000000000000 000ooooood

18.10 OO OOOOO

ooobooobooobobooooboobobooobOobooooobobo
OO000D000D000D0OTimedPointORectangle 00O OO0O0O0ODOOOODODO
ooobobooooobobooooobobobouobobooooooboono
OO0000O0ob0bOOobOoOooOobO0obOoboboooooo

oooboooobooooboooooboboobuobooboboobooooDo
OO0oo00O0obOO0o0O0o0o0oobo0obOoboobOobDobooOobOobooboooooo
oobooobooobooobbooboobooboboobooboooooooboboo
000000000000 000000000data encapsulation] 00000
Ooboobooboooog

13800000000 DO0ODLOOOOUODODODOODODObDODbDOD
http://thinkpython2.com/code/markov.py0 00000 0OO0OOOOOOOO
0000000000000 0O00D0D0O00DOD0O00D000 suffixmapl prefix
OOoooooooon

suffix_map = {}
prefix = ()

gooooobobobbbbbobbouboooooooooooooooooboo
gogobbbbooooouoouuuooooobboobboboobbbbbbibo
gbooggbodbbodgbbodbbodbboomuoobbooboonoo
gogoboobobbbbbobbbbbbbbbbbbbooooooobbo
gbooboooobbbuooooboobd
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class Markov:
def __init__(self):

self.sufix_map = {}
self.prefix = O

gbodbugbboobbobodbbdibUprocesswordJ DU UOOOOOO

def process_word(self, word, order=2):
if len(self.prefix) < order:
self.prefix += (word,)

return

try:
self.suffix_map[self.prefix] .append(word)

except KeyError:
# if there is no entry for this prefix, make one
self.suffix_map[self.prefix] = [word]

self .prefix = shift(self.prefix, word)

gooddoooooobbbbbuodooooobbobbooooooon
gboobuoobuooboobob4. oo
godbdbodobobooobobobobuobuoboooooboobobao

. dogdobbooooobbboooobobbuooooboboboan

2.0000booobooobooboboobooobooobboooboOon
gboobogago

. 0boogoobobuoooobbbbuoooobbboooan
4. 000bO0oobOooboobooboobooboobooobag

O000000Ohttp://thinkpython2. com/code/markov.py0 00 OO0 OON
0000000000000 0bOoobOOoO0bDMarkovdOOOOOOOODDOO
00

00 0O0Ohttp://thinkpython2. com/code/Markov.pyl 0 O OO MO OO
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18.11 0O O

O0O0OOencodel DO OO0OD0OOOODODODOOOOOOOOOODODO
gobobooogoboobod

OOO0O0OOclass attributes[ DO OO0OQOO0OOOCOQOOOOOOOOOO
00000000 O00oo0oobooooooooooouooooao

O00OO0000O0Oinstance attributes OO0 O00O0O0O0OOOOOOOOO

UOO0OOveneerl UUOUO0O0O0O000000O0O0O0O00OO0OOOOODODODOOOO
gboobooogooboobod

OO0 Oinheritancelll DO O0O0OO0OO0OOOOODOOOOODOOOOODOOOO
gooo

OOO0ODOparent classl] OO0 000000000 OOCOOOOOO

OOO00ODOchild classl OO0 O 0OOO0OO0O0OO0OO0OO0ODOOOOODOOOMMO
gobobobooooobooo

IS-A OO OIS A relationship] OO0 0O0OOO0OOO0OO0O0OOOOOOOO

HAS-ADOO OHAS_A O relationshipl] 00000000000 OOOOO
gbobobooooobbboooobbbooooobbbod

OO000OOdependencyl OO0 000000000000 OOOOOOOODOO
goboboogobobobooooooo

O00O0OOclass diagram] OO0 0000000000 0O0OO0OO0OO0OO0OO
gboboboooobbbooodon

0000 multiplicity(l HAS-AOOOOOOOOODOOOOODOOOCOOO
goobbooooobboboooobboboooan

O00D0000O00Odata encapsulationd: 0000000000 0O0O0O0OO0O
O0o0obo0oboobo0obo0obooboobooboooog
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18.12 0OO0OO

gbbuki1gbooodboodgbboobbuoobbuoobboooobogon
gbuwmgobogobogomobooboooboooboobuwggbooooo
gobbobh1200000bbbooggobobuooobuooogobbon
gobboooooobodd

class PingPongParent:

pass

class Ping(PingPongParent) :
def __init__(self, pong):
self.pong = pong

class Pong(PingPongParent):
def __init__(self, pings=None):

if pings is None:

self.pings = []

else:

self.pings = pings

def add_ping(self, ping):
self.pings.append(ping)

pong = Pong()
ping = Ping(pong)
pong.add_ping(ping)

gbbuws2dboggooggboogboooobbooobonobood
gogobobooooobooobooo

pair: 000000 0ODOODOOOOOO
twopair: DO 000000 DOODOOOOODODOO
threeof akind: 00 O00O0OOO0O0O0OOOOOO

straight: 00 0000000000000 OO0OO0OOO0OOOOOOOOOOOO
000 0O Ace-2-3-4-5 0 straight[d 10-Jack-Queen-King-Ace O straight(d O O
O 0 Queen-King-Ace-2-3 0 straight 00 00O O
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flush: 000000 0OO0O0O0OO
full house: DO 0O00OU0OO0O0OOOO0OUOOOOOOOOOODOOOO
fourof akind: OO0 OOOOOOOO

straight flush: O O000000000000OO0O0OOOOOODOOO0OOOOO
gobooo

gubogbooboboboubobooubobobobobbooboboobob

1. 00000000 http://thinkpython2.com/code DO DO OO DOODOON
Card.py UDU OO Cardd DeckUHand U U U OO ODOOOOOOONO
PokerHand.py UD DU U UOOOOOOUOOO0OO0ODOOOOOLODODOOOO
goobooooooo

2. PokerHand.py U O OO OO “r-card”0 000 0OO0OOOOOODOODODOO
OO0 flushOOOOOODODODOOODOOOOoOooOOoooooo

3. PokerHand [l has_pairUhas_twopairU U U0 UOOOOO0OO0OOOOO0OOO
bogboboboobodbuoboil Treed 00 O0OO0OODO False
obhouobogbuoobuoobuoobuoobooboobgsborgo
gbobobooooobid

4. 000000000 0O0O0O0ODOO0O0O0OD cadessify0ooooooono
OO00O00Olabel D0 O0O0OODOOODOODOOODOOO“7-card’d O OO
OfushOOOOOO0OODflush’ OO000O00ODO 1label ODOODOODO

5. 0D classifyl U UUOOOO0ODOUOOOOOODOOOUOOO0OOODOOO
000D bODbDbODDOPokerHand.py DO DO DOOOOUOOOOOODOO
ob0Dbo0o0odbibid classifyd00oogooooooooooo
gbooboooooo

6. J0DOO0O0DbO0oOobOoooooboboOobobouoboobobouoobOooDbooo
0000000000000 0000oooO00ooDoOoooooDUooDO
http://en.wikipedia.org/wiki/Hand_rankings 000 OO0

O00O0O http://thinkpython2.com/code/PokerHandSoln.py.
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U190 OLOobutdobood

OOobo0ooboooooboob PythonOODODOOODOOOOOOOODOOO
gooooobobobbbbbbbtiddoddooooooooooooooboon
gobbbooooobbobbooooobbboooan

goooboobbbbbbbobbooooobbobbboooooooooboboon
OO0O0O0OPythonOOOOOOOODOOOOODOOODOODOOOOOOOODO
gbboodgbboobboobooboobboboobooobooobobo
gogobobbbooobbbobbouogdgogoooooobbbbbbbo
goobooood

19.1 0OO0OO0OOO

gbooggboodgs4bbogobboobbuoobbuoobbuoobboon
gboboboooobbobooon

if x > 0:

y = math.log(x)
else:

y = float(’nan’)

O0000x000000000000000 math.logOOO0OOonooooon
U0 math.logl ValueError U U U U U U UOOOOOOOOOOOOOOOOGYU
OO0 “NaN"OODOOOO0O0O0OO “NotaNumber’OODDOUODDOOODOOO
gooo

O00000000DODODO conditional expressiond D0 000000000
goooobooogon

y = math.log(x) if x > 0 else float(’nan’)

O000D000D000D00O0D0DO “y gets log-x if x is greater than 0; otherwise it
gets NaN”. [J
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guobgboboboobobodobbooobobobodobobobOn factorial
ggbbobooooobbboobobbbo

def factorial(n):
if n ==
return 1
else:

return n * factorial(n-1)
Oo0ooooooo

def factorial(n):
return 1 if n == 0 else n * factorial(n-1)

goon
goobboooobooobboobbboooooubobOogn 17.20 GoodKkangaroo
Uinit00O0OO0O0O0O0ODOOOOoOoOO

def __init__(self, name, contents=None):
self.name = name
if contents == None:
contents = []
self .pouch_contents = contents

goooo

def __init__(self, name, contents=None):
self .name = name
self .pouch_contents = [] if contents == None else contents

goon
gbboodbbodbbreturn000O0O00O0O0O00OOO0O0OOO0O0OOOO
gogbobobboogoobbbuoooobobobooooooboo

19.2 0OO0O0OO

l.7odggooboobbobbbbbodooooooboboobbbbbobbobobo
gbbogbbugbbobbobbuodbudbdl capitalizeODUO OO OO
gogobobbooooooo
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def capitalize_all(t):
res = []
for s in t:
res.append(s.capitalize())
return res

O00000000lList comprehension0 0000000000

def capitalize_all(t):

return [s.capitalize() for s in t]

gogobbbboobooouoououuooooobbboboodooooonn
gooooobbobbobbbbbbbbbbbferddddgoooooogg
gboobooogbbbod
godbdbdgbobdsgbobobobobobobobobobobooon
gooobobbbbbbboobououogooooobbboobbbbbben
gbooodbbogobbodobboobbuoobobuoobobuoobboobooon

def only_upper(t):
res = []
for s in t:
if s.isupperQ):
res.append(s)
return res

gbobobooogn

def only_upper(t):
return [s for s in t if s.isupper()]

gooo

goooboobbobbbbbobfordddogooobbbbiong
goooobbobbbdoooooobobbbbbbbbbooooooooooo
gbobobooogbobbbuoooobouooobboboooobon

gobobooodoobbboooubbbtd erintddoooooon
gogobobobbbbbbbbuodooodooooooooooooobbon
goooboobobbobbbbbdodooogoobobboooooooouooa
gboboboooogooo
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19.3 0O0OO0O0OOO0O0OO

000000000 generator expressions 0 0 000 00000000O0OOMO
ooooooooooo

>>> g = (x**2 for x in range(5))
>>> g
<generator object <genexpr> at 0x7f4c45a786c0>

gbobogbobogboboobuooboobooboboboboobobooobbo
guogbbbbbboooooooooooooboboboboobobobbbobobo
gbobobbodbbodbbobbuobbudibbnextgdbognogn
gogbobobouooogoboooo

>>> next(g)
0
>>> next(g)
1

0000000000 Onextd 0O StopIterationJ 0O OUOOOOOMO for
ggbbobooooobbobuoooobboo

>>> for val in g:
print(val)

4

9

16

gbogobobooobooobbooobbobbuoobbonobd forgd
U0 next00U0gooogoboogoogoooboboooboooboon
StopIterationUJ U OO UOOOU

>>> next(g)
StopIteration

gibddddtdbswmbdnax U000 mnin 000000 0O0OO0O0OOO0O0O0OO
ERERE

>>> sum(x**2 for x in range(5))
30
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19.4 anyl] all

PythonOODOOOODOOOOOOODOOOODOOODOOODOOONO Ture
U000 TwreUUO0O0O0O0O0O00 anyU OO0 oooooooobooooogd
gooo

>>> any([False, False, Truel)
True

gobobooooobbbooooobboboooooobooo

>>> any(letter == ’t’ for letter in ’monty’)
True

gbbobo0dinggobbbobooooobbbuoooobboboabbnosd
gbogobobodobodboobubb ey obgobgoboobogoog
U0 avoids U DO DOOOOOMMI

def avoids(word, forbidden):
return not any(letter in forbidden for letter in word)

O000000000000D00000DO0O “word avoids forbidden if there are
not any forbidden letters in word.”
OO0 any0O0D0OODO0OO0O0ODODOODOO0ODODO anyd Tuwre DODOODOO
O0o0boobobobooboobooooboobooboobooo
PythonODOODOODOODOODOO Q11000000D00DOO0DOODOODOOODO
000 Ture 000 Ture O OO0 OOO0O0O0O0 9300 wses 11000000
O0OoO0oDoooo

19.5 OO0

Bebudbooboboobuogbuoobobboboobogboobon
gboobboobobuodgobuooobooobbooobbooobbartobog
gboogdgbbatgdgbogdgboogboodbbotdaagobd 200
gobobbooooobbobooooobod

def subtract(dl, d2):
res = dict()

for key in di:
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if key not in d2:
res[key] = None

return res

gobbobooodgdbNenedddboooooobobooooobooo

PythonO set U0 000000000 O0OOODOODOOOOOOODOODOOO
gbobuogbbouogobooobogbbogbboobboobbuoobboo
gogododoooooobbbbbodoooobboobbooooooada
gobbbooodobibndifferenceJ U000 OOOOOOOOUO-0000
UodbobDboddd subtract O OO UOOOOOOO

def subtract(dl, d2):
return set(dl) - set(d2)

goddgddgoooobobbobbbodooodooooooooooobn
ggoooo

gbogoboboobuogboobobobodbuoobobboboobuoon
gobobooobbooooobbbouboubbO 107000 has_duplication
goboood

def has_duplicates(t):
d = {}
for x in t:
if x in d:
return True
d[x] = True
return False

gogooobbbobobooboooobooodgooooboboboboooooooo
gogbbbuooodibb TwelODODODODOOOOODOO
gooboooooboboooon

def has_duplicates(t):
return len(set(t)) < len(t)

gogdooooboboboboobbboogoooouooddoooouoooon
goodggobbbobbobbbsbbbbbbbboosbbbbobbbbbo
gobbobuoooobbboooobobobood

gotboubobdobobuoubobdooboboubiobdid use_only
gogoobooobooon
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def uses_only(word, available):
for letter in word:
if letter not in available:
return False

return True

000D wordDDODOOOOOOOOON available HOUOUOOOOUO
gooboboooggoooo

def uses_only(word, available):
return set(word) <= set(available)

gb0O<«<=gobbbboggobbboobuooobbobooooobbon
gboboodbbodbibidwordd U000 available OO OODOOOOOO
U000 Twre OO0

gbobobooodbibaveids O DODOOOOOOODOOO

19.6 O0OOOO

googoobbobbbbbbobbboduooobbbooobobbbbbn
OOOo0oboobobobobobobobobbo0ob0o0bUUmultiset 0 OO
gobobobooooobbbooogobobbooooobbboooon

Counter HUUOUOODOOO collections UL U UDOOODUOOOOOODOOOO
gooobobobibobbboooobobbobbbbbbobbbbbbbbbbn
goobboooooooo

>>> from collections import Counter

>>> count = Counter (’parrot’)

>>> count

Counter({’r’: 2, ’t’: 1, ’0’: 1, ’p’: 1, ’a’: 1})

gogobobobbobbbbbbbddoooooooooooobbobbbbbo
goboboogobbbuooboooobobbooooobobbuoooon

gbobbooudgbuogboboboboobogboboboboobooon
goboonbnon

>>> count[’d’]
0
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Udbb 1060 iscanagram D OO OO0O0OOOO0O0OOODOOOO0O0OO

def is_anagram(wordl, word2):
return Counter(wordl) == Counter (word2)

goodggooooobbbobbuodugooouououuuoouooooooon
ggboobobbooogbbbbooooobobbooogoooo

gbobogobooggboobooooboboobboobboobboobon
gobobobbooooobbobiooodoibil most_ccommon U OODODOOONO
godgddgoogooobbbbbuodooooobbobbooooooon
gobobuooooboo

>>> count = Counter (’parrot’)

>>> for val, freq in count.most_common(3):
print(val, freq)

r 2

pl

al

19.7 UQOO0oogon

0000 collections UL U UODOOODOOOOOOOOOOO0OODOOO0OO
ggbbobbooogobbbuoooubbbboouubbibdd defaultdict
gogboobogg

defaultdict U OO UOO0O0OO0OODOOOO0O0OOOOOOO0OOODOOOO
gobbbobobobbobbbbooodifactoryl 0o oogoog
ggbbobboogooboboooouobbboooobobbuoooon

>>> from collections import defaultdict
>>> d = defaultdict(list)

O0b0000b00000bb00bstOQOU0DbO0000000D000D0 1ist
gt bbbobbbbooooooo
gobooood

>>> t = d[’new key’]
>>> t

(]
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tdooouggoobobooogoobbooobboooobbboooobon
gbobobt0oObuooogbbbooooobboboaoaon

>>> t.append(’new value’)
>>> d

defaultdict(<class ’list’>, {’new key’: [’new value’]})

OO0do0OO0oobO0o0obobOOooooobOobooobOoooUooDboobobDoo
000000000000 000DO00000DO000 1220000 0hnttp://
thinkpython2.com/code/anagram_sets.pyU 0 0O 0O O00O0O0OOOOOOOO
OO00O00DbO0o0C0cO0O0o0obDOo0obOo0DOo0obDOooDOoUoDbOOobDbOoDo
000 opst>’ U000 [’opts’, ’post’, ’pots’, ’spot’, ’stop’, ’tops’]
OOoO0O0oCo0oO0obooOoooDo

def all_anagrams(filename) :
d = {3}
for line in open(filename):
word = line.strip().lower()
t = signature(word)
if t not in d:
d[t] = [word]
else:
d[t] .append(word)
return d

Joodbboddd signatured 0D word U OO OUOUODOOOOOOOOO
gbobobooogbbboooob
UOD0ODO setdefualt DO D OOOOOOOOOOOODOOO 11.200

def all_anagrams(filename):
d = {}
for line in open(filename):
word = line.strip().lower()
t = signature(word)
d.setdefault(t, []).append(word)
return d

gooooobbobbbbbbbdoogoooobbbooooooooooon
gogobbbouotoudugoooooooooooboobobobbbbbbo
gboobooooobobooooon
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defaultdict D0 OO UOO0O0OOOOOOOOOOOO

def all_anagrams(filename):
d = defaultdict(list)
for line in open(filename):
word = line.strip().lower()
t = signature(word)
d[t] .append(word)

return d

0000 18300000hnttp://thinkpython2. com/code/PokerHandSoln. pyl]
00 has_straightflush 0 00 setdefault 00O OO O0OO0O0OO0OOOOOO
O0000D0OO000DbO0000Hand0 O 0O0O0OO0ODOOOOOODDODOOO
0000000000000 0000D00 defaultdictOOOOODOODOO

19.8 UOOOUogon

gooooobbobbobbbbbodooooooobobooboboooooooad
O 1ddpreint0000O0O0O0O0OOOxOyOODODOOOOODODOOOO
gbobogbobogboboooboobbodb initd 0000 strd gy
ggboog

class Point:

def __init__(self, x=0, y=0):
self .x

X

y

self.y

def __str__(self):

return ’(%g, %g)’ % (self.x, self.y)
O0000OoooooooPpythenODODOODODODOOOCOOOOOOOODODODOO

from collections import namedtuple
Point = namedtuple(’Point’, [’x’, ’y’])

gbogbdoobooboboobuooboobobobbooboooboobon
ggbogbbbbobbtuoddbiUnamedtuple 0O ODOUOOO0OODOOOO
ggoooo
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>>> Point

<class ’__main__.Point’>

gooooobboboobbibDDD_dnit__ 00000 __str__00000OO00
gbobobboogobobobooooobobobodod
gbobboooobbbbuoooobbboooobbbooooobobob

>>> p = Point(1, 2)
>>> p
Point (x=1, y=2)

init0 000000000000 0000O00O0000bbOb0o000bOstrd
gobobooooobbboooooboboboooan

gooobbobbpbooonnobbbbbbObObbOouooooooobbn
goo

>>> p.x, p.y
1, 2)

gboboboooobobbbdpuddoobbbuoogogy

>>> plo], pl1]
(1, 2)

>>> X, y=p
>>> X,y
(1, 2)

O0000O0O0Onamed tuple D00 O0O0OO0OO0O0O0OOOOOOOOOOOO
gogobobobobbbbbbbouooooobbooboobbbbbbbo
goooooobobbbbboobobobobbbbbbobbboooooooooboo
gbobobooggobobooo

class Pointier(Point):
# add more methods here

gboboboooobobbboooobbbooouoboboa
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19.9 0O0OO0O0O0OO0O0OO0O0O0O0

12400000000000000000DO0ODLOODDOODOODDO
ERERN

def printall(xargs):
print(args)

goddddgooooobbobobbbdoooobobboboooooooon
gogoo

>>> printall(l, 2.0, ’3’)
(1, 2.0, ’37)

gobbb«xggobbbooooobobuoooobboboaan

>>> printall(l, 2.0, third=’3’)
TypeError: printall() got an unexpected keyword argument ’third’

gobbobooogbbboddx=xbogggoo

def printall(*args, **kwargs):

print(args, kwargs)

goodgoooobobobbbobbuooooooobbbouooooauoaad
ggbobobboogooboooo

>>> printall(l, 2.0, third=’3’)
(1, 2.0) {’third’: 3’}

gobbbooodgbbbbouoooboobbbboood~x==buoaooboo
gogbooobood

>>> d = dict(x=1, y=2)
>>> Point (**d)
Point (x=1, y=2)

goododgogooobbbobbuodooooobbobbouoooooon
gogbbobodxuodooobbobybbooooobobboooooobooo

>>> d = dict(x=1, y=2)
>>> Point(d)
Traceback (most recent call last):
File "<stdin>", line 1, in <module>
TypeError: __new__() missing 1 required positional argument: ’y’
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gogoobobbobbbbbbboodoooobboooobbobbbbbon
gboboboogobobbbooooobbbod

19.10 OO

0000000 conditional expression[l] 00000000000 OOOOO
oooooon

O00000O0list comprehension[] 00000000000 OOOODOOO0O
for0000DO0ODOOO

O000D00O00O0OOgenerator expressions(] 00000000000 OO0O
Jooddt for000D00O0O0O0O0OO

O00O00Omultisett OO0 O00O0O0O0OOODOOOO0O0OODOOOOODODOO
gboboboogoobboood

OO000OD00OOfactory OOO0OO0OOOODOODOODODOOODOODOODOO
gooo

19.11 0OO0O0OO0
00001910000000000000000000000000

def binomial_coeff(n, k):
"""Compute the binomial coefficient "n choose k".

n: number of trials

k: number of successes

returns: int

nmnn

if k == 0:
return 1

if n ==

return O

res = binomial_coeff(n-1, k) + binomial_coeff(n-1, k-1)
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return res

ggbobobbooooobobobuoooobobobodod

gobooboobobbbbbbbodooooobbbbobodgdaoglledggd
godddoooooobbbobbuodgooouoooduooouoooon
gobobuooogn
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O 0OA 000000

gooobobbbbbbbbbobooooooboooooobbbbbbn
gobobooooobobbooooobobobod

e II0ODOODO PythonODODDODDOODDODDODODOODDOODODO
Python OO ODOODOOOOODOODOOOOOOOOOODOOOODODO
gbbodbboobboobiootbtbdetbbgobooobooononog
udduobibbbbibdddsSyntaxError: invalid syntax U000

e 0 0ODODODODODODLODOODLUODODLOUDOODUODODLOD
oooboboboooobooooobobobobobooobooooooon
oooboboboooobobooobobobooobooooobon
gbobobobbobobobooboobobbobuodbobdilmaximum
recursion depth exceeded UJ U U U

e O U0OODOODLDODLDDOODLDOODLDbDOUOODLDObLOUOODLOOO
gobodbobogobboooboobuoobbuobboobboonooboa
gboboggboboggboobbogboobboobuoobbuoonn
gooo

goboboboobobbbbbbbbdoooooobbobbboooooooooo
gooobobobibbibbooooooooogooobobbooooooooo
goobooooobbbooooobobooouooboboooon

Al 0JOOOO

ooooobobooobboooboobooobuooboboobobooboooo
ooooboooboobobooobboobboobbboobbooboo
SyntaxError: invalid sysntax[] Syntaxerror: invalid token[] U U [
ooboooboboooboobboobboooboobooobboooboobog
OoOoobooboboboobdPbpythonO 0000 ooboooboooogon
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gooboboboboboboobobobbbbtbodooooboooooboooououad
gbuogbobuogbbuoobobuoobooooboooboooboobooobn
goooboobobobbbbbbbbtbddoddbodooooooooon
ggbobobooooobbobooooon
gooobobobobbbbbboobobooooooobobobbbbboboobobobn
gogodgbobobbbboooooooobbbbbbbbuouooooooooo
gobogoboooboooboooboobboobbuoobbuoonooboo
gbobboooobbbbouoooobbbooogoboo

1. 000000 PythonOOOOOODOODODOOOOOOODOO
2. 0000 forUwhileif0Odef 00 U0ODOOOOOOOOOOOOOOOOO
. 0bbooooobbboooobobobboooooboboboa

4. 00b0obOoooobOobobobobooboboboboobooon
goodbbodbbooboobbuoobobogbboobbooboba
000dddDb invalid tokenU U O UOOUOOUOO0OO0OOOOOOOO
gobodgbbogobobooobboobbooboboboobbooboba
gboobooogbobobod

. bbb —(Mu[—hbobuobodUPythenODOOOOOODOO
gbobobobbbuooogbbbouooobbobogg

6. DOD0U000==00000=000000000000000

7 0U0b0b00o0b0b0o0oobbOooboobobOdPytheno Do
gboboodbobooboooboooboogbbodobboobogboo
goboboboooobobbooooobobobooooobobooboa

gogbobbbooooobboooobobbuoooon

goboboboobooboooogd

gogooboobbobbbbbbbbtbddgidiuddooooouooo
goodooooobobobbobbbooooooobbbobooaooooaaad
gbobooboboooobobobuobono pythonOOOOoooooooO
godgdodggogooobbobobobbbbbbbboooooooooooon
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retrun count

000000 retrun 00000000 count DO OOOOOOO

oooobobuooooobogd

goooboobbbbbbbbbbduoooooboboboobbobbbodgd
gobobbooooobboboooobobboooooo

e OO UOOOODLODOOODO

eJJ0O0OUDO0ODODLDOODLOUOOODLUODbLUbLOLDDODLOODLOUUODLO
gboboboooobbbooooboboooan

e JUDUDOUOLOOODLODLODLUODbDULDOUDLULObLObDObLObLOUD U

gooobobobbobbbbbbobbodgooobbobbbbbbbbbbobn
gbobogoboooboogobogobobboobooobbuoobboad
gogoboobobbbbbbobbbbbddddooooooooooboboon
goboboooooobobodan

gooobbobbbbbbbbbtbooooooooooooooooobobn
gooobobobbbbobbbbboboboboobbbbbobbobobobbobbbod
goubooobobogooboooogbobooobooobooboobann
oo

obooooooooon

goodboobotodooodooooooooooboboooboobobobooobobn
gooobobobbobbobbbobbotboooooogboobobobbooooooood
gboobooogooo

gogoooobbbbbbbbobbbbbbuodooooobbooaaodg
goooooboobbbbbobbobobobobbbbbbbbbooooooooboo
gboboboooobobobbboooodibbprintdggnooboooonbobon
goooobbbobooooouobobbddddooooooooooooboo
goboooobooboobbbbbbooooooouououuouoooouaod
goobboooobbobooooonbo



278 OO0OA OOOO0OO0OO

e HUUDDOODLUODLDUUODLDDLOUODLDUODLUODLDDLOUOLDDLOOO
gobooo

e HUUOUULDLDOUOOOODLDLDDOOUOOOODLDLDDLODOOLODDLDbDOOODLDDO
goobooooobbboooobbooobbbooooobobo

e HUUOOODLDDOOUOOODLOLDOUUOOUOOLDLDDO

gooooobobobbbbobbobobobbbbbbobooooooooon
goddggoooobobbobbbbbioooooooooooooboboo
gddddgooooobobobobboboobboboobobbbbbbboboboobobn
godddgggoooobobbbbbbbbooodgoooooobbobn
goboboboogoobooo



279

O OB 000000000

0000000000 Allan B. Downey O “Think Complexity” (O’Reilly Media:
201) 00000000000 0DO0O00OO0DO0O00OOOO0O0bODOOOoDOOO
Ooooooooboobobonon

O000D00D0ODOOanalysis of algorithmsO O OO OO0OO0O0O0O0O0OO0OO
OO0Oo00OO00obOooboobOo0oobob0o0o0ooboOoobOob0DOd nttp://en.
wikipedia.org/wiki/Analysis_of_algorithms U 0 0O 0O O [

OoobOoooobooboboboobooooboooobobooooooboDo
OO0000O0obOO0bOobOOobobooobooboobooooooo

0800 0000ooboooooooboob0ooDobobobobobooobog
OOo0bOoO0o0oboOo00oboO0o0obo0oobooobooogoobobboooo
oobmoooo 20000000bo0oboooobooobbooobooooo
Oo0oO0o0o0OObooobooooobo0oboooobooobooooooboOoo
O000000000D0000000D O http://www.youtube. com/watch?v=
k4RRi_ntQc8 01O OO OO

O0000oboOooO0ooooooOo0ooobooobooobooobbooooo
OO0O0DOoooooO0o0oobooo0oobboOog0DOdnttp://en.wikipedia.
org/wiki/Radix_sort U0 OO0 DM

oooboooobooooboooobooobooobooobobooooboobooo
OO00oOoDoOoDbOonoO

e 000 0OOOLODDDOOOUOUOLOUULDLDLDLDOLODOUOOOOOODD
OO0O0000ooooooboooooADOOOOobDObooooBOOOO
Oo00obO0boboooboobobooobo0obobuobouobodlUmachne
modell DO D0OODODOOOODOUOOOODOOOODOOODOODOO

0000000000000 0000000000000000000000O0000000
gboboiooboboooobooboooooobobooooboobobooooooooboon
gobOooboooooOooooooobOoobooooooooooooboooboo0ooobooooog
gbobobooobobobooooooboboboboooooobobooooobobo
goboboobobobobobobobobobobobobobooooooboobobobon
gboooboooboobooboobooboobooboon



280 OO0B 00O0O0D0OO0ODOO

gbobgdgbbooobobooobboobobobbobboobbooboba
goo

e DD OODLDOOUODLDLOUOODLDbDOUODLODLDULODLDLUODLDUOD
gbogoouobboobbuogbbuogobbuoobbuoobboobboo
goggbbodbbodbbooboobboobboobbooboba
gobbodbbuoobbuoobbuodbudbibdid worst casell U0
gobodgboobooobbooobooobboobbooboboooonoo
gbobobobooooobbobbooooobbboooan

e DO OODLDOUODLDLDUODLDbDOUODLDbLUbLULODLDLUODLDUOD
gboboodgboodgbboogbboobbodbboobbuoobbodon
gooobogobooobbooobooobboobboobbooboo
gbobogdgbodbbodbuoobbuoobbuodgbuoobboobboo
gobobbooogobooboooon

gogddggogooobbobbbuduooooobbbbobuoooooon
O0000O0Db0o0000O0n00000ODO0ODOODAORODODOODODOO
O0BORO00000O00O00O0O0OR0000000000AO0OOOOO
goboodgd
gbobobobooooobbboooobboooobboboooon

B.1 0O0O0OO

gobobbooooobbbooobbuooobbobouudnbbboooon
OOo0oO0oO0oOo00DObOAQOODOOOOnOODOOO0OOR+10000O
0000000000000000BOR2O0D0O0O0O00OOOOOO

gboboboooobbbbodnbboooobobbbuoooobboo

000000 (000000 AD (OD00O0O00OBO
0o oood gooo

10 1001 111

100 10 001 10 101

1 000 100 001 1 001 001

10 000 1 000 001 > 10%°

OO0O000Orn=1000000000A00DO0ODOOODOODOODODOODO
oo BOOOoOoOO1o0bOoobOoobobobobOn=100000000000
O000n00000AODODOOOO



B.1l. 00000 281

O00»,00000000000000000 O22000000000000
000000000000 00000DO0D00DO0DO0bOO0bOOODOnnleading
term0 0000000000 OCOOO0O

000000 AOOO0OOO0OO0OO0OO0O 10000000000 00000000 BO
O0000000000000000000000 er?>mO000n00000O

000000000000 OOO0O00000000o0oDOoO0000o0o0000
AOOO0OOOnn+ 1000000 00000000000 n000000O0OO0OO
BOOOOOOOOOO

000000000 DOD0OOO0000000D0DOOOO0000oooDoO
0000000000000 000oooooDooOOoO0000o0oOoooon
OO00OOcrossover point0 00 0000000000000 OOOO0OOOOO
0000000000oo0o0DoOoOoOoOOOO0000000000oooooooon
0000000000000 00D0O000000n

000000000000 OOO0000000000o0OoO0o00o0o0o0000
00000000000 ddddd0fd0d00oooooooooooooo
00000000000 000000O0o00000ooon

O00000OOorder of growthOD: O OO OODOOO0OO0OO0O0OO0OOOOODOOO
0000000000 DO000oobOOo0ooo2ebloondn+1000000000
OO000000000D0-0000000000D00000Big-Oh notation [
O0O0OR) 0000000000000 O0O0nO0000000O0O00ODOOOOODOO
O00lineard 0000

0000»*0000000000 (n)000000D000OOquadraticO
000000000 000d0oooo00oooooboo0ooooooooo

0000000000000 000000000O0O0O0O000000o0ooO0
Oo0o0o0o00oon

goo ud
god
0(1) 00O
O(log,n) | 00000000 00
O(n) ooo (O
O(nlog,n) 0000
O(n?) 000000
O(n?) 0oOoo0ooO
O(c") | 00000000 cO0

goooboobbbbbbbbbtbdddddddoouooooooooboo



282 OO0B 00O0O0D0OO0ODOO

goodgoooooobbobbbooooooboboboboooouoouooad
goddggoooobobbbbbuodgoooobbboobbbbbobobbobo
gogbbboooobbboooobobobooooobobooboa

U000 B OOO-O00O http://en.wikipedia.org/wiki/Big_0_notation
oooooooobobooo

.22+ n?00000000000000000 1000000n® +n2000000
n3 + 1000000n20

2. (n*+n)-(n+1)00000000000000000000000000
00000000000000

3.000 f00000000¢0000O0(9),000000000taf+b0
oooooooooon

4000 f0 £,000(9)00000000O0000f;+ /0000000
oooo

5.000 f,0 0(9)000000 £O0O0KRDOOODOOOOOOOOO fi+f
0o0000o0o0o0oo

6. 000 f,0 O(y)000O000 f£,00(ROODO00O000O0fA:f
OooOoooO00ooooo

goooboobbobbbbbbbbdodoooouobobobbooooooon
gbobubbodgbboobbuoobbuoobbuoobboobboooboon
gbogbooboboboobuogboobooboobobboobooboon
gbobubobuogbogoboooboogbooobboobboobboon

gbogoboboobodboobobboboobobboobooboobda
gbbuogbuogbobuogobuooobooobboomoboboobobood
gbogboooboobobboboobooobobobobboobuoobooobo
gooddgoooooobbobbbuduooooobbbbooooooon
gboggbodbbodobboobbuoobbuoobbuoobbuoobobuooono

B.2 PythonUUOQOQOGOOoQgg

gboogdbobogobbooobboobboobbuooboobobooooboo
gooddggogooobboooobbbbobooboooouooooooon
gogbobbogoobboboooobobooooobobbooooobooon



B.2. PythonOOOOOODOO 283

goooboobbbbbbobobbbotodoooobobbbuoooooooboo
gbobobooooobbboooobbbooooobobon

OO000DOO0bO0obOoooO0 fr000D0O0ODOOODODOODOODODODOO
gboboboooobbbooobbbbouoooobbboooobbobo

total = 0
for a in t:
total += a

000000sum0000000000000000000000000000
000000000000000000000000000000000000
00000000
00000000000000000000000000000000000
000000000000000000000000000000000000
000000000000000O000000000000000000000
000000000000000000000000000000000000
O0MO000000 join00000000000000000000000
00000000000000
00000000000000O0M®) 0000000000 O(®re*)0000
0000000000000000000000000000000000000
0000000000 k00000000000000000000 k000
000 O0(rY)OD0D0000AO000000000000000000000000
0000 O 00000000000 x/AO000000000000 O(n®H)
0000
00000000000000000000000000000000000
0000000 1en000000000000000000 minOnax00000
0000000000000 00000000000000000000000
0000
00000000000000000000000000000000000
000000000000000000000000000000000000
00000000000
0000000000000000000000000000

e JOUODLODOUODLDOUODLDOODLDOODLDUOODLDOOOODLDOD
goboodgboogbbooobboobboobboobbuoobboon
O0000000n000000000O00O0OD0OODO(m)IODODOOOOO
00000000000 o(l)pooo

e JO0UOO0ODLDDODOUOOOOLDDOOOOO



284 OO0B 00O0O0D0OO0ODOO

e J0OOODOOO O(nlogn) 0O OO
gogbobobbooooboboooooboboobboboooon

e copyUU U oooooobbbboououoouuuo
guoodooouoobbobbobbbbbiodooouoobbbobboodgo
EREREN

eupdate IO DOOOOOOOODODODODDODODOOOOOO0OOOOLOOOO
gobooboobooodon

o JUUU keysUvaluesUitems UL OO UOUOUOOOOOOODODOOOONO
U00000000 iterkeysU itervaluesU iteritems DU DU OOON
ObooobooboobbobbferdbbgbbOobbOoDbObOOn
gbhobobobboobooboobooboobbgiterdbggn
gbooboboboobooobobooboboboboobobobon
ooooog

gbobogbobogboboboooboboobooobbooboobooboba
B40OO4OO0OOOOO

O000B200000000000000 http://en.wikipedia.org/wiki/
Sorting_algoritm 0000000000000

l.0ogoboobobuooboobboobboobboobboooboon
gbobboooobbbuooogobbbuooooboboooonbbo

2. 00g0booobooobooooooboobboobboobboo
goobooooooo

. 0bbdodboobboodoobobobbooooobobbuooooboobo
4. 000b00oO0bo0boboobobbobuooboboobooboobaoon
. bbbouoooobobbooobbboooonbiy

6. cUb0Db0ObUObobobOobobouoooooooooooonPythond
gbbbooooobbbuodbOwebbdgoonboooooonoon

7. 000000000000000000000PythonOOOOO O(nlogn)
goboboboogoobooboon



B3. 00booboobDOoon 285

B.3 O000O0OO0OOOOOO

O0O0search0 000000000 0ODOODOOOOOOOOOOOOODOODO
gooobobobbbbbbdddoodooodoooooooobobobbobon
gbobooboooogobooood

goooboobbbbbbobobbbobbbboooobobbbbbobooboobobo
goooobobbobbboooobbobbbbbbbbbbdouooooood
goobooooobbboooobobooouoooboboooon

bOoodbbingboodbodiUfindDcount U000 oogn
goboooboooodon

O00D00D0ODD0ODODODDODDODODOO00000000000o0o0g O(logn)
gogotobbdododoooooooooobbbbbbbodoooooonoon
gooobobobbbbbbbbobbbbbddooooobboooooooo
gooooobbbbbbobobbbbobobbobbbbbboobooooooad
goboooobobooobbbbbbobbbbbboboobbooooooooooo
g 1ooo000C 00O O0oboboboooo2b0000obbobooooobobood
gbobobobooooobbbooobooooobbobogosoeootbbbod
goo

gooobbobbbbbbobobbouoggobbobbbbbbbbbobbn
O000b000boobobo0b0obob0obo0ob0boob0bOd hashtabled OO
gooobobobbbbbbbbbtbodgdoooooooooooooooo
Oo0oboboboobooobobobuobouoobobobuoboo0odPythond O
gboboboooboooobbooogbbbudbbiamuooobbobogg
goboboooooboboooan

B4 00000

gooobboboooooaooooobbbbbbobooobbooaada
gobobooooobobbooooobobooooobobbooooonoon

OOobooobOooooonD pythonOD0 000000 0OOODOOOOOOOODO
OO0 PythonOODOOODOOODOOOOODOO PythonODOODOOOOOODOO
gbgbobudboobobbobboobuodboobboobugboobon
gbobobboooobobobooooobboooboboboooooboboboa

add(k, v O OO kOOOvOOODOODOOPyhton OO OO dOO dlk] = v

get(X)0 kOODOOODOODOODOODLDODOOODOOOOOOPyhtonDODOO 4O
Odk]1 OO0 d.get(k)O
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goooboobobbbbboboobbobobbbobboooooobobbobobobon
ggbbobuoooobobbbuoooobobooodgobobboooaon

class LinearMap:

def __init__(self):
self.items = []

def add(self, k, v):
self.items.append((k, v))

def get(self, k):
for key, val in self.items:
if key == k:
return val

raise KeyError

Uddaddd00ooobooboobooboobooboobooobbon
gbbogbbooobobbuoobobudbibibdgetbddd forggn
gboobobuoooobobodobObKeyError D0 gooooooooon
gooboboobobobobobobobobobuooboboobon

obooobbuooobbooobogbboobooobooboooooo
00000 get0000O0O0ODOOODOOOOOOOOOOOO(ogn)DODODOO
gboogoboobooobobooobuoobbooboobbooboooo
gboooboobuoobuoobuoogobooboobuoobooog

LinearMap U U DO UOO0ODOOO0OODODOODODOOOOLODOODODOOODO
UobobobboooobbobOoOd BetterMap U DD OUOOOOOOOO 10000
LinearMap U U U D UOOODOUOODDOOOON getUUOOU LinearMap U U U
gboboobobuogobboobuodbboobbobbdobbubddiUBetterMap
gooobuoobooboobooon

class BetterMap:

def __init__(self, n=100):
self .maps = []
for i in range(n):
self .maps.append(LinearMap())
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def find_map(self, k):
index = hash(k) % len(self.maps)
return self.maps[index]

def add(self, k, v):
m = self.find_map(k)
m.add(k, v)

def get(self, k):
m = self.find_map (k)
return m.get (k)

U000 __init__0O LinearMap U U OO OD0ODOOODOODODODO
O000 findmeap O OO OOUOO hash OO OOOOOOO PythonOOOOOO
obooooboobooobooboobooobboobbobbuoooboooon
ooobobobooooobobobobobobobooobobobooboboobo
obooobobooboooboboobboobbooboobboobooobo
ooooobobooobooobbobobbooboboobbuoobooobo
DO0O0000000000 LinearMap U DO DO DO M findmap D OO OO OO
O000000D0O0D00O00o0D 1len(self.maps) OO ODOOOOODOODO
obooobooobbooobboooboooboooooobboooboboo
goodgbbobbobbooobuooobbobobooobbooobb™on
obooooboobooobboobbooobboobboobboooboo
OMO00 LinearMap 0 00000000 /1000000000000
LinearMap U U U UOUOOOOOOLODOOOOOOOLOOBetterMap U I OU
U LinearMap 0 1000 000000 OOLinearMap U D DO O OOOODODOOO
O BetterMapU U OO OUOODOOOOODOODOODOOODLODOOOODODLO
obhoobooboobon
OobooobobbobobooobobobobbodbdlLinearMapd 00O
oboboodbbbdgetd 00D O0O0O00OOO LinearMap U DO U
ObOooooboboobbOobbOo0obuo0bOibbO LinearMap U000
oboooboobooooboooboooboon

class HashMap:
def __init__(self):

self .maps = BetterMap(2)
self.num = 0
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def get(self, k):
return self.maps.get (k)

def add(self, k, v):
if self.num == len(self.maps.maps):
self.resize()

self .maps.add(k, v)
self.num += 1

def resize(self):
new_maps = BetterMap(self.num * 2)

for m in self.maps.maps:
for k, v in m.items:
new_maps.add(k, v)

self .maps = new_maps

U HashMap O U OO BetterMap U D DU UODOOOOOON __init__0D0O0OO0DOOO
U000 LinearMap U U D UU0 0 numd 0000000 0OOOOOOOOODOO
UO0dbudbbouddd getd BetterMapU U OO OO OO oonouooog
U000 add000O0OO0OO0OOOO BetterMap U U U UUUMOOUOLinearMap
gboogbodbogboboobodbdoddil LinearMapd 0o og
Uo00odboob100000000resize00000000O00O0OO resize
000000000 LinearMapU OO O OO BetterMap DO OO OO OOOM
BetterMap U U U OO OUOOODUOOOODDLDOODOOOOODOOOOOLOOO
ubobobooUd LinearMap U U U OO MMOOODOOOOOON find-maps
gobobobooodobbboodubiLinearMap U D00 ggoooogg
0000000 LinearMap 0 OO0 OO0 O0ODOOODOO0ODOOODOOODOO
gogbobobbodogobobbooooobboboooooood
ObhOoboooooboobooboob0ooboobOobObresize0 g
gogbbobbbbaaddbdddddodoggooobbobbooooooon
gooobuoobuoobooboobuodboobooboobbibUdDresize
oo biblbaadbb000ooooooobooogg
UO0n00adad000000O0O0ODOOOOO000000000000000 add
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gobobboooobbboooobobobooooobobobooa

gooooobobbbbbbbbbbooooobbboobbbbbbbo
UO0b0bDo00odbobbd200 LinearMap U O ODOUOOO0O 200 add DO OO0
gbobbouooobbbodg1bbbdoduudd addd resize 0 0O0O0
goodoob2000ddbobbbdddoooooooo2000040404ad
gmgbbodbbodbbd adddbbggb 1000bbogbbood
gbobbuoodoedb4bboooobbboooonoon

0000 resize(U00000D0)000000000O0ODOAdd0 500000
goobodgbbogsugoboogl1boobboobbobogbboubood
OobOoboob 8+5+3=14000000

00000 addU resize 830000000 OODOOOODOOONO addd 9
gbobobobooooobbboooobobbluoodoob legooobbobodod
0bggboogd3200dbbudb adddbog 620000 ooonog
gbobboooobbbuooobbbbooodbdnb 20000000000
nU0add0 000000 2n-200000000000 add00O0O0O0 200
gboboogdbbodbbdeb2000000000000O0O0O0O0ODOO0O0ODOO
O00000000000000000000 dd0000 O(1) 0000000

=

% HH\HHHHHH

U B1.000000000 adad0O0OD0OO0

00 B10O0000OO0ODOO0O0O0OODO0O0ODOO0ODODOOOODOOOOODOOOOO
O0000D00D0 «d0000O00OOCO0OO00ODOOOOODOODODDOOODO
000000000000 0oo0oOoOU0ooooooDoDoooooDooDoo
O00dd0O0000O00DOOOODOOODODOOnOO00DOODOOOODO
OOo0oOobDOobOobO 2n—-200000000000000D00OO

Oooo0obooO0oooooOoooobooboobo0oooDpoooobooobOoooo
000000000000 00O00000O0DO0oU0oO0ooDooDoOOoDOoDOO
0000000000000 0D000 «ed00DOOOO0OO0OODDOOOOOOD

O0O0O000O000O0O0O http://thinkpython2.com/code/Map.py U U 0O OO
O0O000DOo0oO0O0O0OPythonO0O0OOOOOODOOOODOOOODODODOO
ooooo
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B.5 0OU

0000000000 analysis of algorithms[( OO0 O0O0OOO0OOOOOOO
OO0oDO0oDOoooooooood

O0000U0Omachine modellll OO UOOO0O0OO0OOOOOOOOODOODOO
gboboobouooogobooood

dbbOb0O0Oworst caselll JUOUOUOUOOOOOOOOODOOOOOOOOO
gbobobooooobbboooood.

OO00O0Oleading term[] DO O0O0OO0OOO0ODOOOO

O0OO00ODOOcrossover point[l] 00000000 0O0O0O0ODOO0OOOO0OOO
Oo0Oo0obOOooboobooo

OO00O0O0OOorder of growth[l DO OO0O0O0O0OO0OOO0OODOOOODOOOO
gobodbboouoobuoobobuooobooobooobooooboo
gboboboooooboon

O0O0D0-0000Big-Oh notation 000000 0OO0OOOOODOOO O(n)
gobobooooobboboooooooon

O00Olnear DO OO0OOO0OOO0O0ODOODOODOOOOO0ODOODOOODOOO
gboboobouooogobooood

O00quadraticlD 000000000 ,0000000000R*00000
goboooboooan

O0Osearchl OO0 0OO0O0OOOOOO0O0OOOOOOODOODOOODOOOOO
gbobobobouoooobbobuoooon

OO000O0OOhashtablel] OO0 000000 0ODOOOO0ODOOOOOOOODOO
goboboboooggbbbuoooobobbouoooobobobogo
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0 O0C Ouoodd
1 Python2 0] [

o000 PythonODOOOOOOOODOOODOOODLOOODOOO

gooobbobbbbbbbooooooobobbobbouooooooboo
gooooobbobbbbobbobbbbbdddouooooooooobooboo
gogouobbbobiboooouoobbbbooooooobbbbibmo
O000000OOnttp://ja.wikipedia.org/wiki/O 00000000 OOO0O
ObhbooobobooooooboboboooobboobobooooboboOoooo JIso
ooooooJistgoobobooooooobbbobboooooooogog
Ohttps://ja.wikipedia.org/wiki/JISO O OO0 MM OOOOOOOO0OOOO
OO0O00o0boO0o0oddboUnicodeDOOOODOOOOOODOOOOCKIJOO
O00b000obobo0o00bbOO0UdUdhnttp://ja.wikipedia.org/wiki/Unicode
Oooobo™obobooooooogooJiIsobooooooJiIscoooogoo
goobooodan

OoobooobooooboooboooboooboooboooJsoog
gobobooooogdgJsgJistevc-Jpddnooooooooooobood
gbbogdgbboodbbodgbbodgburr-s0ugnobogobooobooon

PythonODOOODOODOOOODOOOOODOOODOOODOODODOODOOD
goooboboguobobbobbbbbobobbbbboouououuooooooo
gobobboogsgoboboooan

C.1l 0O00oooooooon

goooboobbobbbbbbobbbbbbdodooobbbbbooooo
Oo0obOoboboooboobobobooobPpythonOOOOooooooooO
gboboboooobbbooodon

gboboogbboogbboogbboogbosbuoobbuoobbbuwbogon
goboooog
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a=’>000°"
au = wQggQg”
print len(a), len(au)

U0 print 00O O0OO0OOOOOODOY93000O0O0O000O0OOOOOO0O0O0OO
gooogobbobbbuooooooobobbbbbbbbbbodgouad
gogdddoooooobbbobbbddgoooobbobbobbooooon
ggbbobooogobooo
goooboobobbbooobbbbobobobobbbobboboobobobobbbobo
goodooooobobobbobbuoooogbbbbobuoduoooooooo
gogbobbooogobobooooobog

a=’>0007

au = unicode(a, ’utf-87’)

Ubdatdbudbodbdett-s00ooboobuogbougooonoo
Uodbbobbddduwicode 00 OOOUOOOOODODOOOOODODOOO
gobbbuoooobbobuooooouooan

>>> a =017
>>> unicode(a,’utf-8’)

Traceback (most recent call last):
File ’<pyshell#1>’, line 1, in <module>
unicode(a,’utf-8’)
UnicodeDecodeError: ’utf8’ codec can’t decode byte 0x82 \
in position 0O: unexpected code byte

gooddoooooobbbbbuodooooobbobbooooooon
gogboobogg

C2 0OO0O0Ooooooon

gooobbbouotuoouuoooogooooobbobobobuooooobn
gogbobobooogoboboboooonobg

#coding: sjis
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gboboggbboogbogboboobbogJssggobuoonobooooobooo
goooobobbobbbbbobobtbouooooogbobbobboooouaod
gooooobbobbbbbbobbbobbboddooooooobboobon
gboboboooobobbbuoobuwwhuoooon

w oo

gboogbbodgbbobbobbuobbuoobbuoobbbobwbbogon
gboboboogoobbbooooboboboooomm
Python OO OODOODOODOOOOOOOOOOODOOO

OOoooooodonD | PythonOOODOODOODOO
goo Jis sjis, shift-jis, shift_jis
JIS is0-2022-jp
EUC-JP euc-jp
UTF-8 utf-8

gobobooodbobbbdooddlbiwicodeJUOOOODOOO

a=’0007

au = unicode(a, ’sjis’)

gboboboooobobbbuoooobbobooouobbboooon
gbobobbooooobbobooooobobobood

a=’0007

au = a.decode(’sjis’)

gbobobbooooobbboooobobbobooooooboobon
goobooobobbbbbbobbbodoooooobooboooouuoda
gbboogdbboodgbbogbuooooobuogooooobobooobooogn
gooooobobobbbbbbbtdddououduddoooooooobooo
gbobobodgurr-s00ugoobobogs

C3 0U0booooooobuooooon

gooobobbbbbbbbbbstugooooooooobbbbbbn
000000000 ibO encode OO
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au = wQggQg”

a = au.encode(’utf-8’)

gobbbbdodidbaanbwtf-80000ODOOO0OOO0O a000000O

C4 0OO0OOOOOODOO

gooooobbbbbbbbbbooooooobboooooouoaaog
ggoobobbooooobooda

#coding: utf-8

d={wD’>:0O0’, vvO0Ooo?»,
wid’:(wood’, wvooag’),
wOD’: (w00, wvO00O0O0Oov),
wid’:(wood’, wvooag’),
wd’:(0O’, wwOOOO0)}

for key, value in d.items():

print key, value

gogbbobuooogbobobogo

(u’\u30aa\u30c4’, u’\u304d\u306e\u3068’)
(u’\u30d8\u30a4’, u’\u3072\u306e\u3048’)
(u’\u30c6\u30ad’, u’\u3072\u306e\u3068’)
(u’\u30b3\u30a6’, u’\u304d\u306e\u3048’)
(u’\u30dc’, u’\u3064\u3061\u306e\u3048’)

OoOoo0ooOod

godddgogooobbbbbuodooooobboooooboobbbn
godddddogoooobbbouogbooooooodooouuoooon
gogdoogoogooobbobbbbbbbbbbbobobbuooooooon
gbobogbboobbooobm™mboobobooobobooobooooboon
gogbbobuoooobbbuoooobboon

for key, (v1,v2) in d.items():
print key, v1, v2

ggobobbooooooo
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g bood
g boog
g bood
g boog
g 0 oodgn

N Y I B |

Ch5 0OO0ooooooon

gboboboooobbbbuoooobbboooobbbdudd abe.txt 0
O0000 sjis0000000O0DO0O0O PythonOOODOOOOODOOODOOO
gbooobog

#coding: utf-8

fout = open(’abc.txt’,’w’)
uword = w oo’
fout.write(uword.encode(’sjis’))
fout.close()

gobobhoogdib sjisdggooboboogoobooboooooon
gbboboooobbbboooobobbboooobbbbooon

#coding: utf-8
fin = open(’abc.txt’,’r’)
for line in fin:
word = line.strip()
print word, len(word)
uword = unicode(word, ’sjis’)
print uword, len(uword)
fin.close()

word SUODUDUOUOOsjisUODuwword DU U UOUOODOOOUOOOOOOO0OO
goobooooooo

gooog 10
goood s

gbbbodd lendgogbboboooobbbbouoooobbbbbod
gobooobooodon

ooobobobobobo 4o00b0ooobobobobooooobobg
gooobod
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#coding: utf-8

import anydbm

import pickle

d={wih’.w0dD’, vO>:w0O0O’>,w0d0’:w00°7,
wO>:wd’, w0O’:w 00’}

db = anydbm.open(’abc.db’,’c’)

for key, value in d.items():
print key, value
skey = pickle.dumps (key)
svalue = pickle.dumps(value)
db[skey] = svalue

db.close()

gbbogbbuogbbugobbuoobbuoobboobboobboonoboo
dumps OO DOO0OO0O0O0OO0DOO string 0000000

gbboodbbodbbdidbdileadsdbboobboobboobbo
goooo

#coding: utf-8
import anydbm
import pickle
db = anydbm.open(’abc.db’)
for skey, svalue in db.items():
key = pickle.loads(skey)
value = pickle.loads(svalue)
print key, len(key), value, len(value)
db.close()

gogbobobouooggoboooo

g 100 2
0100 2
o101
o101
g 100 2
U

gobobbbooooobbobooogobobodgd
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[Doo0O0]
000000000 Python M OO0000000000000200600
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O OD 000000
1 Python3 0 [

OOo00obO0obO0bOobOo0oboobOooobDoboobocboboobooooog
goo

Python3O OO O ODOODOOODOOOODOODOOODOOOODOODOODOODO
DDDDDDDPython3DDDDDD'D]DDDDDD"EDDDDDDDDD”A””D
gooobobobbbbbbbobbbtbodoooooootdstrgooggg
gooobog

>>> a= 0007

>>> print(a,type(a),len(a))
OO0 <class ’str’> 3

>>> pb="OQOQg"

>>> print (b, type(b),len(b))
OO0 <class ’str’> 3

>>> c="""OOO0O00O0O0Oggn

>>> print(c,type(c),len(c))
00000000 <class ’str’> 8

gooboooobbbbooooobbboooan
suuogobbobuooogbobobodovvsgbbbuoooon

>>> d=b’a’
>>> print(d, type(d), len(d))
b’a’ <class ’bytes’> 1

gbobobbooooobbboooobobbobooooooboobon

>>> e=b’ [’
SyntaxError: bytes can only contain ASCII literal characters.

00000 encodel 0 UOOOOOO



300 OO0OD DOOD0O0O0OO0O0Python3OO

>>> e=’ [

>>> f=e.encode(’utf-8’)

>>> print(f, type(f), len(f))
b’\xe3\x81\x82’ <class ’bytes’> 3

Python 3OO O ODOODOODOODOODOODOOOOODO

gbooboobobodbbg obbuoobbuoobbuoobbboanbn
gboogobooobooobobuoobbuoobbuoobboobo

D.1 U0doooooood

gooooobbobbbbbbbbbooooooobooooooooaag
ggboobobbooogoboog

#coding: utf-8

dad={0:c00°, 0007,
g oge, googe),
O oge, goog),
g oge, googe),
OO, 0000}

for key, value in d.items():

print(key, value)

ERERN

g ¢cooe, >goo)
o ¢cgoe, >ogo)
g ¢cooe, >goo)
o ¢cgoe, >ogo)
g ¢coe,>oooo)

gobooboobbooooboobobboooboboobobooodPython200
ggbbobooogboboboooobobbbouoooobobuoooot

D.2 0O00O0OO0O0OOoooo

gobobboooooboboooooboboboan
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#coding: utf-8
fout

word

open(’abc.txt’,’w’,encoding="utf-8’)
»gooooe

fout.write(word)

fout.close()

00000 abe.txt 0000000 0000000O0 encodingJ Uy
gooboogggbboboogoobbbuoooobooudn utt-8 0
gboobooogbbobogn

#coding: utf-8
fin = open(’abc.txt’,’r’,encoding="utf-87)
for line in fin:
word = line.strip()
print (word, len(word))
print (type (word))
fin.close()

goooooboobbbbbbbtdddoddddouoooooooooboboo
gboboogboogbbobooboobbuoobbuoobbuoobboonbn
gobobooogood

gbboboooobbboooobbbogab

oopoogd 5
<class ’str’>

goobobooooobobbooooboboboooan
ooobobobobobo 4o00b0ooobobobobooooobobg
gooboooobooo

#coding: utf-8

import dbm

da={0>0,>0:>00,20:>007,
g2 ge, 2020y

db = dbm.open(’abc2.db’,’c’)
for key, value in d.items():
print(key, value)
db[key] = value
db.close()
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ddddgooooobobobbbbbbbbbbibb abc2.bd DOOOOOO
Python3O OO OODODOODOOOOOOODOODODODODOOOOOOOOOO
gobbbooooobboodbobbuwtt-s0bboooon

gbooogboogbosbubbuoobbudldecode HOUDOODOOMN
ggbobobboogoobobooon

#coding: utf-8
import dbm
db = dbm.open(’abc2.db’)
for bkey, bvalue in db.items():
key = bkey.decode(’utf-8’)
value = bvalue.decode(’utf-87)
print(key, len(key), value, len(value))
db.close()

print 00000000

o101
0100 2
g 100 2
o101
g 100 2

gogbbobooogobbobuoooobbbbdoooaon

D3 0OU0OOoon

gbobobooooobbib__str__0D00O000bObO00o0ooboboooon
goooo

coding: utf-8
class Garden(object):
def __init__(self, plants):
self.plants = plants

def __str__(self):

t = [ object.__str__(self) + *0O0OOO0OOO" ]

for obj in self.plants:
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s =" > + object.__str__(obj)
t.append(s)
return ’\n’.join(t)

mygarden=Garden([’ OO O, 0000, 00000°1)
print (mygarden)

goobbdot__str__ 000 Garden U0 OOOOOOOOOOOO0OOO

print U0 UOO0O00O0O00 mygarden 0O 00 0ODO OO print(mygarden) O OO
OoO0obOooooono

<__main__.Garden object at 0x0000000002F32400> 000U OU
gooe
googe
gooogoe

OOooboobobobobobobobobboboboOodPython2 0000 OQ0O
gbbb0Od0print 0o booooobbbooootn

[0Do00o0)
https://docs.python. jp/3/howto/unicode.html
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gogbbbbooooooooooooobbobbobooooooobobo
gboboboboooogoboboboooobobobbouooooboboobod

OOo0boooboo0oobooobo0ooboooDOodPython3boooog
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